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5 Oracle ¥f@%& ( Oracle FEShRISE)

Oracle

Number

float

binary_floa
t

binary_dou
ble

char
nchar
varchar2
nvarchar2
rowid
urowid
long

clob
nclob
blob

bfile
Long raw
raw

date
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AJLARI R TDSQL PostgreSQLER ( Oracle #%hR ) #9 smallint, integer, bigint,
numeric(p,s) ESHEIEXR, BT smallint, Integer, bigint ERIEZERELL
numeric 5152, FRLABRISEEERMEIINE smallint, integer, bigint, ik
¥eRY A 4EI%RE numeric(p,s)

float ( CPR#ZER double precision 8% real =i )

binary_float ( SEFRIZEE real 7#(i& )

binary_double ( SEfF#%E8 double precision 7=fi# )

char
char
varchar2
nvarchar2
rowid
urowid
long

clob
nclob
blob

bfile
Long raw
raw

date
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timestamp Timestamp

Interval interval
5 MySQL MRz

MySQL

int

smallint

bigint

int AUTO_INCREMENT
smallint AUTO_INCREMENT
bigint AUTO_INCREMENT
bit

tinyint

float

double

decimal

char

varchar

text

date

time

datetime

longblob

Longtext

ENUMCREATE TABLE
TYPE022(COL1
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BEXZXEBCREATE TYPE mood AS ENUM
('S','M','L',"XL",'XXL",’XXXL');CREATE TABLE
TYPE022(COL1 mood ,COL2 INT PRIMARY KEY)
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ENUM('S','M",'L',"XL","XXL','XXXL')
,COL2 INT PRIMARY KEY);
SET#RCREATE TABLE
TYPE023(COL1 SET(A",'B', 'C','D')
,COL2 INT PRIMARY KEY)

5 SQL Server XRE

SQL Server
smallint
int

bigint
tinyint
real

float
numeric
bit

char
nchar
varchar
nvarchar
text

ntext
date

time
datetime
datetime2

smalldatetime
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CREATE TABLE TYPE023(COL1 VARCHAR
check(regexp_split_to_array(col1,',') <@
array['A',B','C",'D']) ,COL2 INT PRIMARY KEY);
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datetimeoffset
timestamp
uniqueidentifier
image

binary

varbinary

5 informix 3R

informix
smallint
integer
float
smallfloat
DECIMAL
MONEY
char
varchar
Ivarchar
text

date
datetime
interval

BYTE
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B R R MEMLES DDL B4
R

mIEE#AYE: 2022-09-02 15:36:24

SIEREIRRE

FHEBE—MIERE, YRE—NERAPNERBISAI CREATEDB 151X, BAMERT, MBEFESEI=ER
ERRHIRE template1 #eIE . ATLIEZS TEMPLATE name f8E—1"FEER $550ith, BE5
TEMPLATE template0 & LASIEZ— N FRVEIERE, ©I8R8E/ TDSQL PostgreSQLAR FRFE X AR
EXUR,

o RS oIREIRE

I
[}

4
o p

postgres=

CREATE DATABASE

o fRTESERERE

postgres=
CREATE DATABASE

o REMEE

postgres=
CREATE ROLE
postgres=
CREATE DATABASE
postgres=
List of databases

Name | Owner | Encoding | Collate | Ctype | Access privileges | Size |

Tablespace | Description

tdsgl_pg_db_owner | pgxz | UTF8 | en_US.utf8 | en_US.utf8 | | 18 MB |
pg_default |
(1 row)
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CREATE DATABASE
postgres=
List of databases
Name | Owner | Encoding | Collate | Ctype | Access privileges | Size |
Tablespace | Description

tdsql_pg_db_encoding | dbadmin | UTF8 | en_US.utf8 | en_US.utf8 | | 18 MB |
pg_default |
(1 row)

© 588
TDSQL PostgreSQLAR ( Oracle 35k ) .

postgres=

CREATE DATABASE
postgres=
List of databases
Name | Owner | Encoding | Collate | Ctype | Access privileges | Size |
Tablespace | Description

db_gbk | dbadmin | GBK | zh_CN.gbk |zh CN.gbk | | 19 MB | pg_default |
postgres | dbadmin | UTF8 | zh CN.utf8 | zh_CN.utf8 | | 26 MB | pg_default |
default administrative connection database
templateO | dbadmin | UTF8 | zh_CN.utf8 | zh_CN.utf8 | =c/dbadmin  +| 19 MB |
pg_default | unmodifiable empty database

| | | | | dbadmin=CTc/dbadmin | | |
templatel | dbadmin | UTF8 | zh_CN.utf8 | zh_CN.utf8 | =c/dbadmin  +| 24 MB |
pg_default | default template for new databases

| | | | | dbadmin=CTc/dbadmin | |
(4 rows)

o {RTEHERFRI

postgres=
CREATE DATABASE
postgres=
List of databases
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Name | Owner | Encoding | Collate | Ctype | Access privileges | Size |
Tablespace | Description

tdsqgl_pg_db_Ic_collate | dbadmin | UTF8 | C | en_US.utf8 | | 18 MB |
pg_default |
(1 row)

postgres=
CREATE DATABASE
postgres=
List of databases
Name | Owner | Encoding | Collate | Ctype | Access privileges | Size |
Tablespace | Description

tdsqgl_pg_db_Ic_ctype | dbadmin | UTF8 | en_US.utf8 | C | | 18 MB |
pg_default |
(1 row)

postgres=# create database tdsql pg db allow connections
ALLOW_CONNECTIONS true;
CREATE DATABASE
postgres=# select datallowconn from pg_database where
datname='tdsql_pg_db_allow_connections';

datallowconn

postgres=# create database tdsql pg db connlimit CONNECTION LIMIT 100;
CREATE DATABASE
postgres=# select datconnlimit from pg_database where
datname='tdsqgl_pg_db_connlimit’;

datconnlimit
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- EEESIEETLIBEH

postgres=# create database tdsql_pg_db_istemplate is_template true;
CREATE DATABASE
postgres=# select datistemplate from pg database where
datname='tdsql_pg_db_istemplate’;

datistemplate

o BB Y—ERE

postgres=# create database tdsql pg db _mul owner pgxz CONNECTION LIMIT 50
template template0 encoding 'utf8' Ic_collate 'C';
CREATE DATABASE

o ENBIREER

postgres=# alter database tdsqgl pg db rename to tdsql pg db new;ALTER
DATABASE

o (ENUERSY

postgres=# alter database tdsql_pg_db_new connection limit 50;ALTER DATABASE

o ENBIRERAE

postgres=# alter database tdsql_pg_db_new owner to tdsqgl_pg;ALTER DATABASE

- REBIERAETST

postgres=# alter database tdsql pg db new set search_path to

public,pg_catalog,pg_oracle; ALTER DATABASE

WRIFRE: BRRITE (bR ) ARSEEAE 5614 254,
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« Alter database FZFFHITHE

InE &ix

encoding ‘mis

Ic_collate HEFRL Y

Ic_ctype SEEFINY
R Bk T irE e

postgres=# drop database tdsql pg _db _new;DROP DATABASE

MBS EIERERTY , WNRIZEUEFEELEHE session &EZ LR, NSRTMTER:

postgres=# drop database tdsql_pg_db_template;ERROR: database
“tdsql_pg db template" is being accessed by other usersDETAIL: There is 1 other
session using the database.

(ERTESERILIE session EiFF, AREBHIER:

postgres=# select pg_terminate_backend(pid) from pg_stat_activity where

datname='"tdsql_pg_db_template'; pg_terminate_backend
row)postgres=# drop database tdsql pg db _template;DROP DATABASE
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B EE

mIEE#AYE: 2022-09-02 16:23:03

EXERLE—1BF=E, Oracle B—#gARF, SQL Server FMYiESR, MySQL FINEEE, EXEEE
BF. HEEE. RBLURERES, MRESFTUSEEMENPEENNRES, HREMEXPRITRETLL
EA"ERE HRE",

SIS
- IREEED

postgres=

CREATE SCHEMA

o ¥FREEE, FEERTeE

postgres=

NOTICE: schema "tdsql pg" already exists, skipping
CREATE SCHEMA

postgres=

- {BEFRRAR

postgres=
CREATE SCHEMA
postgres=

List of schemas
Name | Owner
____________ e

tdsql_pg_pgxz | pgxz
(1 row)

o ENENE

postgres=

ALTER SCHEMA

o ENFREE
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postgres=
ALTER SCHEMA

postgres=
DROP SCHEMA

SIEXPEFENRE, WSHPRER, RBFRNT.

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.

CREATE TABLE

postgres=

ERROR: cannot drop schema tdsqgl_pg_pgxz because other objects depend on it
DETAIL: table tdsqgl pg pgxz.t depends on schema tdsql_pg pgxz

HINT: Use DROP ... CASCADE to drop the dependent objects too.

SEITIEHMIR .

postgres=
NOTICE: drop cascades to table tdsql pg pgxz.t
DROP SCHEMA

B A FbhiaEzUR

BBARPYTFEMEX THMRIBER T IHRNRER R, BABEERN.

[tbase@VM_0 37 centos root]$ psql -U dbadmin
psql (PostgreSQL 10.0 tdsqgl_pg V2)
Type "help" for help.

postgres=
NOTICE: Replica identity is needed for shard table, please to this table through

"alter table" command.
CREATE TABLE

ER AP LLGE tdsgl_pg.t &,
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postgres=
GRANT
postgres=

pgxz AR&E%.

[tbase@VM 0 37 centos root]$ psql -U pgxz
psql (PostgreSQL 10.0 tdsqgl_pg V2)
Type "help" for help.

EigENEPALMER tdsql_pg &80, E2FLiEiAi.

postgres=> select * from tdsql _pg.t;
ERROR: permission denied for schema tdsql_pg
LINE 1: select * from tdsql_pg.t;

PaN

postgres== \q

%5 schema 8%,

[tbase@VM_0 37 centos root]$ psql -U dbadmin
psql (PostgreSQL 10.0 tdsqgl_pg V2)

Type "help" for help.

postgres=

GRANT
postgres=

pgxz ARBXILEIZE.

[tbase@VM_0_37 centos root]$ psql -U pgxz
psql (PostgreSQL 10.0 tdsqgl_pg V2)
Type "help" for help.

postgres==> select * from tdsql_pg.t;

\____
(O rows)

postgres==>
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ECE LSRR

TDSQL PostgreSQLiR H—ME1TEEN search_path, HEAEXRIER, BFEEHRDEETRAIR
K> MR
SHENEEAR .

postgres=
current_user

postgres=

List of schemas

Name | Owner
______________ o

public | dbadmin
tdsgl_pg | dbadmin
tdsql_pg schema | dbadmin
(3 rows)

HRRRAAEN "Suser”, public, Erh "$user" HLEIHAFE, BILEEH current_user (B
“tdsqgl_pg” -

postgres=
search_path

"Suser", public
(1 row)

FEEEAERIEER, WiZREFRTE—MEREXTE.

postgres=
NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.
CREATE TABLE
postgres=
List of relations
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Schema | Name | Type | Owner
———————— e
tdsql pg |t | table | dbadmin
(1 row)

BERUTFEMERT, FRABEXTRETUER.

postgres=

NOTICE: Replica identity is needed for shard table, please
“alter table" command.

CREATE TABLE

postgres=

List of relations

Schema | Name | Type | Owner

———————— e S R

public | t | table | dbadmin

(1 row)

postgres=

NOTICE: Replica identity is needed for shard table, please
"alter table" command.

CREATE TABLE

postgres=

IRAFERRBENRE, FESREEZ.

postgres=
ERROR: relation "t1" does not exist
LINE 1: select * from t1;

PaN

postgres=

TDSQL PostgreSQLKR

to this table through

to this table through

IaiERERER tdsql_pg_schema igBEEE search_path #&RiER=EH,

WRIFRE: BRRITE (bR ) ARSEEAE
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SUEFNMIPREIER

RIEEFATE: 2024-01-2217:42:31

AHB1EE shard key B&A X

FI8%E shard key & 5%, ZRFKINMEBAE—NFERIEHFER shard key.

postgres=
CREATE TABLE
postgres=

Table "public.t_first_col_share"
Column | Type | Modifiers | Storage | Stats target | Description

| integer | not null default nextval('t first col share id seq'::regclass) | plain |
|
nickname | text | | extended | |
Has OIDs: no
Distribute By SHARD(id)
Location Nodes: ALL DATANODES

S RIEREREN
o SHBREEE—IFR,

o MRTERE, WiEFERESME,

o MRERREESFRAS, WEEFREEFESHFRMS B
o BALUBE SFERIHEM— 1R FERFMSD R

o RBEERRAILUER UUID RS hiE.

o BZ—EBILHIER NS IS BB

8% shard key B&AF=R

postgres=

CREATE TABLE
postgres=
Table "public.t_appoint_col"

Column | Type | Modifiers | Storage | Stats target | Description

| integer | not null default nextval('t_appoint col id seq'::regclass) | plain |
nickname | text | | extended | |
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Has OIDs: no
Distribute By SHARD(nickname)
Location Nodes: ALL DATANODES

SIEBE D X®R

postgres=

CREATE TABLE
postgres=
INSERT 0O 4

SIEMEEES RE

postgres=

(f1 bigint, f2 timestamp ,f3 bigint)

partition by range (f2) begin (timestamp without zone '2017-09-01 0:0:0")
step (interval 'l month')

partitions (12) distribute by shard(fl)

CREATE TABLE

postgres=
Table "public.t_time_range"

Column | Type | Modifiers | Storage | Stats target | Description
-------- T S
fl1 | bigint | | plain | |

f2 | timestamp without zone | | plain |

f3 | bigint | | plain | |
Has OIDs: no
Distribute By SHARD(f1)

Location Nodes: ALL DATANODES

Partition By: RANGE(f2)

\# Of Partitions: 12

Start With: 2017-09-01

Interval Of Partition: 1 MONTH

EEosRE
range P R*

SEES RFRES REBIEXEER, FRSRHECEZERAEES. BERULURIERTIR, HEHHE
EXNRETEEIHTHX . HIEENT:
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o fIBRESK

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.
CREATE TABLE

o BYBIMFE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.

CREATE TABLE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.

CREATE TABLE

postgres=

postgres=
Table "tdsql_pg.t native range"

Column | Type | Collation | Nullable | Default | Storage | Stats target |
Description
-------- T L It (LT R
fl1 | bigint | | | | plain | |
f2 | timestamp without zone | | | now() | plain |
f3 | integer | | | | plain | |
Partition key: RANGE (f2)
Partitions: t native_range 201709 FOR VALUES FROM ('2017-09-01 00:00:00') TO
(‘2017-10-01 00:00:00),

t native_range_201710 FOR VALUES FROM ('2017-10-01 00:00:00') TO ('2017-
11-01 00:00:00")
Distribute By: SHARD(f1)
Location Nodes: ALL DATANODES

» BIE default S X
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@ i%Aa:
TDSQL PostgreSQL iR ( Oracle &k ) 25,

FelZ default BX, BN BEBERLE,

postgres=

ERROR: node:dn001, backend pid:19011,

nodename:dn001,backend pid:19011,message:no partition of relation

"t _native_range" found for row

DETAIL: Partition key of the failing row contains (f2) = (2016-09-01 00:00:00).

Bl default 3 XFEEIERBASIE

postgres=

CREATE TABLE
postgres=
INSERT O 1

list pXF*E

B ERRRERTIR
o BIEESK

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.
CREATE TABLE

o BURIMFR, FUEN THR M1 “bw”

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.

CREATE TABLE

postgres=
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NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.
CREATE TABLE

postgres=

Table "tdsqgl_pg.t_native_list"
Column | Type | Collation | Nullable | Default | Storage | Stats target |
Description

| bigint | | not null | nextval('t native list f1 seq'::regclass) | plain

f2 | text | | | | extended | |
f3 | integer | | | | plain | |
f4 | b | plain | |
Partition key: LIST (f2)
Partitions: t_list bj FOR VALUES IN ('itZ"),

t_list_gd FOR VALUES IN ('T"%")
Distribute By: SHARD(f1)
Location Nodes: ALL DATANODES

postgres=

+ GBI default X

© %8
TDSQL PostgreSQL iR ( Oracle &k ) 25,

%8 default SRBERTELE, BASHE,

postgres=

ERROR: node:dn001, backend pid:31664,

nodename:dn001,backend pid:31664,message:no partition of relation "t native_list"
found for row

DETAIL: Partition key of the failing row contains (f2) = (k).

postgres=
CREATE TABLE

BUBERBEEEERA -
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postgres=
INSERT O 1
postgres=

SRPRR
flEER

postgres=
NOTICE: Replica identity is needed for shard table, please to this table through

"alter table" command.
CREATE TABLE

ol fE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through

"alter table" command.
CREATE TABLE

ellfE S S

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.
CREATE TABLE

WRIFRE: BRRITE (bR ) ARSEEAE 5826 #254;




TDSQL PostgreSQLKR

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.
CREATE TABLE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through

"alter table" command.
CREATE TABLE

TDSQL PostgreSQL IRZIFFEIRIN2ED KRR, KRFFEHFER.
BEZORFHATTSE T2,

ShH®

SHIRZERE DN B R#FE—(ERAEIE .

postgres=
CREATE TABLE
postgres=
INSERT 0 2

postgres=
|
e Srmmrereerr
1 | tdsql _pg
2 | pgxz
(2 rows)
postgres=
|
ceeod berereers
1 | tdsql _pg
2 | pgxz
(2 rows)
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AILABRIFE T REbRE T — 0 tERIAEE

&M IF NOT EXISTS
# IF NOT EXISTS X2F{eRETE A I,

postgres=

CREATE TABLE

postgres=

ERROR: relation "t" already exists
postgres=

NOTICE: relation "t" already exists, skipping
CREATE TABLE

postgres=

RERN QIR

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

ERRENSREIBNIER

BlEtE

postgres=
NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.
CREATE TABLE
postgres=
INSERT O 1
postgres=
NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.
INSERT O 1
postgres=
|
S
1 | tdsql_pg
(1 row)

85 t RIIREH
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postgres=
Table "tdsqgl_pg.t"
Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- s L A
| integer | | | | plain | |
| text | | | | extended |
Distribute By: SHARD(mc)
Location Nodes: ALL DATANODES

BE t_as RIIFREH

postgres=
Table "tdsql _pg.t as"
Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- L e el Et e
| integer | | | | plain | |
| text | | | | extended |
Distribute By: SHARD(id)
Location Nodes: ALL DATANODES

postgres=

R EER

PR SR FRIEHER

postgres=
DROP TABLE

MFRFEAMER TEIEE.

postgres=
DROP TABLE

MEFEER, FEERTRT, FiRiE.

postgres=
NOTICE: table "t" does not exist, skipping
DROP TABLE

{£F CASCADE ZTFM4MIFFEER -
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postgres=

CREATE VIEW

postgres=

ERROR: cannot drop table tdsgl _pg schema.tl because other objects depend on it
DETAIL: view tdsql_pg_schema.tl _view depends on table tdsgl_pg_schema.tl
HINT: Use DROP ... CASCADE to drop the dependent objects too.

postgres=

NOTICE: drop cascades to view tdsql _pg schema.tl view
DROP TABLE

postgres=

BMDREFE

postgres=
Table "public.tl_pt"

Column | Type | Collation | Nullable | Default | Storage | Stats target |
Description
-------- s B e EEE R
fl | integer | | not null | | plain | |

f2 | timestamp without zone | | not null | | plain

f3 | character varying(20) | | | | extended | |
Indexes:

"tl pt pkey" PRIMARY KEY, btree (f1)
Distribute By: SHARD(f1)
Location Nodes: dn01
Partition By: RANGE(f2)

Start With: 2019-01-01
Interval Of Partition: 1 MONTH

postgres=

ALTER TABLE
postgres=
Table "public.tl_pt"
Column | Type | Collation | Nullable | Default | Storage | Stats target |
Description
-------- s e e EEE R
fl | integer | not null | | plain | |
f2 | timestamp without zone | | not null | | plain |
f3 | character varying(20) | | | | extended | |
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Indexes:

"tl pt pkey" PRIMARY KEY, btree (f1)
Distribute By: SHARD(f1)
Location Nodes: dn01

Partition By: RANGE(f2)

Start With: 2019-01-01
Interval Of Partition: 1 MONTH
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e FEE ] E 32

IEEFATE: 2023-07-20 10:49:01

postgres=
CREATE INDEX

ollf e e A

postgres=

CREATE INDEX
iE shard key FEEAseEIE—RE],

postgres=

ERROR: Unique index of partitioned table must contain the hash/modulo distribution
column.

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.

CREATE TABLE

postgres=

CREATE INDEX

postgres=
INSERT 0 10000
postgres=

ANALYZE

postgres=
QUERY PLAN
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Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Seq Scan on t_upper (cost=0.00..135.58 rows=25 width=37)
Filter: (upper(mc) = 'c4ca4238a0b923820dcc509a6f75849b'::text)
(4 rows)

postgres=
CREATE INDEX
postgres=

QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Bitmap Heap Scan on t upper (cost=2.48..32.43 rows=25 width=37)
Recheck Cond: (upper(mc) = 'c4ca4238a0b923820dcc509a6f75849b"::text)
-> Bitmap Index Scan on t_upper_mc (cost=0.00..2.47 rows=25 width=0)
Index Cond: (upper(mc) = 'c4cad4238a0b923820dcc509a6f75849b"::text)
(6 rows)

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.
CREATE TABLE
postgres=

CREATE INDEX
postgres=

INSERT 0 1000000
postgres=

INSERT 0 100
postgres=

ANALYZE

postgres=

postgres=
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Index Scan using t_sex_sex idx on t_sex (cost=0.42..5.81 rows=67 width=8)
Index Cond: (sex = ''::text)
(4 rows)
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R FRHEMEIABIERTER

postgres=
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Seqg Scanont sex (cost=0.00..9977.58 rows=500539 width=8)
Filter: (sex = 'B8"::text)
(4 rows)

&# DN PRE5R5 | HAAZEX, mMARESBES.

[tbase@VM _0 37 centos shell]$ psql -p 11010
psql (PostgreSQL 10.0 tdsqgl_pg V2)
Type "help" for help.

postgres=

List of relations
Schema | Name |Type | Owner | Table | Size | Allocated Size | Description
-------- e L S e S S
tdsqgl_pg | t_sex_sex_idx | index | dbadmin | t sex | 14 MB | 14 MB |
tdsqgl_pg | t upper mc | index | dbadmin | t upper | 14 MB | 14 MB |
(2 rows)

postgres=

[tbase@VM _0 37 centos shell]$ psql
psql (PostgreSQL 10.0 tdsqgl_pg V2)
Type "help" for help.

postgres=
DROP INDEX
postgres=
CREATE INDEX
postgres=
ANALYZE
postgres=
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
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Node/s: dn001, dn002
-> Index Scan using t_sex_sex_idx on t_sex (cost=0.14..6.69 rows=33 width=8)
(3 rows)

postgres=
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Seq Scanont sex (cost=0.00..9977.58 rows=500573 width=8)
Filter: (sex = 'B8"::text)
(4 rows)

postgres=

[tbase@VM 0 37 centos shell]$ psqgl -p 11010
psql (PostgreSQL 10.0 tdsqgl_pg V2)

Type "help" for help.

postgres=

List of relations
Schema | Name |Type | Owner | Table | Size | Allocated Size | Description
-------- B S et S S
tdsqgl_pg | t_sex_sex idx | index | dbadmin | t sex | 16 kB | 16 kB |
tdsqgl_pg | t_upper_mc | index | dbadmin | t_upper | 14 MB | 14 MB
(2 rows)

postgres=

gist &5|

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

CREATE INDEX

gin &3]

o pg_trgm 35|

postgres=
DROP INDEX
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Time: 55.954 ms
postgres=
CREATE INDEX

» jsonb 5|

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.

CREATE TABLE

postgres=

CREATE INDEX

postgres=# create table t array(id int, mc text[]);

NOTICE: Replica identity is needed for shard table, please add to this table
through "alter table" command.

CREATE TABLE

postgres=# insert into t_array select t,('{'||md5(t::text)||'}')::text[] from
generate_series(1,1000000) as t;

INSERT 0 1000000

postgres=# analyze;

ANALYZE

postgres=# \timing

Timing is on.

postgres=# explain select * from t_array where mc @> ('{'||md5('1")||'}")::text[];
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)

Node/s: dn001, dn002
-> Gather (cost=1000.00..12060.25 rows=2503 width=61)

Workers Planned: 2
-> Parallel Seq Scan on t_array (cost=0.00..10809.95 rows=1043 width=61)

Filter: (mc @> ('{c4cad238a0b923820dcc509a6f75849b}"::cstring)::text[])

(6 rows)

Time: 4.105 ms
postgres=# select * from t_array where mc @> ('{'||md5('1")[|'}")::text[];
id |
~=codbomerecmereomermereerereemerme s
1| {c4cad238a0b923820dcc509a6f75849b}

(1 row)
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Time: 494.371 ms

postgres=# create index t_array_mc_idx on t_array using gin(mc);

CREATE INDEX

Time: 8195.387 ms (00:08.195)

postgres=# explain select * from t_array where mc @> ('{'||md5('1")||'}')::text[];
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002

-> Bitmap Heap Scan on t_array (cost=29.40..3172.64 rows=2503 width=61)
Recheck Cond: (mc @>
('{c4cad4238a0b923820dcc509a6f75849b} "::cstring)::text[])
-> Bitmap Index Scan on t_array_mc_idx (cost=0.00..28.78 rows=2503
width=0)
Index Cond: (mc @>
(‘{c4cad4238a0b923820dcc509a6f75849b} ::cstring)::text[])
(6 rows)

Time: 1.716 ms

postgres=# select * from t_array where mc @> ('{'||md5('1")||'}")::text[];
id |

N

1| {c4cad238a0b923820dcc509a6f75849b}

(1 row)

Time: 2.980 ms

« Btree_gin {EF&=ER&Ks5|

postgres=# create table gin_mul(fl int, f2 int, f3 timestamp, f4 text, f5 numeric, f6
text);

NOTICE: Replica identity is needed for shard table, please add to this table
through "alter table" command.

CREATE TABLE

postgres=#

postgres=# insert into gin_mul select random()*5000, random()*6000, now()+
((30000-60000*random())||' sec')::interval , md5(random()::text),
round((random()*100000)::numeric,2), md5(random()::text) from
generate_series(1,1000000);

INSERT 0 1000000

postgres=# create extension btree gin;
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CREATE EXTENSION

postgres=# create index gin_mul_gin_idx on gin_mul using gin(f1,f2,f3,f4,f5,f6);
CREATE INDEX

- BFRER

postgres=# explain select * from gin_mul where f1=10;
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn002
-> Bitmap Heap Scan on gin_mul (cost=11.51..369.70 rows=194 width=90)
Recheck Cond: (f1 = 10)
-> Bitmap Index Scan on gin_mul_gin_idx (cost=0.00..11.46 rows=194
width=0)
Index Cond: (f1 = 10)
(GRS

postgres=#

postgres=# explain select * from gin_mul where f3='2019-02-18 23:01:01";
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Bitmap Heap Scan on gin_mul (cost=10.01..12.02 rows=1 width=90)
Recheck Cond: (f3 = '2019-02-18 23:01:01"::timestamp without time zone)
-> Bitmap Index Scan on gin_mul_gin_idx (cost=0.00..10.01 rows=1 width=0)
Index Cond: (f3 = '2019-02-18 23:01:01"::timestamp without time zone)
(6 rows)

postgres=# explain select * from gin_mul where
f4='2364d9969c8b66402c9b7d17a6d5b7d3";
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Bitmap Heap Scan on gin_mul (cost=10.01..12.02 rows=1 width=90)
Recheck Cond: (f4 = '2364d9969c8b66402c9b7d17a6d5b7d3"::text)
-> Bitmap Index Scan on gin_mul_gin_idx (cost=0.00..10.01 rows=1 width=0)
Index Cond: (f4 = '2364d9969c8b66402c9b7d17a6d5b7d3"::text)
(6 rows)

postgres=# explain select * from gin_mul where f5=85375.30;
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Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Bitmap Heap Scan on gin_mul (cost=10.01..12.02 rows=1 width=90)
Recheck Cond: (f5 = 85375.30)
-> Bitmap Index Scan on gin_mul_gin_idx (cost=0.00..10.01 rows=1 width=0)
Index Cond: (f5 = 85375.30)
(6 rows)

postgres=# explain select * from gin_mul where f1=2 and f3='2019-02-18
16:59:52.872523";
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001
-> Bitmap Heap Scan on gin_mul (cost=18.00..20.02 rows=1 width=90)
Recheck Cond: ((f1 = 2) AND (f3 = '2019-02-18 16:59:52.872523"::timestamp
without time zone))
-> Bitmap Index Scan on gin_mul_gin_idx (cost=0.00..18.00 rows=1 width=0)

Index Cond: ((f1 = 2) AND (f3 = '2019-02-18 16:59:52.872523"::timestamp
without time zone))
(6 rows)

postgres=# explain select * from gin_mul where f1=2 and f3='2019-02-18
16:59:52.872523" and f6="'fa627dc16c2bd026150afa0453a0991d’;
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001
-> Bitmap Heap Scan on gin_mul (cost=26.00..28.02 rows=1 width=90)
Recheck Cond: ((f1 = 2) AND (f3 = '2019-02-18 16:59:52.872523"::timestamp
without time zone) AND (fé = 'fa627dc16c2bd026150afa0453a0991d"::text))
-> Bitmap Index Scan on gin_mul_gin_idx (cost=0.00..26.00 rows=1 width=0)
Index Cond: ((f1 = 2) AND (f3 = '2019-02-18 16:59:52.872523"::timestamp
without time zone) AND (f6 = 'fa627dc16c2bd026150afa0453a0991d'::text))
(6 rows)

postgres=#
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postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

Time: 308.109 ms

postgres=

CREATE INDEX

Time: 108.734 ms

ZFREREESRN
o or BilFH bitmap scan RS2 N FRFEEHE

postgres=# insert into t_mul_idx select t,t,t,t from generate_series(1,1000000) as
t

INSERT 0 1000000

postgres=# analyze ;

ANALYZE

postgres=# explain select * from t mul_idx where f1=1 or f2=2 ;
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Bitmap Heap Scan on t mul_idx (cost=7617.08..7621.07 rows=2 width=16)
Recheck Cond: ((f1 = 1) OR (f2 = 2))
-> BitmapOr (cost=7617.08..7617.08 rows=2 width=0)
-> Bitmap Index Scan on t_ mul_idx_idx (cost=0.00..2.43 rows=1 width=0)
Index Cond: (f1 = 1)
-> Bitmap Index Scan on t_mul_idx_idx (cost=0.00..7614.65 rows=1
width=0)
Index Cond: (f2 = 2)
(9 rows)

Time: 3.655 ms
postgres=# explain select * from t_mul_idx where f1=1 or f2=2 or f1=3 ;

QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)

Node/s: dn001, dn002
-> Bitmap Heap Scan on t_ mul_idx (cost=7619.51..7625.49 rows=3 width=16)
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Recheck Cond: ((f1 = 1) OR (f2 = 2) OR (f1 = 3))
-> BitmapOr (cost=7619.51..7619.51 rows=3 width=0)
-> Bitmap Index Scan on t_mul_idx_idx (cost=0.00..2.43 rows=1 width=0)
Index Cond: (f1 = 1)
-> Bitmap Index Scan on t mul_idx_idx (cost=0.00..7614.65 rows=1
width=0)
Index Cond: (f2 = 2)

-> Bitmap Index Scan on t_ mul_idx_idx (cost=0.00..2.43 rows=1 width=0)
Index Cond: (f1 = 3)
(11 rows)

Time: 3.429 ms

postgres=# explain select * from t mul_idx where f1=1 or f2=2 or f3=3 ;
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001, dn002
-> Seq Scan ont mul_idx (cost=0.00..12979.87 rows=3 width=16)
Filter: ((f1 = 1) OR (f2 = 2) OR (f3 = 3))
(4 rows)

Time: 1.679 ms

o MRREFEREIPAERSIXMEF, WIRAFEFHRS, 10 FHESED,

postgres=# explain select f1,f2,f3 from t_mul_idx where f1=1 ;
QUERY PLAN

Remote Fast Query Execution (cost=0.00..0.00 rows=0 width=0)
Node/s: dn001
-> Index Only Scan using t_ mul_idx_idx on t mul_idx (cost=0.42..4.44 rows=1
width=12)
Index Cond: (f1 = 1)
(4 rows)

Time: 1.564 ms

o ETEEELL R FREREINHELT
E22

postgres=# insert into t_simple_idx select t,t,t,t from generate_series(1,1000000)
as t;
INSERT 0 1000000
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Time: 7143.754 ms (00:07.144)

BFE

postgres=# insert into t_mul_idx select t,t,t,t from generate_series(1,1000000) as
t;

INSERT 0 1000000

Time: 4034.208 ms (00:04.034)

o SFRRS|IEFF—FREDIIHEEILRIINPFERE,
EFR

postgres=# select * from t_mul_idx where f1=1;
fl|f2|f3]|f4

el st SEEEE

1]1]1]1

(1 row)

Time: 1.769 ms

postgres=# select * from t_ mul_idx where f2=1;
fl|f2|f3|f4

ety ;EEREE (LR R

111 1|1

(1 row)

Time: 25.423 ms

postgres=# select * from t_mul_idx where f3=1;
fl|f2|f3]|f4

S

11|11

(1 row)

Time: 27.791 ms

JHIIFER

postgres=# select * from t_simple_idx where f1=1;
fl|f2|f3|f4

s S S

111]1]1

(1 row)

Time: 1.530 ms
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postgres=# select * from t_simple_idx where f2=1;
fl|f2|f3|f4

s L SR

111]1]1

(1 row)

Time: 2.315 ms
postgres=# select * from t_simple_idx where f3=1;
fl|f2|f3]|f4

Time: 2.390 ms

RS

postgres=

DROP INDEX
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ES e 1

SIFEHENED: 2022-09-02 16:25:35
ERE

postgres=
ALTER TABLE

BRUFRIFINER

postgres=
COMMENT
postgres=
List of relations
Schema| Name | Type | Owner | Size | Description
-------- T T e
public | t appoint_col |table | pgxz | 16 kB |
public | t_first_col _share | table | pgxz | 16 kB |
public | tdsql_pg | table | pgxz | 24 kB | TDSQL PostgreSQLA X ZREIEER R
(3 rows)
postgres=
COMMENT
postgres=
Table "public.tdsgl_pg"
Column | Type | Modifiers | Storage | Stats target | Description
---------- e e
| integer | not null default nextval('t id seq'::regclass) | plain | |
nickname | text | | extended | | TDSQL PGhRIEIRZBASR
Has OIDs: no
Distribute By SHARD(id)
Location Nodes: ALL DATANODES

postgres=

BRIANFER

postgres=
ALTER TABLE
postgres=
Table "public.tdsqgl_pg"
Column | Type | Modifiers | Storage | Stats target | Description
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| integer | not null default nextval('t id seq'::regclass) | plain | |
nickname | text | | extended | | TDSQL PGIRIBFREAZR
age | integer | | plain | |
Has OIDs: no
Distribute By SHARD(id)
Location Nodes: ALL DATANODES

postgres=
ALTER TABLE
postgres=
Table "public.tdsql_pg"
Column | Type Modifiers | Storage | Stats target | Description

| integer | not null default nextval('t id seq'::regclass) | plain | |
nickname | text | | extended | | TDSQL PGlRIBFRZARSR
age | double precision | | plain | |
Has OIDs: no
Distribute By SHARD(id)
Location Nodes: ALL DATANODES

postgres=

B ERRNAE

postgres=
ALTER TABLE
postgres=
Table "public.tdsql_pg"
Column | Type Modifiers | Storage | Stats target | Description

| integer | not null default nextval('t id seq'::regclass) | plain | |
nickname | text | | extended | | TDSQL PGIRIBFRZAR
age | double precision | default 0.0 | plain | |
Has OIDs: no
Distribute By SHARD(id)
Location Nodes: ALL DATANODES
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postgres=
ALTER TABLE
postgres=
Table "public.tdsgl_pg"
Column | Type | Modifiers | Storage | Stats target | Description
---------- e A
| integer | not null default nextval('t id seq'::regclass) | plain | |
nickname | text | | extended | | TDSQL PGhRIEFREBASR
Has OIDs: no
Distribute By SHARD(id)
Location Nodes: ALL DATANODES

postgres=
ALTER TABLE
postgres=
Table "tdsql _pg.t"

Column | Type | Collation | Nullable | Default | Storage | Stats target | Description

-------- s L
| integer | | not null | | plain | |
| text | | | | extended |

Indexes:

"t id_pkey" PRIMARY KEY, btree (id)
Distribute By: SHARD(id)
Location Nodes: ALL DATANODES

postgres=
ALTER TABLE
postgres=
Table "tdsql_pg.t"
Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- L e el Ee
| integer | | not null | | plain | |
| text | | | | extended |
Distribute By: SHARD(id)
Location Nodes: ALL DATANODES
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MBERHXFER, WHFRESEZEIN L cascade, EHIBIFRREXAIFRER,

EETE

postgres=

Table "public.t"
Column | Type | Collation | Nullable | Default
-------- s L

| integer | | not null |

|text | | |
Indexes:
"t pkey" PRIMARY KEY, btree (id)

postgres=
CREATE INDEX
postgres=
postgres=
Table "public.t"
Column | Type | Collation | Nullable | Default
-------- e L
| integer | | not null |
|text | [ |
Indexes:
"t pkey" PRIMARY KEY, btree (id)
"t id temp idx" UNIQUE, btree (id)

postgres=
postgres=

NOTICE: ALTER TABLE / ADD CONSTRAINT USING INDEX will
"t_id_temp_idx" to "t_pkey"
ALTER TABLE
postgres=
postgres=

Table "public.t"
Column | Type | Collation | Nullable | Default
———————— e st SEEEE R R

| integer | | not null |

text | [ |

Indexes:
"t pkey" PRIMARY KEY, btree (id)

postgres=
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create table t_p(fl int not null,f2 int ,primary key(f1));
create table t f(fl int not null,f2 int );
postgres=

ALTER TABLE
postgres=
Table "public.t_f"

Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- R L T T
fl | integer | | not null | | plain | |

f2 | integer | | | | plain | |
Foreign-key constraints:

"t f f1 fkey" FOREIGN KEY (f1) REFERENCES t_p(f1)
Distribute By: SHARD(f1)
Location Nodes: ALL DATANODES

SMRR{sE FEIBREY

o SMERRA—IPRRYOREHR, MUMEFERIIMNERFREFHDERNS M, SNBTHESHTE
RANPRRSSHEREY .

o SRFRMEASRRBFZIFIME, RS RKEUTARENMIEXHES, TEIR,

ERSE

postgres=
ALTER TABLE
postgres=

fErRRmE

postgres=

List of relations
Schema | Name | Type | Owner
-------- B S
tdsgl pg |t | table | dbadmin
(1 row)

postgres=
ALTER TABLE
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postgres=
List of relations
Schema | Name | Type | Owner
-------- s ISR R
public | t | table | dbadmin
(1 row)

E=RmmAR

postgres=

List of relations
Schema | Name | Type | Owner
-------- e TR
public | tdsql_pg | table | dbadmin
(1 row)

postgres=
ALTER TABLE

postgres=

List of relations
Schema | Name | Type | Owner
-------- et (TR
public | tdsql _pg | table | pgxz
(1 row)

postgres=
Table "public.tdsqgl_pg"
Column | Type | Collation | Nullable | Default | Storage | Stats target |
Description
-------- L A et (PR
| integer | | not null | | plain |
city | character varying(50) | | | | extended |
Distribute By: SHARD(id)
Location Nodes: dn01

postgres=
ALTER TABLE

postgres=
Table "public.tdsgl_pg"
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Column | Type | Collation | Nullable | Default | Storage | Stats target |

Description

---------- e e a
| integer | not null | | plain | |

cityname | character varying(50) | | | extended |
Distribute By: SHARD(id)
Location Nodes: dn01
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SUEFNMIFRALE

IEEFAE: 2022-09-02 16:31:22

SUERE

postgres=
CREATE VIEW
postgres=

f2 | f3 | f4
e +----- +----
1]|2017-09-27 23:17:39.674318 | 1 |
212017-09-27 23:17:39.674318 | 50 |
212017-09-27 23:17:39.674318 | 110 |
1]12017-09-27 23:39:45.841093 | 151 |
312017-09-27 23:17:39.674318 | 100 |
(5 rows)

HIREREEN -

postgres=
CREATE VIEW
postgres=

2
crmod bemommeommeee
1|2017-09-27
2| 2017-09-27
2|2017-09-27
1|2017-09-27
312017-09-27
(5 rows)

HIEXBEEN, UREHEIE.

postgres=
CREATE VIEW
postgres=

fl | mydate
____+ ____________
1|2017-09-27
2|2017-09-27
2| 2017-09-27
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1]12017-09-27
3|12017-09-27
(5 rows)

TDSQL PostgreSQLKR ZHAES| R FERRZKE, FZ0,

postgres=
View "tdsqgl_pg.t_view"
Column | Type | Collation | Nullable | Default | Storage | Description
-------- s L s e R
| integer | | | | plain |
| text | | | | extended |

View definition:

SELECT t.id,

t.mc

FROM t;

postgres=
ALTER TABLE
Time: 62.875 ms
postgres=
ALTER TABLE
Time: 22.081 ms
postgres=
View "tdsqgl_pg.t_view"

Column | Type | Collation | Nullable | Default | Storage | Description

-------- e L S
| integer | | | | plain |
| text | | | | extended |

View definition:

SELECT t_new.id,

t_ new.mc_new AS

FROM t_new;

postgres=
DROP TABLE

postgres=
CREATE TABLE
postgres=
CREATE VIEW
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postgres=
CREATE VIEW
postgres=
CREATE VIEW

postgres=
DROP VIEW

{£F cascade RHIMIFRMRIIRIR o

postgres=

ERROR: cannot drop view t_view because other objects depend on it
DETAIL: view t_view_1 depends on view t_view

HINT: Use DROP ... CASCADE to drop the dependent objects too.
postgres=

NOTICE: drop cascades to view t_view_1

DROP VIEW

YRS GER
IR

postgres=

SELECT 5

postgres=

2
____+ ____________
1|2017-09-27
2 |2017-09-27
2 |2017-09-27
1|2017-09-27
312017-09-27
(5 rows)

postgres=
INSERT O 1
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postgres=

f2 | f3 | f4
e +----- +----
1]12017-09-27 23:17:39.674318 | 1 |
212017-09-27 23:17:39.674318 | 50 |
512017-09-27 23:50:51.576173 | 10 |
212017-09-27 23:17:39.674318 | 110 |
1|2017-09-27 23:39:45.841093 | 151 |
3|12017-09-27 23:17:39.674318 | 100 |
(6 rows)

postgres=

2
comod bemoomommmes
1]2017-09-27
2|2017-09-27
2|2017-09-27
1]12017-09-27
312017-09-27
(5 rows)

postgres=
REFRESH MATERIALIZED VIEW
postgres=

2
ceredberrrerereres
1]2017-09-27
2|2017-09-27
5|2017-09-27
2| 2017-09-27
1|2017-09-27
3|2017-09-27
(6 rows)

A EX
MURELIEFIEE CN T2 LE, 81 CN HRsF—31HERNEIE.
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truncate 12{E

IEEFATE: 2023-04-18 10:37:35

truncate INEEEF I EEIBHITHRIESE, truncate BF ddl &3, &£ truncate £ilL ACCESS
EXCLUSIVE &5%3a9%H,

truncate i

{#EFiE%: truncate table xx yy zz ; BAGHIFINTRR:

postgres=

TRUNCATE TABLE

ta]LA—I% truncate SNEIEER.

postgres=
TRUNCATE TABLE
postgres=

truncate X%

o truncate —M AP XZE.

{EMAiE;%: truncate xx partition for(x) , B{&FIFUTERD::
o truncate — 1 "BiEISXFE

postgres=
Table "pgxz.t time_range"

Column | Type | Modifiers | Storage | Stats target | Description
-------- e T s H e

| bigint | plain | |
f2 | timestamp without zone | | plain
f3 | character varying(20) | | extended |
Has OIDs: no

Distribute By SHARD(f1)
Location Nodes: dn001, dn002
Partition By: RANGE(f2)

Start With: 2017-09-01
Interval Of Partition: 1 MONTH

postgres=
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112017-09-01 00:00:00 | tdsql_pg
212017-10-01 00:00:00 | pgxz
(2 rows)

postgres=

TRUNCATE TABLE
postgres=
2
memodbeosemesceesmeesmmens N R
21 2017-10-01 00:00:00 | pgxz
(1 row)

postgres=

o truncate —MEFESXE.

postgres=
Table "pgxz.t range"

Column | Type | Modifiers | Storage | Stats target | Description
-------- T S T e
fl1 | integer |

f2 | timestamp without zone | default now() | plain |

f3 | integer | | plain | |
Has OIDs: no
Distribute By SHARD(f1)

Location Nodes: dn01, dn02
Partition By: RANGE(f3)

Start With: 1
Interval Of Partition: 50

postgres=

____+ ____________________________ + _____
1|2017-12-22 11:47:39.153234 | 1
212017-12-22 11:47:39.153234 | 50
22017-12-22 11:47:39.153234 | 110
312017-12-22 11:47:39.153234 | 100
(4 rows)

postgres=
TRUNCATE TABLE
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postgres=

S — + -

212017-12-22 11:47:39.153234 | 110
312017-12-22 11:47:39.153234 | 100
(2 rows)
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SUZFNMERIM 2

SIFEHENED: 2023-06-05 18:24:41
s

postgres=

create table t_f(f1 int not null,f2 int );NOTICE: Replica identity is needed for shard
table, please to this table through "alter table" command.

CREATE TABLE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

ALTER TABLE
postgres=

IMBRRRA—IM U RROREUR, FASMEFERIMNERFRETHERNSHE, BVUHTFEESHTAE
P RASSEEREW.

ERSE

postgres=
Table "public.t_f"

Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- s S T A R

fl | integer | | not null | | plain | |

f2 | integer | | | | plain | |
Foreign-key constraints:

"t f f1 fkey" FOREIGN KEY (f1) REFERENCES t _p(f1)
Distribute By: SHARD(f1)
Location Nodes: ALL DATANODES

postgres=
ALTER TABLE
postgres=
Table "public.t_f"
Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- e D S
fl | integer | | not null | | plain | |
f2 | integer | | | | plain | |
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Distribute By: SHARD(f1)

Location Nodes: ALL DATANODES
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peley 4V A i
BENMESZEE
RITEHATE: 2022-09-02 16:40:04

Ein— 82558

postgres=

CREATE TYPE

HiEREAS SR

postgres=
CREATE TABLE
postgres=
INSERT O 1

postgres=

——— e

1| tdsql_pg
(1 row)
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DML iEj
SELECT i&;

IEEHAYE: 2023-05-29 18:23:16

BRI

postgres=

3eb6c0c8f8355f0b0f0cad7a8f0f7491

BUEHERF
o HR—SUHE

postgres=
INSERT O 1
postgres=

INSERT O 1
postgres=
| nickname
~crodberererererererererere e
1| hello tdsql_pg
1 | tdsql_pgS3 ot EERFRIAHER T
2 | tdsql_pgi¥F
(3 rows)

o BE—FIHEF

postgres=

| nickname
errodbenrremmrrermreereeemsereeoee
1 | hello tdsql pg
1 | tdsql_pgs3 et EEEREUR T
2 | tdsql_pgi¥F
(3 rows)

o 12 ID AEHIFE, Bk nickname EFHER
]
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postgres=
| nickname
____+ _____________________________
1 | tdsql_pg#3 oV EEERIRH U T
1 | hello tdsqgl_pg
2 | tdsql_pgi¥F
(3 rows)

BRE5 LESED—H,

postgres=

| nickname
erodbemcrerrerrrrer e ere e
1 | tdsql_pgs3 ot EEREREUR T
1| hello tdsql_pg
2 | tdsql_pgh¥
(3 rows)

postgres=

| nickname
somodbooromeorossrsomomosmoosmosTes
1 | tdsql_po#3 7Rt EimEERR R T
2 | tdsql_pg¥f
1 | hello tdsql pg
(3 rows)

o VHEHIR

postgres=
| nickname
____+ _____________________________
2 | tdsql_pghf
1 | tdsql_pgs3 oz EiEERIRH SR T
1| hello tdsql_pg
(3 rows)

HEFtBREAF &,
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postgres=

nickname
SR .
1| hello tdsql_pg
2 | tdsql_pgh¥
1 | tdsql_pgs3 et EERFRYRIUK T

(3 rows)
o null (BHIFERLE

postgres=
INSERT O 1

null {HiCRAHERAIE

postgres=
| nickname
—=modbomerecmorsemosrorcemommemsess
4 |
1| hello tdsql_pg
1 | tdsql_pgs3 ozt &R ERIRH R T
2 | tdsql_pgi¥F
(4 rows)

null BicRHERE

postgres=
| nickname
S D N
1 | hello tdsqgl pg
1 | tdsql_pgs3 et EERFRYRIE T
2 | tdsql_pg¥f
4 |
(4 rows)

postgres=

myname
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NRAINGEIE, MIFNFAI UTF-8 wiBE{THEIR, FRHSHFEANERSIIER,
O f#H convert RESCIN AR EHTHEF

postgres=

myname

O {#H convert_to REECMINFRHSHITHEIFE

postgres=

myname

O EIEEHFMN collact REMNFHEHEHITHEF

postgres=

myname

where F{4{EH
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postgres=
| nickname
____+ _____________________________
1| hello tdsql_pg
1 | tdsql_pgf ot EERFRIAHER T

postgres=

| nickname
S| R
1 | hello tdsqgl_pg
(1 row)

postgres=

| nickname
____+ _____________
1| hello tdsql_pg
2 | tdsql_pgi¥F
(2 rows)

o ilike FRBXNETE

postgres=
NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.
CREATE TABLE
postgres=
INSERT O 2
postgres=
|
____+ _______
1 | tdsql_pg
2 | tdsql_pg
(2 rows)

« where &#4theESZISFEIf)
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postgres=

| nickname

postgres=

nickname
~crodberererererererererere e
1| hello tdsql_pg
1 | tdsql_pgs et EEREREUR T

(2 rows)

o null BEEf5Z

postgres=
| nickname

postgres=
| nickname
~crodberererererererererere e
1| hello tdsql_pg
2 | tdsql_pgi¥F
1 | tdsql_pgs3 ozt aiEERIRHER T

(3 rows)

- exists REFICREEIMAHE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.

CREATE TABLE

postgres=
INSERT O 2

postgres=

NOTICE: Replica identity is needed for shard table, please to this table
through "alter table" command.
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CREATE TABLE

postgres=
INSERT O 2

postgres=

S E—

1 | tdsql_pg
(1 row)

« exists HMBix

postgres=

S E—

1 | tdsql_pg
(1 row)

AAME—FFE, BE—FiCR.

postgres=

| nickname
comod bemmmmesmmems
1| hello tdsql_pg
(1 row)

{EF offset IEEMBILFEFE, O0RFE—FFH, BRENFKICR,

postgres=
| nickname
comodbesoomemmmess

1 | hello tdsql _pg
(1 row)

MEIFFIE, BEIZHKICR.
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1 | tdsql_pgB &R EERIRIAR T

(1 row)

LEEDRBERRNF, BROSRATT, (/A order by AILBAE— 1M EFIER.

postgres=

| nickname
comodbemommemmmes
2 | tdsql_pgh¥
(1 row)

aSHSIEaAGR

o FEEEERICR.

postgres=
| nickname
____+ _____________________________
1| hello tdsql_pg
2 | tdsql_pgi¥F
1 | tdsql_pgs3 &R EFRYRHE T
1| hello tdsql_pg
(4 rows)

o TIRESEMICR,

postgres=
| nickname
memodbooromeororsmsomomosmoossosmes

1 | tdsql_po3 HmzVEHEERRMER T
1| hello tdsql_pg

2 | tdsql_pgi¥F
(3 rows)

o BN FERSHESHERPRER,

postgres=

| nickname
|
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1 | hello tdsqgl_pg
1| hello tdsql_pg
(2 rows)

BEIRPMERAZS

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.

CREATE TABLE

postgres=
INSERT O 2

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.

CREATE TABLE

postgres=
INSERT 0 2

postgres=
|

———t e

1| tdsql_pg
(1 row)

BEIRPMERES

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=
INSERT 0 2

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.

CREATE TABLE
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postgres=
INSERT O 2

postgres=
|

S B

2 | tdsql_pg
(1 row)

any fBi%
RESAFHP—MEHE.

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.

CREATE TABLE

postgres=
INSERT O 2

postgres=
|

S B

2 | tdsql_pg
(1 row)

all %
EEAFFHAEAHE.

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.

CREATE TABLE

postgres=

INSERT O 2

postgres=
|
cemod bomommee
3 | tdsql_pg
(1 row)
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REENA
o GHERH.

postgres=
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postgres=

1.3333333333333333
(1 row)

postgres=

nickname | nickname
e e
1 | hello tdsqgl_pg | 1| hello tdsqgl_pg
1 | tdsql_poR3HVEUREREIMEET | 1 | hello tdsql_pg

(2 rows)

postgres=

nickname | nickname
T L L e
1| hello tdsql_pg | 1| hello tdsql_pg
2 | tdsql_pg¥F ||
1 | tdsql_pgR3 HBNEUREERIEIMERT | 1 | hello tdsql_pg

(3 rows)

postgres=

nickname | nickname
e S e
1 | tdsql_pgR3HBNEIRERIEIMEET | 1 | hello tdsql_pg
1| hello tdsql_pg | 1| hello tdsql_pg
| | 5| Power tdsql_pg
(3 rows)
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postgres=

nickname | nickname
s St e
1 | hello tdsql pg | 1| hello tdsqgl _pg
2 | tdsql_pgh¥ ||
1 | tdsql_poR3HVEURERIRIMEEKT | 1 | hello tdsql_pg
| | 5| Power tdsql_pg
(4 rows)

HORBHLITHE
o BN

postgres=
Timing is on.
postgres=

SET

Time: 0.633 ms
postgres=

20000000
(1 row)

Time: 3777.518 ms (00:03.778)

postgres=

SET

Time: 0.478 ms
postgres=

20000000
(1 row)

Time: 2166.481 ms (00:02.166)

o WEHT
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postgres=

SET

Time: 0.315 ms
postgres=

20000000
(1 row)

Time: 1162.433 ms (00:01.162)
postgres=

notin HEE7Tnull, ERLHIH

postgres=
NOTICE: Replica identity is needed for shard table, please to this table through
“alter table" command.
CREATE TABLE
postgres=
INSERT O 2
postgres=
|
e bomemee
1 | tdsql_pg
2 | pgxz
(2 rows)

postgres=

REEA DN i

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

INSERT O 2

postgres=
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1| tdsql_pg
(1 row)

postgres=

1| tdsql_pg
3 | pgxz
(2 rows)

postgres=

SRR
. SEERST

postgres=

NOTICE: Replica identity is needed for shard table, please
through "alter table" command.

CREATE TABLE

postgres=
INSERT O 2

postgres=
array_to_string

tdsqgl_pg,tdsqgl_pg
(1 row)

postgres=

NOTICE: Replica identity is needed for shard table, please
through "alter table" command.

CREATE TABLE

WRIFRE: BRRITE (bR ) ARSEEAE
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postgres=
INSERT O 1

postgres=

regexp_split to table

EiNicR®M#E DN

postgres=
Xxc_node_id | f1 | f2
cermcrecreee IR R
2142761564 | 1| 3
2142761564 | 1| 3
(2 rows)

postgres=

xc_node_id | node_name | f1 | f2
oo e +--- -
2142761564 | dn001
2142761564 | dn001

(2 rows)

postgres=

grouping sets/rollup/cube Fi%
group by A%
. WERME.

create table t_grouping(id int,dep varchar(20),product varchar(20),num int);
insert into t_grouping values(1,"Mt55156','FH1',90);

insert into t_grouping values(2," W53 158", BBi',80);
insert into t_grouping values(3,' W53 158" ,'F41',70
insert into t_grouping values(4,'Ir532&0", 'E2f%',60
insert into t_grouping values(5," 53258, 'SF41',50
insert into t_grouping values(6, W532&0', ' HBfi',60

’

’
’

)
)
)
)
)

’
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insert into t_grouping values(7,"\t5335F','FH1',70);
insert into t_grouping values(8,' W53 35F', 'EBA%',80);
insert into t_grouping values(9," 53356, 'F41',90);

o ¥ dep. product BRICEHE,

postgres=

dep | product |
_________ +_________+_____
ArSS 158 | EBAX
ArSS1EB | FN
AVS328ER | FBAX
ArS528B | FN
ArS53E0 | EBAX
ArS3388 | FMN

{8/ grouping sets

OR';!':H
grouping sets I8N FIIRTLUEEZT SN IIeFREN, HESHEREE GROUP BY FaHi
EEANER, — PSS EESEKREREINTHERSE— M EP,

W% name. class BEBHIICE, BItE—129.

postgres=

dep | product |
_________ e b
WSS18E | | 240
AkS328B | | 170
AS338B | | 240

| EBE% | 280

| FEM | 370

| | 650

{#H grouping sets & group by .

postgres=

dep | product |
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APS3 130 | FBAN
APSS1ER | FH
APS3230 | FRAN
AkS32E0 | F
ArS3 330 | FRAN
AkS3330 | FN

{5/ rollup

rollup((a),(b)) ZHF grouping sets((a,b),(a),())-

postgres=

dep | product |
_________ = SN
ArS3 130 | A% | 80
ArSS18B | FHL | 160
APS318B | | 240
AvS5280 | EBEY | 120
AkSS28B | FHL | 50
Aks3288 | | 170
ArS335B | EBE® | 80
AkS338B | FM | 160
APS338B | | 240
| |]650

ZIhEEZ M F grouping sets((dep, product),( dep),())-

postgres=

dep | product |
_________ O N
ArSS15R | EBEX | 80
WSS1EB | FN | 160
APZ186 | | 240
ArS3280 | EBEN | 120
APS5288 | FHL | 50
AS3288 | [ 170
ArS33E0 | EBEY | 80
WS338B | FMN | 160
WSS3EB | | 240
| |650
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5/ cube

cube((a),(b)) #Ff/iF grouping sets((a,b),(a),(b),()) -

postgres=

dep | product |
_________ e e
AvSS1ER | EBEX | 80
ArSS1EB | FHL | 160
wWS3188 | | 240
AvSS28p | EBEX | 120
AkSS28B | FHL | 50
S3288 | [ 170
AvSS3ER | EBEX | 80
A¥SS3EB | FHL | 160
A533E8 | | 240

| A% | 280

| F | 370

| ]650

ZINEEZEMNTF grouping sets((name,class),(name),(class),()).

postgres=

dep | product |
_________ e dbemeee
AS315B | EBEE | 80
WSS18B | FM | 160
WSS18E | | 240
AkS328R | EBRE | 120
WS328B | FMN | 50
WS3288 | | 170
AFS3350 | EBRE | 80
ArSS3EB | FHL | 160
APSE386 | | 240

| EBfX | 280

| FEM | 370

| | 650

WRIFRE: BRRITE (bR ) ARSEEAE 5879 254,
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INSERT &%

SFEHELE: 2023-06-08 11:17:31
WAEFRICR

IEERBEFR.

postgres=

INSERT O 1

BEFEFR, fEEl, MRZFREMABNST LEOME,

postgres=
INSERT O 1

FEEFER, WRASFREFRSERI—,

postgres=
INSERT O 1

FRIRFTLUESHES

postgres=
INSERT O 1

M default X#F, BMENERRHEERNIFMES .

postgres=
INSERT O 1

LEERRBAICREFERNERIE

postgres=
| nickname
cooo besormeemmeemeeo

1 | hello tdsql_pg
2 | tdsql_pg¥f
5 | tdsql_pg swap
3 | tdsql_pgi¥

WRIFRE: BRRITE (bR ) ARSEEAE 5880 #254m;
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4 | tdsql_pg default
(SRS

IBASHICR

postgres=

INSERT O 2
postgres=

| nickname
|
1 | hello tdsql _pg
2 | tdsql_pgb¥
(2 rows)

(ERFEImA SR

postgres=

INSERT 0 1
postgres=

| nickname
cemod bememormereees
1 | pg_statistic
(1 row)

MBS —PREURHITHERIBEA

postgres=
INSERT 0 3
postgres=

| nickname
____+ _______________
5| pg_type
6 | pg_toast 2619
4 | pg_statistic
(3 rows)

KRR EREE

WRIFRE: BRRITE (bR ) ARSEEAE 58812543,
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postgres=

INSERT O 10000
postgres=

IBEHEASEE, BIRREUSAICRA serial &

postgres=

| nickname
e bererormemee
7 | tdsql_pg¥F
(1 row)
INSERT 0 1

postgres=

\____
8
(1 row)

IEEREIFE .
insert..update &
{#F3 ON CONFLICT

postgres=
Table "public.t"

Column | Type | Modifiers | Storage | Stats target | Description
-------- e S I e

| integer | | plain | |

| text | | extended | |
Indexes:

"t id udx" UNIQUE, btree (id)
Has OIDs: no
Distribute By SHARD(id)
Location Nodes: ALL DATANODES

postgres=

WRIFRE: BRRITE (bR ) ARSEEAE 5882 #254;
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postgres=

INSERT O 1
postgres=

|
e
1 | tdsql_pg
(1 row)

WRIFRE: BRRITE (bR ) ARSEEAE 5883 254,
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A BT
UPDATE i&;

mIEE#AYE: 2022-09-02 16:50:02

AR

postgres=
UPDATE 1

null FEFIRIZG X

postgres=
UPDATE 1
postgres=
| nickname

ceoobemormecmmeers

2 | tdsql_pg¥f

1 | Hello tdsqgl_pg
3 | Good tdsql_pg
(3 rows)

postgres=

UPDATE 1
postgres=
| nickname
commd bomemommemees
2 | tdsql_pgb¥
1| Good tdsql_pg
(2 rows)

B EISERRAIESE

postgres=

| nickname
croodbemerreemree
2 | tdsql_pg#F
(1 row)

WRIFRE: BRRITE (bR ) ARSEEAE 5884 #254;
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LESEDMBNEH 7 —L8E, ABREEHITNCR, returning HlHEERENANSERE

E 2 2/un S

postgres=

UPDATE 2
postgres=

| nickname | age
____+ ___________ + _____
1| tdsql_pgd¥ | 2
2 | tdsql_pg¥¥ | O
(2 rows)

shard key E1EEFTR{E

postgres=

ERROR: Distribute or partition can't be updated in current version

WRIFRE: BRRITE (bR ) ARSEEAE 5885 254,



@ i TDSQL PostgreSQLER
DELETE i&i%

SiFEHE: 2022-09-02 16:50:26
R EFRR

postgres=

| nickname
cerodberererererers
2 | tdsql_pgh¥
1 | Hello tdsqgl_pg
3|
4 | tdsqgl_pg good
(4 rows)

postgres=
DELETE 1

null FHRIRIESGH .

postgres=
DELETE 1
postgres=

| nickname
croodbesormeemmeers
2 | tdsql_pg¥f
1 | Hello tdsqgl_pg
(2 rows)

SRR LR

postgres=

| nickname
ceeod oo
2 | tdsql_pg¥F
1 | Hello tdsql_pg
(2 rows)

postgres=

SET
postgres=

WRIFRE: BRRITE (bR ) ARSEEAE 5886 254,
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DELETE 1
postgres=

| nickname
cerodbererererere
2 | tdsql_pgiF
(1 row)

B E R

postgres=

| nickname
comodbemmmmemmmes
2 | tdsql_pgb¥
(1 row)

returning $F£ALUEE DML (insert. update. delete ) {EB29EE, BRENASIE.,

IERFR AR

postgres=

postgres=

Timing is on.
postgres=
DELETE 100000
Time: 100.808 ms

M truncate HiEERE2ERREFRESESE.

postgres=

INSERT 0 100000
Time: 13178.429 ms
postgres=
TRUNCATE TABLE
Time: 24.242 ms

WRIFRE: BRRITE (bR ) ARSEEAE 5887 #254;
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FE5IRY{E R

RIEEFRATE: 2022-09-02 16:53:54

Fr5URY U
vl

5l

[tbase@VM 0 29 centos tbase mgrl$ psql -p 15432 -U dbadmin -d postgres
psql (PostgreSQL 10 (tdsql_pg 2.01))

Type "help" for help.
postgres=
CREATE SEQUENCE

BIUF, FEERACIE
Ml
postgres=

NOTICE: relation "tdsqgl pg seq" already exists, skipping
CREATE SEQUENCE

EERFFISRIRGERRER

a5l

postgres=

Expanded display is on.
postgres=

-l RECORD 1 ]-

last value | 1

log_cnt | O

is_called |f

RS T—ME

5

postgres=

nextval

WRIFRE: BRRITE (bR ) ARSEEAE 5888 #254m@
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PEVFFIRYZEIE, XMEEEDE nextval() S REGER

5

postgres=
currval

tRILA R T ERI S R RIRENFS S RERE.

postgres=
last_value

REFIREIE

postgres=
setval

5% DML shfEFE

a5l

postgres=
INSERT O 1
postgres=

| nickname
____+ ___________
1 | Bsifltdsql_pg
2 | tdsql_pgi¥
(2 rows)

FRUERFRRRIBRANEER

5l

WRIFRE: BRRITE (bR ) ARSEEAE 5889 254,
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postgres=
postgres=
INSERT O 1
postgres=

| nickname
comod bemoomemmmess
3 | hello tdsqgl_pg
1 | E&ifitdsal_pg
2 | tdsql_pgl¥
(3 rows)

FRIE D RSB

5l

postgres=
DROP TABLE
postgres=
CREATE TABLE
postgres=
INSERT O 1
postgres=

| nickname
comod bemmomemmoems
1 | hello tdsql_pg
(1 row)

TRk 51

50

postgres=
DROP SEQUENCE

IERFRSY, FFEERTHt

=l
postgres=
NOTICE: sequence "tdsql pg seq" does not exist, skipping

DROP SEQUENCE
postgres=

WRIFRE: BRRITE (bR ) ARSEEAE 5890 #254;




@ i TDSQL PostgreSQLER
s RHYE RS

SIEEHEE: 2022-09-02 16:54:15
BN iR

postgres=
BEGIN
postgres=

DECLARE CURSOR

BB — RS,
R —T8E

postgres=

DECLARE CURSOR

postgres=
EEGEINE

comod bemmomemmoems

1 | hello tdsql_pg

(1 row)

postgres=

| nickname
comod bemmmmemmme
2 | tdsql_pgb¥
(1 row)

HEENRI—1T

postgres=

| nickname
comod besoomesmmess
1 | hello tdsql_pg
(1 row)

postgres=
| nickname

WRIFRE: BRRITE (bR ) ARSEEAE 5891 #2543)
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postgres=

| nickname
____+ ____________
5 | tdsql_pg swap
(1 row)

postgres=
EEGEINE

____+ _____________

1| hello tdsql_pg

(1 row)

RENZEIRRISE X 17

postgres=

| nickname
cemodberereremere
2 | tdsql_pgb¥
(1 row)

postgres=

| nickname
____+ ____________
5 | tdsql_pg swap
(1 row)

postgres=

| nickname
____+ _______________
4 | tdsqgl_pg default
(1 row)

X AGEEIU MRS LR

IV RIAIRERYSE X 15

WRIFRE: BRRITE (bR ) ARSEEAE 5892 254,
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postgres=

| nickname
comodbesoomemmmess
1 | hello tdsql _pg
(1 row)

postgres=

| nickname
cecd bemmmerreree
3 | tdsql_pg¥F
(1 row)

postgres=

| nickname
s bememormerees
5 | tdsql_pg swap
(1 row)

BRI —IXEHE, FrREESRST.

[RETHREN X TR

postgres=

| nickname
____+ _____________
1| hello tdsql_pg
2 | tdsql_pg¥f
(2 rows)

postgres=

| nickname
cemod bememormemeerees
3 | tdsql_pgb¥
4 | tdsqgl_pg default
(2 rows)

[IRTHEENE T RIFT R R

postgres=

| nickname
cerodberererererers
1| hello tdsql_pg

WRIFRE: BRRITE (bR ) ARSEEAE 5893 #254;
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2 | tdsql_po#¥
(2 rows)

postgres=
| nickname

|
3 | tdsql_pg#F

4 | tdsqgl_pg default
5 | tdsql_pg swap
(3 rows)

[/SHRE x T80

postgres=

| nickname
____+ _______________
5 | tdsql_pg swap
4 | tdsql_pg default
(2 rows)

[ /SRR T RIPR R S

postgres=
| nickname
____+ _____________

3 | tdsql_pg¥f

2 | tdsql_pgb¥

1| hello tdsql_pg
(3 rows)

WRIFRE: BRRITE (bR ) ARSEEAE 5894 #254;
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copy HIfEFRE

IEEFAE: 2023-08-09 15:04:31

COPY FBF TDSQL PostgreSQLR RIMRENHRAX M ZEEHIETEES. COPY TO RILUHE—1RAIA

BEHZ—13X4, COPY FROM RILAN—"XHEHFIEIEEI—1 % (LUELLEINRZUNE) , COPY TO thag
Sil—4 SELECT EiIERE—1X14.

MFRBET—1MIEE, COPY BRICIEEIINIEIESHEIN HakE N HEFIBIREIEES . MREFPFEIIFHE
SIiBEH, COPY FROM B&ABRLEFIFRNRGAME

{i£F COPY B TDSQL PostgreSQLhR RSZ:BEIEN “Fit” —PMHZHEBBANEI—1M &K@

2 TDSQL PostgreSQLAR AR (iE1TiRSS2_AIAF ID ) AliAiaasH BRGZLABRSS SRA0 ARIEEE B,

LWREHREIE

postgres=

Table "public.t"
Column | Type | Modifiers | Storage | Stats target | Description
-------- e L A
f1 | not null | plain | |

f2 | character varying(32) | not null | extended | |
f3 | timestamp without zone | default now() | plain
f4 | integer | | plain | |
Has OIDs:
Distribute By SHARD(f1)

Location Nodes: ALL DATANODES

FENLERERBRNEL

postgres=

fl| f2 | f3 | f4

s I oo +----

3| pgxz | 2017-10-28 18:24:05.645691 |
1| tdsql_pg | | 7

2| |2017-10-28 18:24:05.643102 | 3
(3 rows)

copy to SHI¥IERIN R
SHmBEY

postgres=
COPY 3

WRIFRE: BRRITE (bR ) ARSEEAE 5895 #254;
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postgres=
1 tdsql_pg \N 7

p 2017-10-28 18:24:05.643102 3
3 pgxz 2017-10-28 18:24:05.645691 \N

BAERBX I RB RS, FISFIZEER tab SRR, NULL EERIER \N.
SHBIT

postgres=
COPY 3
postgres=

1 tdsql_pg
2

3  pgxz
postgres=

A8 A #1231,
SHEIER

postgres=
COPY 3
postgres=

2017-10-28 18:24:05.643102
pgxz 2017-10-28 18:24:05.645691
tdsqgl_pg \N
postgres=

BT UEFHTERE,
REERHHER
o &R/ csviBR
postgres=

COPY 3
postgres=

1,tdsql_pg,.7
2,pgxc,2017-10-28 18:24:05.643102,3
3,p9xz,2017-10-28 18:24:05.645691,

o HERTHBIEN

WRIFRE: BRRITE (bR ) ARSEEAE 5896 #254;
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postgres=
COPY 3
postgres=
postgres=
PGCOPY
tdsql_pg

2\ TEXT 8o
5/ delimiter IBE55%12Z D R

postgres=

COPY 3

postgres=

1l@tdsql_pg@\N@7

2@pgxc@2017-10-28 18:24:05.643102@3
3@pgxz@2017-10-28 18:24:05.645691@\N
postgres=

COPY 3

postgres=

l@tdsql_pg@@7

2@pgxc@2017-10-28 18:24:05.643102@3
3@pgxz@2017-10-28 18:24:05.645691@

postgres=
ERROR: COPY delimiter must be a single one-byte character

postgres=
ERROR: cannot specify DELIMITER in BINARY mode

BESRXHEIINFF . XFBAPEAR—IHIERST, M CSV BAPRAR—IES. SRFLAE—TE
—HBRFTFN, BINFERZH. £ binary SRR RIFXTER,

NULL {Ea9%:5E

postgres=

COPY 3

postgres=

1 tdsql_pg NULL 7

2 pgxc 2017-10-28 18:24:05.643102
3 pgxz 2017-10-28 18:24:05.645691

WRIFRE: BRRITE (bR ) ARSEEAE 5897 #254;
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postgres=

COPY 3

postgres=

1,tdsql_pg,NULL,7

2,pgxc,2017-10-28 18:24:05.643102,3
3,pgxz,2017-10-28 18:24:05.645691,NULL

postgres=
ERROR: cannot specify NULL in BINARY mode
postgres=

iCR({E7 NULL B3SH73 NULL =15, £ binary B ARRIFX NMER

E RIS

postgres=

COPY 3

postgres=

f1,f2,f3,f4

1,tdsql_pg,.7

2,pgxc,2017-10-28 18:24:05.643102,3
3,p9xz,2017-10-28 18:24:05.645691,

postgres=

ERROR: COPY HEADER available only in CSV mode

QBER CSV &N A RiFX M NEIR
B oids K55

postgres=
DROP TABLE
postgres=
postgres(
postgres(
postgres(
postgres(
postgres(
postgres-
CREATE TABLE
postgres=
COPY 3
postgres=

fli| f2 |

WRIFRE: BRRITE (bR ) ARSEEAE 5898 #254;
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1| tdsql_pg

2| pg'", xc|2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

postgres=# copy t to '/data/pgxz/t.txt' with oids ;
COPY 3

postgres=# \! cat /data/pgxz/t.txt

35055 1 tdsql pg \N 7

35056 2 pg'™, xc 2017-10-28 18:24:05.643102 3
35177 3 pgxz 2017-10-28 18:24:05.645691 \N

BIERRAHER T with oids A AEfER oids &R,
{ER quote BEXSIRFF

postgres=

COPY 3

postgres=

1,tdsql_pg,,7

2,"pg'"", xc%",2017-10-28 18:24:05.643102,3
3,pgxz,2017-10-28 18:24:05.645691,

FIAS|FEFA “WEIS” .

postgres=

COPY 3

postgres=

1,tdsql_pg,,7

2,%pg"", xC%%%,2017-10-28 18:24:05.643102,3
3,pgxz,2017-10-28 18:24:05.645691,

LEEETSIRFFAESS, FREBMEFRENLIFHFERARN %

postgres=
ERROR: COPY quote available only in CSV mode

HBER CSV BB RIFXAEL

postgres=
ERROR: COPY quote must be a single one-byte character

WRIFRE: BRRITE (bR ) ARSEEAE 5899 254,
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SIRFAYREB—NTRE—HEFTHFES, BNFRERZISH.
{5/ escape EITE X HLiEHF

postgres=

COPY 3

postgres=

1,tdsql_pg,,7

2,%pg"", XC%%%,2017-10-28 18:24:05.643102,3
3,p9xz,2017-10-28 18:24:05.645691,

F18%E escape R, BIAF1 QUOTE E—#.

postgres=

COPY 3

postgres=

1,tdsql_pg,,7

2,%pg"", xc@%%,2017-10-28 18:24:05.643102,3
3,pgxz,2017-10-28 18:24:05.645691,

EELEFAQ

postgres=
ERROR: COPY escape must be a single one-byte character

XURBR— I E—RIRFHFT

postgres=
ERROR: COPY quote available only in CSV mode

REEA CSV SR AR ER,
BHAFATIEMS | BFF

postgres=

COPY 3

postgres=

"1","tdsql_pg",,7

"2"."pg""", xc%",2017-10-28 18:24:05.643102,3
"3","pgxz",2017-10-28 18:24:05.645691,

WRIFRE: BRRITE (bR ) ARSEEAE 58100 #2543)
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EE2FEHIRMNS|IAFT .

postgres=
COPY 3
postgres=

"1",”tdSC{|_pg",,"7"
"2, "pg"",  xc%","2017-10-28 18:24:05.643102","3"
"3","pgxz","2017-10-28 18:24:05.645691",

EEATIEIRINS I AF, FROIRFRLMESHS.

postgres=
ERROR: COPY force quote available only in CSV mode
postgres=

HEEA CSV SR A RIFXAER.
£ encoding EESH AR R

postgres=
COPY 3

S HmEH UTF8,

postgres=
COPY 3
postgres=

SHX RIS gbk.
5[ set_client_encoding to gbk; ttAILUSXHRIAFIRERNFEZRIRE, WTHAR.

postgres=
SET

postgres=
COPY 4
postgres=

copy from EFIXHARBTREIE=RH
SAmBE%

WRIFRE: BRRITE (bR ) ARSEEAE 58101 #2541\
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postgres=
1 tdsql_pg \N 7
2 pg'", xc% 2017-10-28 18:24:05.643102 3
3 pgxz 2017-10-28 18:24:05.645691 \N
postgres=# truncate table t;
TRUNCATE TABLE
postgres=# copy t from ‘/data/pgxz/t.txt’;
COPY 3
postgres=# select * from t;
f2 f3

1 | tdsql _pg

2| pg", xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

SABIEES

postgres=

postgres=

1 tdsql_pg

2 pg'", xc%

3 pgxz

postgres=# truncate table t;

TRUNCATE TABLE

postgres=# copy t(f1,f2) from '/data/pgxz/t.txt’;

COPY 3

postgres=# select * from t;
2 f3

1|tdsql pg |2017-10-3011:54:16.559579 |
2| pg", xc% |2017-10-30 11:54:16.559579 |
3 | pgxz | 2017-10-30 11:54:16.560283 |

(3 rows)

BRMENFRESBSAN, SEMAMSEVAEEL.

postgres=

1 \N tdsql_pg

2 2017-10-28 18:24:05.643102 pg'", xc%
3 2017-10-28 18:24:05.645691 pgxz
postgres=# truncate table t;

TRUNCATE TABLE

WRIFRE: BRRITE (bR ) ARSEEAE 58102 #2541
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postgres=# copy t(f1,f3,f2) from ‘/data/pgxz/t.txt’;
COPY 3
postgres=# select * from t;
f2 | f3
e I EEE PR +----
1|tdsal_pg | |
2| pg™, xc% |2017-10-28 18:24:05.643102 |
3 | pgxz | 2017-10-28 18:24:05.645691 |
(3 rows)

FERNIRFTLMESREZR, EFESSEHRFBRIRFE—.

postgres=

1 tdsql_pg \N 7

2 pg'", xc% 2017-10-28 18:24:05.643102 3
3 pgxz 2017-10-28 18:24:05.645691 \N
postgres=# copy t (f1,f2) from ‘'/data/pgxz/t.txt’;
ERROR: extra data after last expected

CONTEXT: COPY t, line 1: "1 tdsqgl pg \N 7"

RN HRITIRTES TESAIE, BNSHE,

BESAXEHEN

postgres=

1 tdsql_pg \N 7

2 pg'", xc% 2017-10-28 18:24:05.643102 3

3 pgxz 2017-10-28 18:24:05.645691 \N
postgres=# copy t from '/data/pgxz/t.txt' (format 'text');
COPY 3

TRUNCATE TABLE

postgres=# \! cat /data/pgxz/t.csv

1,tdsql_pg,,7

2,"pg"", xc%",2017-10-28 18:24:05.643102,3
3,pgxz,2017-10-28 18:24:05.645691,
postgres=

COPY 3

postgres=

TRUNCATE TABLE

postgres=

0000000 P G C O P Y \n377 \r \n \O \0 \O \0 \O0 \O
0000020 \0 \O0 \O \0 004 \O \O \0 004 \O \O \0 001 \O0 \0 \O

WRIFRE: BRRITE (bR ) ARSEEAE 56103 #2543)
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0000040005 T b a s e377 377377 377 \0 \0 \0004 \0 \0
0000060 \0 \a \0 004 \O \0 \0 004 \0 \0 \0 002 \0 \0 \0O1le
0000100 p g ' ", X ¢ % \0 \0
0000120 \0 \b \0 001377236 G w213 ~ \0 \0 \0004 \0 \0
0000140 \0 003 \0 004 \0 \O \0 004 \0 \0 \0 003 \O \0 \0 004
0000160 p g x z \0 \0 \0 \b \0 001377236 G w225 {
0000200 377 377 377 377 377 377
0000206
postgres=# copy t from '/data/pgxz/t.bin' (format 'binary");
COPY 3
postgres=# select * from t;

f2 f3

1 | tdsql _pg

2| pg", xc%|2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

5/ delimiter IBE55%12Z A R

postgres=
1%tdsql pg%\N%7
2%pg'", xc\%%2017-10-28 18:24:05.643102%3
3%pgxz%2017-10-28 18:24:05.645691%\N
postgres=# copy t from ‘/data/pgxz/t.txt' (format 'text',delimiter '%');
COPY 3
postgres=# select * from t;
f2 f3

1 | tdsql _pg

2| pg'", xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

postgres=# \! cat /data/pgxz/t.csv

1%tdsql pg%%7

2%"pg'"", XxC%"%2017-10-28 18:24:05.643102%3
3%pgxz%2017-10-28 18:24:05.645691%

postgres=# truncate table t;

TRUNCATE TABLE

postgres=# copy t from '/data/pgxz/t.csv' (format 'csv',delimiter '%');
COPY 3

postgres=# select * from t;

fl] f2 | f3 | f4

WRIFRE: BRRITE (bR ) ARSEEAE 58104 #254)
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1 | tdsql_pg

2| pg™, xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

postgres=
1 tdsql_pg NULL 7
2 pg'", xc% 2017-10-28 18:24:05.643102 3
3 pgxz 2017-10-28 18:24:05.645691 NULL
postgres=# copy t from '/data/pgxz/t.txt' (null 'NULL");
COPY 3
postgres=# select * from t;

f2 | f3
e e LI EEEEE +----
1|tdsqgl pg | | 7
2| pg™, xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |
(3 rows)

1&328PRry NULL &R 2RE NULL (B2, SQL Server SHRAIXHHIE NULL [EEI&MFFH
NULL, FRUANEERIRILARFAE—T, FRFFHRERSANS, NTEEISARERSHE.

postgres=
ERROR: invalid input syntax for type timestamp: "NULL"
CONTEXT: COPY t, line 1, f3: "NULL"

BEX quote F&F

postgres=

1,tdsql_pg,.7

2,%pg"", xC%%%,2017-10-28 18:24:05.643102,3
3,pgxz,2017-10-28 18:24:05.645691,

WMRAEE quote FRFUEESANE .

postgres=
ERROR: unterminated CSV quoted field
CONTEXT: COPY t, line 4: "2,%pg"", xC%%%,2017-10-28 18:24:05.643102,3
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3,pgxz,2017-10-28 18:24:05.645691,

postgres=
COPY 3
postgres=

postgres=
ERROR: COPY quote available only in CSV mode

2B csv BB A EEECE quote FfF.
BEX escape &

postgres=

1,tdsql_pg,,7

2,"pg'@", xc%",2017-10-28 18:24:05.643102,3

3,pgxz,2017-10-28 18:24:05.645691,

postgres=# copy t from '/data/pgxz/t.csv' (format 'csv');

ERROR: unterminated CSV quoted field

CONTEXT: COPY t, line 4: "2,"pg'@", xc%",2017-10-28 18:24:05.643102,3
3,p9xz,2017-10-28 18:24:05.645691,

FHE%E escape FHH, ZAKIAMENERI quote F5F, IINUZRY “WEIS” .

postgres=

COPY 3

postgres=
2

1| tdsql_pg

2| pg", xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

postgres=

csv header ZEEET

postgres=

f1,f2,f3,f4

1,tdsql_pg,.7

2,"pg'"", xc%",2017-10-28 18:24:05.643102,3
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3,p9xz,2017-10-28 18:24:05.645691,
postgres=# copy t from '/data/pgxz/t.csv' (format 'csv');
ERROR: invalid input syntax for integer: "f1"
CONTEXT: COPY t, line 1, column f1: "f1"
postgres=# copy t from '/data/pgxz/t.csv' (format 'csv',header true);
COPY 3
postgres=# select * from t;
2 f3

1 | tdsql _pg

2| pg"™, xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

NEARZEET, WRASIEETIMRERE, SERSAKK,
8\ oid 5i{E

postgres=

35242 1 tdsgl_pg \N 7

35243 2 pg'", xc% 2017-10-28 18:24:05.643102
35340 3 pgxz 2017-10-28 18:24:05.645691 \N

postgres=# truncate table t;

TRUNCATE TABLE

postgres=# copy t from '/data/pgxz/t.txt' (oids true);
COPY 3

postgres=# select oid,* from t;

oid |fl1| f2 | f3

35242 | 1 | tdsqgl_pg

35243 | 2| pg"™, xc% |2017-10-28 18:24:05.643102 | 3
35340 | 3| pgxz | 2017-10-28 18:24:05.645691 |

(3 rows)

£ FORCE_NOT_NULL {8R5Ih=={ETMIKEB0NFH, AR NULL &

postgres=

TRUNCATE TABLE

postgres=

1,tdsql_pg,,7

2,"pg""", xc%",2017-10-28 18:24:05.643102,3
3,p9xz,2017-10-28 18:24:05.645691,

4,2017-10-30 16:14:14.954213,4

postgres=# copy t from '/data/pgxz/t.csv' (format 'csv');
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ERROR: node:16386, error null value in column "f2" violates not-null constraint
DETAIL: Failing row contains (4, null, 2017-10-30 16:14:14.954213, 4).
postgres=

fl1|f2|f3|f4

A{EFH FORCE_NOT_NULL %Er9iEmZER NULL (&,

postgres=

TRUNCATE TABLE

postgres=

COPY 4

postgres=

fl|f2 | f3 | f4

e +----

4] |2017-10-30 16:14:14.954213 | 4
(1 row)

5 FORCE_NOT_NULL 2B T Ri<EA0N=ZFFH
encoding BESAXHHIRE

postgres=
Simplified Chinese National Standard; GB2312

postgres=
COPY 4
postgres=
2
e - e +----
1 | tdsql_pg | 7
2| pg™, xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |
4 | [ 2017-10-30 16:41:09.157612 | 4
(4 rows)

FEESANHIRBEN, WEXERSAFXFT.

postgres=
TRUNCATE TABLE
postgres=

COPY 4
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postgres=
2

1 | tdsql_pg

2| pg", xc% | 2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

4 | BB | 2017-10-30 16:41:09.157612 | 4

(4 rows)

{£M encoding gbk BFEALIEHEAXHHIRS, SEAILMERTENARERSANXHIRBEBESNGE,

postgres=
TRUNCATE TABLE
postgres=
postgres=

COPY 4
postgres=

1| tdsql_pg

2| pg™, xc% |2017-10-28 18:24:05.643102 | 3
3 | pgxz | 2017-10-28 18:24:05.645691 |

4| B8R | 2017-10-30 16:41:09.157612 | 4

(4 rows)
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json ¥ jsonb BY{EFE

IEEFRATE: 2022-09-02 16:52:48

TDSQL PostgreSQLER FRE— 1A HXAXERMBERR, AHNECESIHEXREHUIESE json, json i
SRIARF(E JSON ( JavaScript Object Notation ) #iE. XMEIEEITLAKEFER text, (B2 json iR
ERPYMBETEENERBMEFMENERSS json i), HBERZ json HXHNESFNIRMEFILIBTFIEE
IXLEEESERIRRYEIRE

json EiEEEE json fl jsonb, BlilESLERMNEESIEREAN, TEPXINBHE. json HIEEREFE
BAMAREHER N, LERHURESXVTIHISRERFITZEIE. T jsonb HIBEFEE— o RIFR "
Fig=th, SERARNEHE—L, EAFTEMMEEE, ER jsonb ELERNERRS, BAFEEMER.
jsonb 8%IFES|, XtLEHKE.

json RiFd
6I& json ABIFEIE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

INSERT O 1
postgres=
INSERT O 1
postgres=
|
cemsdbomerecrescerormomoomessesssmossemosmeTes
1| {"coll":1,"col2":"tdsql_pg"}
2| {"coll":1,"col2":"tdsqgl _pg","col3":"pgxz"}
(2 rows)

BT EIRTE json XIRisk

postgres=
col2 | col3

_________ S E—

"tdsql_pg" |
Iltdsql_pgll | Ilpglel
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A A R IR R {E

postgres=
col2 | col3
_______ o
tdsql_pg |

tdsqgl_pg | pgxz
(2 rows)

postgres=

col2 | col3
_______ +______

tdsql_pg | pgxz
(1 row)

jsonb Kz
6& jsonb JEIFEE

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

postgres=
INSERT O 1
postgres=
INSERT O 1

postgres=
|
cecod e rerr e T e e e
1| {"coll": 1, "col2": "tdsqgl pg"}
2 | {"coll": 1, "col2": "tdsqgl_pg", "col3": "pgxz"}
(2 rows)
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jsonb BARSBRIRESRIE, WA,

postgres=
INSERT O 1
postgres=

cecod bemermcrorrersmmermereemersemeeme s emesme e
1| {"coll": 1, "col2": "tdsqgl pg"}

3| {"coll": 1, "col2": "pgxz"}

2| {"coll": 1, "col2": "tdsqgl pg", "
(ER'S)

1EmrT=.

postgres=

UPDATE 1

EREERTTE,

postgres=
UPDATE 1

postgres=

|
cecod berrrrrr e T e e e
2| {"coll": 1, "col2": "tdsql_pg", "col3": "pgxz"}
1| {"coll": 1, "col2": "tdsql_pg", "col3": "pgxz"}
3| {"coll": 1, "col2": "tdsql pg"}
(3 rows)

MIFRFEA

postgres=
UPDATE 3

postgres=

e
2 | {"coll": 1, "col2": "tdsql_pg"}
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1| {"coll": 1, "col2": "tdsql_pg"}
3| {"coll": 1, "col2": "tdsql_pg"}
(3 rows)

jsonb_set() SREEMREIR

jsonb_set(target jsonb, path text[], new_value jsonb, [create_missing boolean])

© A
target IEEEFAEIER, path 15812, new_value IEE#ERIE(E, create_missing B true
ETMBEFEZEENRNM, create_missing {BH false FRIMNBERRFEUTFM.

postgres=

UPDATE 1
postgres=

UPDATE 1
postgres=

UPDATE 1
postgres=

ceredbererererererererererr e e e e erereres
1| {"col": "pgxz", "coll": 1, "col2": "tdsql_pg"}
2| {"coll": 1, "col2": "tdsql_pg"}

3| {"coll": 1, "col2": "pgxz"}

(3 rows)

jsonb HEEF
jsonb_each() $§ json x&iEITRE

postgres=

{"col": "pgxz", "coll": 1, "col2": "tdsql_pg"}
(1 row)

postgres=

key | value
______ R
col | "pgxz"
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col2 | "tdsqgl_pg"
(3 rows)

jsonb_each_text() $§ json XREIESIASTIAGRTIE

postgres=

key | value
______ o

col | pgxz
coll |1

col2 | tdsql_pg
(3 rows)

row_to_json() $—TicREE— json WK

postgres=
Table "public.tdsqgl_pg"
Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
---------- s L T s KR TR
| integer | | not null | | plain | |
nickname | text | | | | extended |
Indexes:
"tdsql pg pkey" PRIMARY KEY, btree (id)
Distribute By: SHARD(id)
Location Nodes: ALL DATANODES

postgres=

| nickname
cemod bemommmemme
1 | tdsql _pg
2 | pgxz
(2 rows)

postgres=
row_to _json

{"id":1,"nickname":"tdsql_pg"}
{"id":2,"nickname":"pgxz"}
(2 rows)

json_object_keys() iBEI—"* R RFABAYE
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postgres=

json_object_keys

jsonb 5|

tdsql_pg 73t jsonb 12T GIN %51, GIN RSIRJLMBARGMIEREKXE jsonb X4 (¥iE ) M
RO ERB(ERT .

BlI& jsonb &5|

postgres=
CREATE INDEX

postgres=
Table "public.t_jsonb"

Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
--------- L e s T s aae e e

| integer | | | | plain | |
f jsonb | jsonb | | | | extended |
Indexes:
"t jsonb_f jsonb_idx" gin (f_jsonb)
Distribute By: SHARD(id)
Location Nodes: ALL DATANODES

ML E=Ro1ERE

postgres=

10000000
(1 row)

postgres=
ANALYZE

RBRSIFH.
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postgres=
|
______ S VN
9999 | {"coll™ , : "9999"}
9999 | {"coll™: "col2": "9999"}

9999 | {"coll": , "col2": "9999"}
9999 | {"coll™ , "col2": "9999"}
9999 | {"col1™ "col2": "9999"}
(5 rows)

Time: 2473.488 ms (00:02.473)

BES|FH.

postgres=

9999 | {"col1™: : "9999"}
9999 | {"coll": ) : "9999"}
9999 | {"col1™: , "col2": "9999"}

9999 | {"col1™ "col2": "9999"}
9999 | {"coll": , 'col2": "9999"}
(5 rows)

Time: 217.968 ms
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HF A
FSEH

IEE#AYE: 2023-08-09 11:52:21

F—1 895

postgres=
BEGIN

postgres=
BEGIN

tRTLAE X ESSHIRA -

postgres=
BEGIN

HREEHS

HIZ#BIE .

postgres=
BEGIN

postgres=
DELETE 1
postgres=
postgres=

| nickname
cernd bereremmemeerens
1 | hello tdsql _pg
2 | tdsql_pgb¥
3 | tdsql_pglF
4 | tdsql_pg default

TDSQL PostgreSQLIR 523245 ACID 45, iRIRZAMIARS—NMEERER, RBFIRSKICH, X2
TDSQL PostgreSQLER fRE IS AMERISEI, TR
HIEH#2i51E
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postgres=
| nickname
ceeod bemrrerr e
1 | hello tdsql_pg
2 | tdsql_pgh¥
3 | tdsql_pgi¥
4 | tdsql_pg default
5 | tdsql_pg swap
(5 rows)

HIEHIRITEUR

postgres=
COMMIT
postgres=

HEE#2BEOHE, XACEMEIHERNEE, X RN “EERR” .

postgres=
| nickname
N
1 | hello tdsql _pg
2 | tdsql_pgb¥
3 | tdsql_pgi¥
4 | tdsql_pg default
(4 rows)

postgres=
BEGIN
postgres=
DELETE 2
postgres=

| nickname
ceemd bememormereees
1 | hello tdsql_pg
2 | tdsql_pgb¥
(2 rows)

postgres=
ROLLBACK
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Rollback F#IEXEIET .

postgres=
| nickname
____+ _______________
1| hello tdsql_pg
2 | tdsql_pgh¥
3 | tdsql_pgh¥
4 | tdsql_pg default
(4 rows)

H5SiZ—H it REPEATABLE READ

XMESRINRTFIESHRELZNIHIERE—RY, TR,
#session

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.
CREATE TABLE
postgres=

INSERT O 1

postgres=

BEGIN

postgres=

|

cecod bermermees

1 | tdsql _pg

(1 row)

#session2

postgres=
INSERT O 1
postgres=

|
e bomemeee
1 | tdsql_pg
1| pgxz
(2 rows)

#sessioni
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postgres=

S S

1 | tdsql _pg
(1 row)

postgres=

THERSPNER
e

postgres=

NOTICE: Replica identity is needed for shard table, please to this table through
"alter table" command.

CREATE TABLE

postgres=

postgres=
INSERT 0 2
postgres=

|
____+ _______
1| tdsql_pg
2 | pgxz
(2 rows)

Ei% update FXEY

#session

postgres=
BEGIN
postgres=
SET
postgres=
UPDATE 1
postgres=

#session2
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postgres=
SET

postgres=
UPDATE 1
postgres=

L session1 5 session2 93FE mc=pgxz 1781 mc=tdsql_pg BI1THi,

select...for update 3XHY

#session

postgres=
BEGIN
postgres=
SET
postgres=

#session2

postgres=
BEGIN
postgres=
SET
postgres=

L session1 5 session2 #3FHE mc=pgxz 1781 mc=tdsql_pg BI7T$,
5 MySQL IRE{TRBIRIXEY

mysql> select version();
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1 row in set (0.00 sec)

#session

mysql> begin;
Query OK, 0 rows affected (0.00 sec)

mysql> select * from t_row_lock where mc='pgxz' for update;

| 2| pgxz |
+ - +
1 row in set (0.00 sec)

#session2

mysql> select * from t_row_lock where mc="'tdsql pg' for update;
ERROR 1205 (HY000): Lock exceeded; try restarting transaction
mysql>

XZ2EP MySQL EFHTRMEEERSIKRESFER, T, A ID ERRIKENITHI.
#session

mysql> begin;
Query OK, 0 rows affected (0.00 sec)

mysql> select * from t row_lock where id=1 for update;

| 1| tdsql_pg |
e +
1 row in set (0.00 sec)

##session2

mysql> begin;
Query OK, 0 rows affected (0.00 sec)

mysql> select * from t_row_lock where id=2 for update;
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| 2| pgxz |
+- - +
1 row in set (0.00 sec)
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ZHE

mIEE#AYE: 2023-08-09 15:02:01

mRNE

1. DB object: database, schema, table, column, view, index, sequence, function,
trigger F&i:

BERNEFE, HF. THEHES,
BNAERAWCISE"EE, FIEVREEAEFERTIBSFTHFT .
KEFREEBE631MFH/.
FEWEL pg_ FkEE pgxc_ (EHB5FES DB object iRiE) , FENAKFF L,
A SQL X#=F, Wl type, order &,

2. table sE8EHY column HH, RIEFEREENARE, HEE250F16002ZiE

3. RSP EY DB object: table. view &, &N LB, @0
dba_ops.b2c_product summay_2014 07_12 (E# dba_ops 73 DBA EH schema),

4. index SRy : HBERSIH FRB_FIF_idx , E—FS|H FE_FIE_uidx , 4l
student_name_idx, student_id_uidx.

COLUMNiit

FRINBEFEIESRENY, MARFEREE,

. #iXgERA varchar(N) #4H char(N), LAfIFB&EF#EZIE.
. EiXgER varchar(N) #4H text, varchar,

. #iX{EFA default NULL, mAH default”, LAB&EEF#ESIE.

. BB ERRSRWSAE, (#EA timestamp with time zone(timestamptz), WA timestamp
without time zone, EZIEARHENTFARBR RN ESEEERRE, tAlSERRMGAEES.

6. EiYEA NUMERIC(precision, scale) REF#ESEMESMNECERBRHITENHE, MAEER real,
double precision.

Constraints igit

1. BiE table #}#H shard key {EAE k& H—FRSI,
2. BWERN—SAIEEREREE—RS g,
3. i¥&, 3k shard key AALAEL primary key 2#& unique index,

Index i&it

1. TDSQL PostgreSQLIR 12#thY index 2£8: B-tree, Hash, GiST (Generalized Search Tree),

| @

oA W N
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SP-GiST (space—partitioned GiST), GIN (Generalized Inverted Index), BRIN (Block
Range Index), BRIFAZEER Hash, E@EERTER B-tree,

2. ¥ create Bk drop index B, 11 CONCURRENTLY 2%, iXZI55AEIRHEIIHER,

3. BRI FIRZ update, delete IBETF index EXHEI columnfitable, H create index
CONCURRENTLY, drop index CONCURRENTLY BA X THIPEIIR index.

4. #Ei¥A unique index £& unique constraints, EFEEHP,
5. B33 where FESPMFER and £EHSR query, 2EHIRSHER, BS/MFERIIBES index.

6. BIIEERMEN (—REIFELSE X ) BidEINEIESELER query, &EiXH where B9 Partial
Indexes.

select * from test where status=1 and col=7?; -- Efastatus=1AEERRHE

create index on test (col) where status=1;

7. BERERRIANEAEDFMR query, TLUERFRIANHELZSIME query,

select * from test where exp(xxx);

create index on test ( exp(xxx) );

8. BIWFERES index, —RABIBIF6, & table (7@, T8 ) AHELIBM index M.
XF NULL

1. NULL B9%IBr: IS NULL, IS NOT NULL.,
2. i¥% boolean #£BEYE true, false, NULL,
3. & NOT IN &£&%% 8 NULL 5t=&,

postgres=

| nickname
~eeodbercrerererereee
1| hello tdsql_pg
2 | tdsql_pgi¥
3 | tdsql_pgi¥F

4 | tdsql_pg default
(4 rows)

postgres=
| nickname
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4. BWIFFHRE NULL BRER, #17 || #E.

postgres=

| nickname
S
1| hello tdsql_pg
(1 row)

postgres=
| ?column?

postgres=

| ?column?
~credbererrrererere
1| hello tdsql_pg
(1 row)

5. BiXfEM count(l) 8% count(*) RFiHTH, MAEIRER count(col) KFitiT8, EJ NULL EF=
it Ao

O ERE:
count(Z5151R) i, SBIFIZURERIFS, 40 count( (coll, col2, col3)), FESFIH
count, BMEFREFIERA NULL, iZiTtE#i1E, FREAERS count(*) —H,

postgres=
| nickname
____+ _______________
1| hello tdsql_pg
2 | tdsql_pgi¥
5|
3 | tdsql_pgi¥F
4 | tdsql_pg default
(5 rows)

postgres=
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6. count(distinct col) it&E&E5IAIE NULL FEE# =, NULL F#it#E.

A ER:

count(distinct (col1, col2, ...)) itE3FIpM—ER, NULL £#it#, B NULL 5 NULL
SWINHZEERY,

postgres=

7. A4 NULL B9XIEETE %

postgres=
tdsql_pgnull
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- & DB object ##HE COLUMN 5l COMMENT, EFRE%ET ks
ERRIERSIERAEMNERLL, BiERN—EmER.

postgres=
Table "public.tdsgl_pg_main"
Column | Type | Modifiers | Storage | Stats target | Description
-------- L I S S
| integer | | plain | |
| text | | extended |

Indexes:
"tdsqgl_pg_main_id_uidx" UNIQUE, btree (id)
Has OIDs: no
Distribute By SHARD(id)

Location Nodes: ALL DATANODES

postgres=
COMMENT
postgres=
COMMENT
postgres=
Table "public.tdsql_pg_main"
Column | Type | Modifiers | Storage | Stats target | Description
-------- T L S
| integer | | plain | | id=S
|text | | extended | | FEERAR

Indexes:
"tdsql_pg _main_id uidx" UNIQUE, btree (id)
Has OIDs: no
Distribute By SHARD(id)

Location Nodes: ALL DATANODES

o BIERARES select * , REFIBFR, URDBBEFRTREERERE

postgres=
QUERY PLAN

Index Scan using tdsql_pg_main_id_uidx on public.tdsgl_pg_main
(cost=0.15..8.17 rows=1 width=36)
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Output: id,
Index Cond: (tdsql_pg_main.id = 1)
(3 rows)

postgres=
QUERY PLAN

Index Scan using tdsql_pg_main_id_uidx on public.tdsqgl_pg_main
(cost=0.15..8.17 rows=1 width=4)

Output: tableoid

Index Cond: (tdsql_pg_main.id = 1)

(3 rows)

* RIREI36NZER, MB—IM—RICRREAINZRIIKE,
« Bi¥ update FRIRER# <> 3iF, W update table_a set column_b = ¢ where column_b <> c;

postgres=
UPDATE 1
postgres=

______ N R R —
2562 | 1 | tdsql_pg
(1 row)

postgres=
UPDATE 1
postgres=

______ oo
2564 | 1 | tdsql_pg
(1 row)

postgres=
UPDATE 0
postgres=

______ N
2564 | 1 | tdsql_pg
(1 row)

FHEIERE—HN, EFESENERFSTE—NHIRACE, FEERFKHT vacuum EISEIREE
o BRI ESZSNER SQL IRE, P8, IFD, HETHE—HSE, IS/ ESHRERTE)N, RE
lock VRIEIR, Bilock . dead lock BRI
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A BT
\#session1 {EFrBHIEEEFIMAIRIE, —TH 72000 FHHFICH.

postgres=

BEGIN

postgres=

UPDATE 200000000

\#tisession2 &

\#session3 &

WNE #session1 HEEFRANE, WMTAAR,

postgres=
BEGIN
postgres=

UPDATE 100000
postgres=

postgres=
BEGIN
postgres=

UPDATE 100000
postgres=

N session2 #1 session3 HELEEERDIERISERY , XTI R XENHMEFFHLIAER session HBHR

HFR, EMERENRTBERZMEERIT.
o BNKHBISEIEAEER, (£ copy, FRIXEM insert, LUERBNEE

postgres=

INSERT O 100000
Time: 9511.755 ms
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postgres=
COPY 100002
Time: 179.428 ms

postgres=

COPY 100002
Time: 1625.803 ms
postgres=

MEEEEZESE .

o BVCHERAANEREMBURES, ERYGRE (MATERIALIZED VIEW) EHEHSUERR, o
2% (AHEREEMKNE ) ESENEENES, BYHRERS REFRESH MATERIALIZED VIEW
CONCURRENTLY, SZiSHEEH
ME— M EFSEARHES tdsgl_pg_main BIZIiCRE, AISEMNTIEE,

postgres=

200004
(1 row)

Time: 27.948 ms
postgres=

SELECT 1
Time: 322.372 ms
postgres=

200004
(1 row)

Time: 0.421 ms

trgEfR= LBIE.
BHIEERIRIFRTT X

postgres=

COPY 100002
Time: 1201.774 ms
postgres=

count
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300006
(1 row)

Time: 23.164 ms

postgres=

REFRESH MATERIALIZED VIEW
Time: 49.486 ms

postgres=

300006
(1 row)

Time: 0.301 ms

o BNSFNSGEATISHEOSHN
iB2E 5% SQL E9RE hEOSRMRIEE.
o FI% join HREMIEAS% key #17 join
e SSAER, AR, MEEEMMIINXBERMDHE, MTAR:

[pgxz@VM_0 29 centos pgxz]$ psql -p 15001
psql (PostgreSQL 10 (tdsql_pg 2.01))
Type "help" for help.

postgres=

CREATE TABLE
postgres=

CREATE TABLE
postgres=

QUERY PLAN
Data Node Scanon " REMOTE FQS QUERY_ " (cost=0.00..0.00 rows=0
width=0)
Node/s: dn001, dn002
(2 rows)

postgres=

QUERY PLAN
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Data Node Scan on " REMOTE FQS QUERY_ " (cost=0.00..0.00 rows=0
width=0)

Output: tdsql_pg_detail.id, tdsql _pg_detail.tdsql_pg_main_id,
tdsqgl_pg_detail.mc

Node/s: dn001, dn002

Remote query: SELECT tdsql_pg_detail.id, tdsql_pg_detail.tdsql_pg_main_id,
tdsqgl_pg_detail.mc FROM public.tdsql_pg_main, public.tdsql_pg_detail WHERE
(tdsgl_pg_main.id = tdsql_pg_detail.tdsgl _pg_main_id)

(4 rows)

postgres=

o PHRAE—RSINEER

postgres=

CREATE INDEX

EAE—R5 | FHRNEP AL ERER/RRS .
o PHREZRUE—RSINEBRUEERS|, BEEIHE

postgres=

CREATE INDEX

XHEFRTE join EihRELSSHBENWEETES.
o FAENFREIIMNE
B#al TDSQL PostgreSQLAR iFA32#52 DN JMELIER
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=& SQL E9RS

RIEEFATE: 2022-09-27 15:08:51

B OREAYER
78 H3-
drop table if exists bills ;

create table bills
(

serial not null,
goodsdesc text not null,
beginunit text not null,
begincity text not null,
pubtime timestamp not null,
amount float8 not null default 0,
primary key (id)

COMMENT ON TABLE bills is "ZH#ig®";

COMMENT ON COLUMN bills.id IS 'id=";

COMMENT ON COLUMN bills.goodsdesc IS '£841&2%5';
COMMENT ON COLUMN bills.beginunit IS '[Fiz&14";
COMMENT ON COLUMN bills.begincity IS 'Eiztfi";
COMMENT ON COLUMN bills.pubtime IS &7 Ria)";
COMMENT ON COLUMN bills.amount IS iZ%';

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default,'%HR', i8faE",'=1rh','2015-10-05
09:32:01',ROUND

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default,'#Hig&", @E8','=m','2015-10-05
07:21:22',ROUND :

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default,iz#','t@iZ8','=0Bm','2015-10-05
11:21:54',ROUND

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)

VALUES(default, " &B&', 'f®iE&','=Mm','2015-10-05
15:19:17',ROUND
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INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default,'5 0f#%, [B/\{e8IstE' O/RE", = JkH','2015-10-05
07:53:13',ROUND ;

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default,'#8&%52000f", iulf@@s’,' =i Jlkms','2015-10-05
10:38:29',ROUND

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default, iEtZi4380%', jafads’,' = Jlkmk','2015-10-05
10:48:38',ROUND ;

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default, 'hEiZki4 350", iam@E', =i Jlkmm','2015-10-05
10:48:38',ROUND ;

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)

VALUES(default, hEtSki430ME', jal@ads’, =i Jlkrh','2015-10-05
11:38:38',ROUND ;

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default,'i%#&',' Ligh',' £igm','2015-10-05
07:59:35',ROUND

INSERT INTO bills(id,goodsdesc,beginunit,begincity,pubtime,amount)
VALUES(default, &1540MEE 13K EE—F',' Ligrh',' £igh','2015-10-05
08:13:59',ROUND ;

row_number() iBEI{TS, F9HE

postgres=
row_number | id | goodsdesc | beginunit | begincity | pubtime | amount
------------ e T s SRR
1| 1| %R |iBF8 |=TsH |2015-10-05 09:32:01 | 1915.86
2| 2 |BRgE |EEE | =B | 2015-10-05 07:21:22 | 2022.31
(2 rows)

postgres=
row_number | goodsdesc | beginunit | begincity | pubtime
amount
------------ e L T

3| 6|5 0%%F, B/NCEIF | W8 | =iJlkk | 2015-10-05 07:53:13 |
1030.9
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4| 8| KErEHi43 80 | {TE | =iJlkmds | 2015-10-05 10:48:38 | 5365.04
(2 rows)
5.3.1.3, row_number() --iBEI{TS, HamountHfF
postgres=
row_number | id | goodsdesc | beginunit | begincity | pubtime
amount
------------ e S S
111 |iR& | kst | B8t | 2015-10-05 07:59:35 | 971.54
2| 6|5 0%%E, B/)\CEIEFE |TmE | =iJkd | 2015-10-05 07:53:13 |
1030.9
3| 4| B&E |{g@s | =B | 2015-10-05 15:19:17 | 1316.27
41 1| 2Bk |#8Rge | =T | 2015-10-05 09:32:01 | 1915.86
5| 2 | BRIRE | {§288& | =EATF | 2015-10-05 07:21:22 | 2022.31
6| 7| 8&&E2000F | TREE | =iJlkrs | 2015-10-05 10:38:29 | 4182.68
7| 8| HEsZhME38IE | {URIE | =iJikrs | 2015-10-05 10:48:38 | 5365.04
8| 10 | hEsSpiHeE3 ot | {URIE | =iJlkrs | 2015-10-05 11:38:38 | 8290.5
9| 3|i8% | {8588 | =EBtF | 2015-10-05 11:21:54 | 8771.11
10 | 9 | hetSht4350E | {URIE | =iJikrs | 2015-10-05 10:48:38 | 9621.37
11| 5| HR4A0MEF13KFE—W | Lish | LiBh | 2015-10-05 08:13:59 |
9886.15
(11 rows)

row_number() iBE{TS, #& begincity £, pubtime HEFE

postgres=

row_number | id | goodsdesc | beginunit | begincity | pubtime

amount

------------ e S S e S
1| &BR |#8@gE | =T | 2015-10-05 09:32:01 | 1915.86
2 | BINIRE | {824 | =MAts | 2015-10-05 07:21:22 | 2022.31
3 | i1R%, | {884 | =Mt | 2015-10-05 11:21:54 | 8771.11
4| BR | {8384 | =Mt | 2015-10-05 15:19:17 | 1316.27
6|5 0§%F, BI\EEE | Wfd | =illkd | 2015-10-05 07:53:13 |

2| 7| 8$&&2000F | {OfE | =iJlkmds | 2015-10-05 10:38:29 | 4182.68
3| 8| HEtSHM4380E | {O@eE | =ik | 2015-10-05 10:48:38 | 5365.04
4| 9 | HEetShHE350E | jURIE | =iJlkrs | 2015-10-05 10:48:38 | 9621.37
5| 10 | KEZPHE3 oM | {UmIE | =iJlkrs | 2015-10-05 11:38:38 | 8290.5
111 |i&& | Eisds | EigF | 2015-10-05 07:59:35 | 971.54
2| 5| BRAOMEFIKFEE—W | Ligh | £ig | 2015-10-05 08:13:59 |
9886.15
(11 rows)
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rank() iEElTS, MLEESHSTSESHEE, EE1,2,2,4...

postgres=
rank | id | goodsdesc | beginunit | begincity | pubtime | amount
------ e
1| 1| %<8 |#8@9E | =T | 2015-10-05 09:32:01 | 1915.86
1| 2| BRiesE | {|@@E | =E%F | 2015-10-05 07:21:22 | 2022.31
2| 3|18\ | {824 | =MAth | 2015-10-05 11:21:54 | 8771.11
3| 4| &k | {|@s | =M% | 2015-10-05 15:19:17 | 1316.27
1| 6]508%F, B/\®#IEFE |mw@d& | =illkd | 2015-10-05 07:53:13 | 1030.9
2| 7| 8¥&%%2000F | SURSE | =iJigkrbs | 2015-10-05 10:38:29 | 4182.68
3| 8| hEtZhie38NE | {ImIE | =iJlkrs | 2015-10-05 10:48:38 | 5365.04
3| 9 | HEsSkH4 350 | 5@ | =iJkrs | 2015-10-05 10:48:38 | 9621.37
5| 10 | hEetShHE39ME | jARSE | =iJlgkrbs | 2015-10-05 11:38:38 | 8290.5
111 |i8& | kgt | E8%F | 2015-10-05 07:59:35 | 971.54
2| 5| BBA0MFTELIREHE—H | kgt | Eish | 2015-10-05 08:13:59 | 9886.15
(11 rows)

dance_rank() iEE{TS, MtEEERN{TSESEFEE, WEEN,2,2,3...

postgres=

dense_rank | id | goodsdesc | beginunit | begincity | pubtime | amount
------------ e S
1] 1| 3Bk |#8/gs | =Td | 2015-10-05 09:32:01 | 1915.86
1] 2| BRieSE | {8@4E | =B | 2015-10-05 07:21:22 | 2022.31
2| 3|18\ | {884 | =Mt | 2015-10-05 11:21:54 | 8771.11
3| 4| BR | {884 | =Mt | 2015-10-05 15:19:17 | 1316.27
1] 6|50%%, R/NEBIEFE |TRE | =ik | 2015-10-05 07:53:13 |
1030.9
2| 7| 8$F/FEE2000F | {URIE | =iJlkrs | 2015-10-05 10:38:29 | 4182.68
3| 8| iEtShiF38IE | sRsE | =ik | 2015-10-05 10:48:38 | 5365.04
3| 9 | KESHME35E | jURIE | =iJlkrs | 2015-10-05 10:48:38 | 9621.37
4| 10 | KEFSHHE39ME | O@sE | =iJlkms | 2015-10-05 11:38:38 | 8290.5
111 |i8& | kgt | Eist6 | 2015-10-05 07:59:35 | 971.54
2| 5| BREAOMEFELRFE—4W | Eish | LiBd | 2015-10-05 08:13:59 |
9886.15
(11 rows)

percent_rank() MZBIFR, THRESAPRLLH (575 -1) * (1/ (RiCR¥ - 1))

postgres=
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percent rank | id | goodsdesc | beginunit | begincity | pubtime

-------------- T S
0] 17K | 8@ | =T | 2015-10-05 09:32:01 | 1915.86
0| 2 | BHIRE | {@i2d | =BB® | 2015-10-05 07:21:22 | 2022.31
0.5]| 3|i8% | {E28& | =EAF | 2015-10-05 11:21:54 | 8771.11
1| 4| %8 | {8284 | =MAth | 2015-10-05 15:19:17 | 1316.27
0| 6|508%F, B/NIEEIZFE |@RE | =iJlkdm | 2015-10-05 07:53:13 |
1030.9
0.25 | 7 | #&F&E2000Fr | {UEaE | =iJikrds | 2015-10-05 10:38:29 |
4182.68
0.5| 8| hEtShf4380E | sO@ss | =iJikmds | 2015-10-05 10:48:38 |
5365.04
0.75 | 9 | BesZpi43 50 | TREE | =ik | 2015-10-05 10:48:38 |
9621.37
1|10 | KEsSHEE39NE | {TRE | =iJikmds | 2015-10-05 11:38:38 |
8290.5
0| 5| BRA0MEFTI3KFEHE—H | Listh | Eish | 2015-10-05 08:13:59 |
9886.15
111 |iR& | kg5 | E#8® | 2015-10-05 07:59:35 | 971.54
(11 rows)

cume_dist() EEI{TEHRLLCTEIE

postgres=

cume_dist | id | goodsdesc | beginunit | begincity | pubtime | amount
----------- e e S ety s CEEE e

1.00 | 1| 7<BR | g8 | =T | 2015-10-05 09:32:01 | 1915.86

0.33| 2 | BHIRE | {8528 | =EBTF | 2015-10-05 07:21:22 | 2022.31

0.67 | 3 |i®& | {884 | =Mt | 2015-10-05 11:21:54 | 8771.11

1.00| 4| E& | {E#e | =EgfF | 2015-10-05 15:19:17 | 1316.27

0.20| 6|5 0f%F, B/\#e#IFE |@maEa |=iJikd | 2015-10-05 07:53:13 |
1030.9

0.40 | 7 | 8¥&F#E2000F | {URIE | =iJlkrs | 2015-10-05 10:38:29 |
4182.68

0.60 | 8 | KEfSHH438ME | SAREE | =il | 2015-10-05 10:48:38 | 5365.04

0.80 | 9 | KEsShHE350E | {URIE | =iJlkrs | 2015-10-05 10:48:38 | 9621.37

1.00 | 10 | hEtShfE39m | {ORE | =iJlkmds | 2015-10-05 11:38:38 | 8290.5

0.50 | 5| HERA0MEF1IRKFEE—W | Ligs | LB | 2015-10-05 08:13:59 |
9886.15

1.00 | 11 | g% | kgt | Ei8%F | 2015-10-05 07:59:35 | 971.54
(11 rows)
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ntile(2EHE) iLFABICRETLINBISNT

postgres=
ntile | id | goodsdesc | beginunit | begincity | pubtime | amount
------- e S S e e SEEEEEE
1 | &R | #8@IE | =T | 2015-10-05 09:32:01 | 1915.86
2 | BRS | g | =EgfF | 2015-10-05 07:21:22 | 2022.31
3|18\ | {828 | =Mgth | 2015-10-05 11:21:54 | 8771.11
4| T8 |{|@s | =M% | 2015-10-05 15:19:17 | 1316.27
6|5 08%F, BF/\ICBLE |WiE | =iJlkd | 2015-10-05 07:53:13 | 1030.9
7 | B$&%2000F | JURSE | =iJlkrh | 2015-10-05 10:38:29 | 4182.68
8 | hEIZHH43 8% | {OmE | =iJlkrs | 2015-10-05 10:48:38 | 5365.04
9 | BEfSHHE35ME | {UmE | =ik | 2015-10-05 10:48:38 | 9621.37
2 | 10 | hEtShHe390E | AR | =iJlkds | 2015-10-05 11:38:38 | 8290.5
1] 5| BRAOMFELINREE—H | Eish | £iBF | 2015-10-05 08:13:59 |
9886.15
211 | iR% | Eisds | EisdF | 2015-10-05 07:59:35 | 971.54
(11 rows)

postgres=
ntile | id | goodsdesc | beginunit | begincity | pubtime | amount
------- e S S Eat e
1 | 2<BR | #8@8E | =W | 2015-10-05 09:32:01 | 1915.86
2 | BRE |{|@EE | =M% | 2015-10-05 07:21:22 | 2022.31
3| iR% | {fEE2& | =EgFF | 2015-10-05 11:21:54 | 8771.11
4| T8 | {|@s | =M% | 2015-10-05 15:19:17 | 1316.27
6|5 0F%F, B/I\$E#NE |WfE | =iJkd | 2015-10-05 07:53:13 | 1030.9
7 | B$&TE2000F | jARSE | =iJlkrls | 2015-10-05 10:38:29 | 4182.68
8 | HEsSHHE38NE | {UmE | =ik | 2015-10-05 10:48:38 | 5365.04
9 | BEFSHHE 350 | URIE | =ik | 2015-10-05 10:48:38 | 9621.37
3| 10 | hEtShie390E | AR | =iJlkds | 2015-10-05 11:38:38 | 8290.5
1] 5| BEAOMFLIREE—W | Ligh | kigd | 2015-10-05 08:13:59 |
9886.15
2|11 | &% | kst | Ei§th | 2015-10-05 07:59:35 | 971.54
(11 rows)

lag(value any [, offset integer [, default any]] ) ;EE{#ISE{E
offset integer 2R #{E, EHAIENEIE, RHEGEE, KBNEERA default (X&.

postgres=

goodsdesc | beginunit | begincity | pubtime | amount
--------- T L
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| 1| %&bk |88 | =¥ | 2015-10-05 09:32:01 | 1915.86

| 2 | BHIRE |{@@& | =Bt | 2015-10-05 07:21:22 | 2022.31
2022.31 | 3 | g% | {8384 | =MAts | 2015-10-05 11:21:54 | 8771.11
8771.11 | 4 | &% | {@iEs | =Bg® | 2015-10-05 15:19:17 | 1316.27

| 6|5 08%F, B/\LBIE |@Ed | =illkd | 2015-10-05 07:53:13 | 1030.9
1030.9 | 7 | 8$&#E2000Fr | jURsd | =ik | 2015-10-05 10:38:29 |
4182.68
4182.68 | 8 | nEtSKIf4380E | {UREE | =iJlkds | 2015-10-05 10:48:38 |
5365.04
5365.04 | 9 | iEtSki4351% | {@mE | =ik | 2015-10-05 10:48:38 |
9621.37
9621.37 | 10 | HEFSHMIE3OME | sURsd | =ik | 2015-10-05 11:38:38 |
8290.5

| 5| HEBR40MFTLIREHE—W | Ligsth | Lisd | 2015-10-05 08:13:59 |
9886.15
9886.15 | 11 | i88& | kg5 | Ei8® | 2015-10-05 07:59:35 | 971.54
(11 rows)

postgres=
| goodsdesc | beginunit | begincity | pubtime | amount

--------- e e
0] 1| 4R | 8’58 | =¥ms | 2015-10-05 09:32:01 | 1915.86

0| 2| EHigH | {8288 | =EAth | 2015-10-05 07:21:22 | 2022.31

0| 3|i18% | {EE@d | =M% | 2015-10-05 11:21:54 | 8771.11
2022.31| 4| &5 | {8588 | =EB7F | 2015-10-05 15:19:17 | 1316.27

0| 6|50F%F, B/I\KE#LEFE |TdE | =iJkd | 2015-10-05 07:53:13 |
1030.9

0| 7| 8&&2000F | 5@ | =ik | 2015-10-05 10:38:29 | 4182.68
1030.9 | 8 | KEsShiE380E | {O@eE | =ik | 2015-10-05 10:48:38 | 5365.04
4182.68 | 9 | KEFSHI4350E | {URIE | =iJlkrs | 2015-10-05 10:48:38 |
9621.37
5365.04 | 10 | hEFSHi4390 | sO@sE | =iJikmds | 2015-10-05 11:38:38 |
8290.5

0] 5| HRA0MEFTIRKFEE—W | £igs | £EiBs | 2015-10-05 08:13:59 |

9886.15
0]11]i8% | g6 | Ei87F | 2015-10-05 07:59:35 | 971.54
(11 rows)

postgres=
goodsdesc | beginunit | begincity | pubtime | amount
--------- S S

0] 1|%BR& |#8@s8 | =¥m | 2015-10-05 09:32:01 | 1915.86
1316.27 | 2 | BAIRE | {|#a | =E%F | 2015-10-05 07:21:22 | 2022.31
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0| 3|8\ | {8288 | =Egth | 2015-10-05 11:21:54 | 8771.11
0] 4|k |{|@EE | =M% | 2015-10-05 15:19:17 | 1316.27
5365.04 | 6|5 0%%F, B/\$ESE |TEsdE | =iJikm | 2015-10-05 07:53:13 |
1030.9
9621.37 | 7 | #¥&F%%2000F | {IREE | =iJigrs | 2015-10-05 10:38:29 |
4182.68
8290.5 | 8 | HEFShHE3 8% | @& | =ik | 2015-10-05 10:48:38 | 5365.04
0| 9 | KEsSkiE350E | {UmIE | =iJlgkrs | 2015-10-05 10:48:38 | 9621.37
0| 10 | BEfZhH4390% | sU@sd | =ik | 2015-10-05 11:38:38 | 8290.5
0| 5| BEA0MFELIREE—W | kst | Lish | 2015-10-05 08:13:59 |
9886.15
011 |i8F | kst | Ei§tF | 2015-10-05 07:59:35 | 971.54
(11 rows)

lead(value any [,offset integer [, default any]] ) iEEl{w#R{E
offset integer 2R #{H, EHAIENEE, HAEHAIEGEIE, KBNEERA default (X&.

postgres=

goodsdesc | beginunit | begincity | pubtime | amount
--------- T s St S e SRRt
| 1| %&b |#8@s8 | =¥ | 2015-10-05 09:32:01 | 1915.86
1316.27 | 2 | BHiIRE | {|@a | =Eg%F | 2015-10-05 07:21:22 | 2022.31
| 3|iR&% | {828 | =EAts | 2015-10-05 11:21:54 | 8771.11
| 4| &R | {828 | =Mth | 2015-10-05 15:19:17 | 1316.27
5365.04 | 6|5 0F%F, F/I\EENEF |TEE | =ik | 2015-10-05 07:53:13 |
1030.9
9621.37 | 7 | 8$&%2000FF | [REE | =ik | 2015-10-05 10:38:29 |
4182.68
8290.5 | 8 | HEFSHi{4:38ME | jARgd | =il | 2015-10-05 10:48:38 | 5365.04
| 9 | KEsShHeE350E | /s | =iJlkds | 2015-10-05 10:48:38 | 9621.37
| 10 | HEsZhiH439oms | jURIE | =iJlkrs | 2015-10-05 11:38:38 | 8290.5
| 5| BEAOMFELINREE—W | Eish | LiBH | 2015-10-05 08:13:59 |
9886.15
| 11 | 88 | kgt | Ei8®F | 2015-10-05 07:59:35 | 971.54
(11 rows)

postgres=

| goodsdesc | beginunit | begincity | pubtime | amount
--------- e el (RS
| 1| %&b |#8@s8 | =¥ | 2015-10-05 09:32:01 | 1915.86
| 2 | BRIRE | {E@E | =Mt | 2015-10-05 07:21:22 | 2022.31
| 3 |i8% | {8284 | =M8th | 2015-10-05 11:21:54 | 8771.11
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2022.31 | 4 | &8 | {4 | =E%F | 2015-10-05 15:19:17 | 1316.27

| 6|5 0%%F, B/\ge@stE |WEE | =iJkmd | 2015-10-05 07:53:13 | 1030.9

| 7 | B$F%E2000F | jUREE | =iJigrb | 2015-10-05 10:38:29 | 4182.68
1030.9 | 8 | KesShie380E | {O@eE | =ik | 2015-10-05 10:48:38 | 5365.04
4182.68 | 9 | KEFSHI4350E | {URIE | =iJlkrs | 2015-10-05 10:48:38 |
9621.37
5365.04 | 10 | hEFSHMiE3 90 | {TRE | =ik | 2015-10-05 11:38:38 |
8290.5

| 5| BEAOMELNRFE—W | Eish | LiBH | 2015-10-05 08:13:59 |
9886.15

| 11 | 8% | g6 | Ei8TF | 2015-10-05 07:59:35 | 971.54
(11 rows)

first_value(value any) iEEI$—{&

postgres=

first_value | id | goodsdesc | beginunit | begincity | pubtime | amount
------------- e el L

1915.86 | 1 | &BR | #8RI& | =Tk | 2015-10-05 09:32:01 | 1915.86

2022.31 | 2 | BHIRE | {8Ed& | =EgF | 2015-10-05 07:21:22 |
2022.31

2022.31| 3 |i&& | {8284 | =B | 2015-10-05 11:21:54 | 8771.11

2022.31 | 4| &1H | @& | =M% | 2015-10-05 15:19:17 | 1316.27

1030.9| 6|5 0%, B/I\&#dE |TEE | =iJkk | 2015-10-05 07:53:13 |
1030.9

1030.9 | 7 | 8¥$&/&HE2000F | {UfE | =ik | 2015-10-05 10:38:29 |
4182.68

1030.9 | 8 | KEiSpHE38NE | {UmE | =iJigrds | 2015-10-05 10:48:38 |
5365.04

1030.9 | 9 | KEsShHE35M1E | {UmIE | =iJikrs | 2015-10-05 10:48:38 |
9621.37

1030.9 | 10 | WEsSh4390% | {URE | =ik | 2015-10-05 11:38:38 |
8290.5

9886.15 | 5 | EHEEA0MFR13KEE—4 | Ligsth | Ligd | 2015-10-05 08:13:59 |
9886.15

9886.15 | 11 | 8% | kst | Ei8TF | 2015-10-05 07:59:35 | 971.54
(11 rows)

last_value(value any) iBEHRIG{E

postgres=

last value | id | goodsdesc | beginunit | begincity | pubtime | amount
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1915.86 | 1 | &R | #SmI& | =T | 2015-10-05 09:32:01 | 1915.86

2022.31 | 2 | BHIRE | {E2& | =Bt | 2015-10-05 07:21:22 | 2022.31

8771.11 | 3 | &% | {g&@s | =E%F | 2015-10-05 11:21:54 | 8771.11

1316.27 | 4 | &8 |84 | =Bth | 2015-10-05 15:19:17 | 1316.27

1030.9 | 6|5 0%, B/\ENE |A@E | =iJikds | 2015-10-05 07:53:13 |
1030.9

4182.68 | 7 | i$&F§E2000Fr | {UmIE | =iJlkrs | 2015-10-05 10:38:29 |
4182.68

9621.37 | 8 | hEsZk4380 | {@mE | =iJlkd | 2015-10-05 10:48:38 |
5365.04

9621.37 | 9 | KEFEHHE35NE | SARE | =iJlkds | 2015-10-05 10:48:38 |
9621.37

8290.5 | 10 | KESSHHEF39ME | {UfE | =ik | 2015-10-05 11:38:38 |
8290.5

971.54 | 11 | && | Eisth | Eisd | 2015-10-05 07:59:35 | 971.54

9886.15 | 5 | HWAOMFEL3RE4E—4H | Listh | £S5 | 2015-10-05 08:13:59 |
9886.15
(11 rows)

postgres=
last_value | id | goodsdesc | beginunit | begincity | pubtime | amount
------------ e T L

1915.86 | 1 | &BR | @8 | =Trh | 2015-10-05 09:32:01 | 1915.86

1316.27 | 2 | @RIRE | |8 | =E%F | 2015-10-05 07:21:22 | 2022.31

1316.27 | 3| i&& | {|@@4E | =Eg%F | 2015-10-05 11:21:54 | 8771.11

1316.27 | 4| E15 | {828 | =EAF | 2015-10-05 15:19:17 | 1316.27

9621.37 | 7 | 8¥&F#E2000F | {UmIE | =iJlkrs | 2015-10-05 10:38:29 |
4182.68

9621.37 | 10 | HesEHE3ONE | RS | ={Jlkms | 2015-10-05 11:38:38 |
8290.5

9621.37 | 6|5 0%%F, B/\®EIE |Oma | =iJkd | 2015-10-05 07:53:13 |
1030.9

9621.37 | 8 | KE¥SHHEE380% | U8 | =ik | 2015-10-05 10:48:38 |
5365.04

9621.37 | 9 | KESRHE3 5T | TRE | =ik | 2015-10-05 10:48:38 |
9621.37

971.54 | 5| BRA0MEFT1I3KFEHE—H | Lists | Eisd | 2015-10-05 08:13:59 |
9886.15

971.54 | 11 | ig&& | Eisth | Eisd | 2015-10-05 07:59:35 | 971.54
(11 rows)

ESFENLE order by id, BABRT, #7 order by 2H&NSERRIMEFIR—ESN, BFIZHAE (F
EHEcHE ) FEAL, X2 order by SHNI2E/N 94,
THESELDENSITEEMILAER order by 28 El&REHE.
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postgres=

last_value | id | goodsdesc | beginunit | begincity | pubtime | amount
------------ e S

1915.86 | 1 | &R | #SmI& | =T | 2015-10-05 09:32:01 | 1915.86

1316.27 | 2 | BHigE | {E2& | =B | 2015-10-05 07:21:22 | 2022.31

1316.27 | 3 | i&& | {|&@s | =E%F | 2015-10-05 11:21:54 | 8771.11

1316.27 | 4 | 5 | {884 | =Bth | 2015-10-05 15:19:17 | 1316.27

8290.5| 6|5 O%F%F, F)\VICEIE |TR& | =iJlkdk | 2015-10-05 07:53:13 |
1030.9

8290.5 | 7 | #$&F§E2000Fr | {UmIE | =iJikrs | 2015-10-05 10:38:29 |
4182.68

8290.5 | 8 | HeEZpe380 | {@mE | =iJkkdh | 2015-10-05 10:48:38 |
5365.04

8290.5 | 9 | KEISHHE351E | {AI@E | =iJlgErs | 2015-10-05 10:48:38 |
9621.37

8290.5 | 10 | KE¥SHHEF39ME | W& | =iJlkmd | 2015-10-05 11:38:38 |
8290.5

971.54 | 5 | BRAOMFIRKFHE—WH | Lkiss | EBH | 2015-10-05 08:13:59 |
9886.15

971.54 | 11 | i®#& | kgt | Ei8TF | 2015-10-05 07:59:35 | 971.54
(11 rows)

nth_value(value any, nth integer): EEI&ROELRPIIEEE

postgres=

nth_value | id | goodsdesc | beginunit | begincity | pubtime | amount
----------- e S S S S
| 1| &R |#8md | =T | 2015-10-05 09:32:01 | 1915.86
| 2 | BRIRE |{§288 | =EAth | 2015-10-05 07:21:22 | 2022.31
8771.11 | 3 |ig% | {|#& | =E%F | 2015-10-05 11:21:54 | 8771.11
8771.11 | 4 | &8 |{|@@E | =B%F | 2015-10-05 15:19:17 | 1316.27
| 6|5 0%%F, BF/\iBYE |w@sd | =illkm | 2015-10-05 07:53:13 |
1030.9
4182.68 | 7 | B¥&EEHE2000Fr | W& | =ik | 2015-10-05 10:38:29 |
4182.68
4182.68 | 8 | KEfSki4380E | {UmRIE | =iJlkrs | 2015-10-05 10:48:38 |
5365.04
4182.68 | 9 | KetShE350E | {URIE | =iJikrs | 2015-10-05 10:48:38 |
9621.37
4182.68 | 10 | KesSHi4390% | URE | =ik | 2015-10-05 11:38:38 |
8290.5
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| 5| BERAOMFLIREHE—T | Ligh

9886.15

971.54 | 11 | i&

(11 rows)

| Ligmh | ki

FitEMNRBRCIER R RSN

postgres=

__________ S D

1915.86 |

12109.69 | 4036.56333333333 | =B
12109.69 | 4036.56333333333 | =B
12109.69 | 4036.56333333333 | =B8h

28490.49 |
28490.49 |
28490.49 |
28490.49 |
28490.49 |
10857.69 |
10857.69 |
(11 rows)

BEORMEIEER

postgres=

__________ SR

1915.86 |

12109.69 | 4036.56333333333 | =B
12109.69 | 4036.56333333333 | =B
12109.69 | 4036.56333333333 | =BBih

28490.49 |
28490.49 |
28490.49 |
28490.49 |
28490.49 |
10857.69 |
10857.69 |
(11 rows)

| begincity | amount

__________ s T —

1915.86 | =¥ | 1915.86

| 2022.31
| 8771.11
| 1316.27
5698.098 | =jJigkrks | 4182.68
5698.098 | =jJigks | 8290.5
5698.098 | =jJigkrs | 1030.9
5698.098 | =jJigkrs | 5365.04
5698.098 | =jJlkrs | 9621.37
5428.845 | kifgth | 9886.15
5428.845 | Eisth | 971.54

| begincity | amount

__________ T

1915.86 | =¥ | 1915.86

| 2022.31
| 8771.11
| 1316.27
5698.098 | =jJigkrks | 4182.68
5698.098 | =jJigkds | 8290.5
5698.098 | =jJigkrs | 1030.9
5698.098 | =jJigkrks | 5365.04
5698.098 | =jJikrs | 9621.37
5428.845 | kifgth | 9886.15

5428.845 | Eisth | 971.54

WRIFRE: BRRITE (bR ) ARSEEAE

| Lig
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| 2015-10-05 08:13:59 |

| 2015-10-05 07:59:35 | 971.54
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RS MEHIEREIAEITS

postgres=
row_number | goodsdesc | beginunit | begincity | pubtime
------------ e T L

1] 1| %<BR i =5 | 2015-10-05 09:32:01 | 1915.86
1| 3|i8% | =@ | 2015-10-05 11:21:54 | 8771.11

2| 2| BEiRS | {8528 | =EBTF | 2015-10-05 07:21:22 | 2022.31
1| 9| HEsSk4350% | SAREE | =il | 2015-10-05 10:48:38 | 9621.37
2| 10 | hEtZhiHe3 o | {mRIE | =iJlkrs | 2015-10-05 11:38:38 | 8290.5
1| 5| BRIOEFLRFEE—W | Lish | Ligd | 2015-10-05 08:13:59 |
9886.15
2|11 8% | ki | Eisth | 2015-10-05 07:59:35 | 971.54
(7 rows)
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PL:pgsql F%&
NAEREENE

SIFEHEED: 2023-08-09 15:02:01
B RMIRE

CREATE [OR REPLACE] FUNCTION [#23x{&. 1ER#®E ((S8HiE (583 ] HiEEER [default ER
tME] [,...1]1) RETRUNS [SETOF] #2838 AS
[H72]
[DECLARE
- TEENX]
BEGIN
--iERg
IFEREY
- BT
END;
[#72]
LANGUAGE PLPGSQL;

[OR REPLACE] EfEHNA

OR REPLACE R{ERASRBFERNER, 23 PL/pgsql BEETMNEFRT OR REPLACE X%, W&z
RYEEFE, RASRE, WTFAR:

postgres=
prosrc

RAISE NOTICE 'tdsqgl_pg';+
END; A+

(1 7iCR)

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'Hello ,tdsql pg’;
postgres END;

postgres

postgres-
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ERROR: function "f" already exists with same argument types
postgres=
postgres-
postgres BEGIN
postgres RAISE NOTICE 'Hello ,tdsql pg’;
postgres END;
postgres
postgres-
CREATE FUNCTION
postgres=
prosrc

RAISE NOTICE 'Hello ,tdsqgl pg';+
END; +

(1 17icR)

postgres=
NOTICE: Hello ,tdsql _pg

(1 7iCR)

RS, | BB ENE

BURYETR, EXRALMEE, BAUREE, FEFEUEHRESIENT, W EEflFmieaiaeiRs, U
MERESRIRAT, MTAR:

postgres=
nspname | nspowner |

pg_toast

pg_temp_1

pg_toast temp 1 |

pg_catalog | 10 | {postgres=UC/postgres,=U/postgres}
public | 10 | {postgres=UC/postgres,=UC/postgres}
information_schema | 10 | {postgres=UC/postgres,=U/postgres}
(6 1TICR)

postgres=
search_path
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"Suser",public
(1 f7ieR)

postgres=

pg_proc.pronamespace=pg_namespace.oid and pg_proc.proname="f";
nspname | prosrc

_________ S
+
| BEGIN +
|  RAISE NOTICE 'Hello ,tdsql pg';+
| END; +
|
(1 f7icR)

B $user EXFRZFTE, FRLAFTE public £,
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SEFHENE

IEEFATE: 2022-09-02 15:30:29

syEl

SHIEXSHE=H, SR INEASE, XIP2RIABN). OUT(REESE). INOUT(EANEREESE),
TERNMEXNASEEXRE.

IN =z
IN BN SR ITRBRIFEMASYE, WTFFHAx.

postgres=

postgres-

postgres BEGIN

postgres RETURN a_xm;
postgres END;

postgres

postgres-

CREATE FUNCTION
postgres=

postgres=

(1 17iER)
postgres=
postgres-
postgres BEGIN
postgres RETURN a_xm;
postgres END;
postgres
postgres-
CREATE FUNCTION
postgres=
postgres=

(1 7icR)

LEAHGAEXISEERE—HR.
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OUT &0
OUT EXSHEIEE T RBHTIHEEINFRERER,

postgres=

postgres-

postgres BEGIN

postgres a_xm:='tdsql_pg';
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

(1 17icR)

XM OUT {22 AEEMA RETURN iREl, MEREMREN OUT SHEEWE., BREEXESSHAIEIESE
VE—H. SHEMRERENFRSE

INOUT #&=0

INOUT #EXEIESHEMEN,, RRIIEE T REERIFRATIEE,

postgres=
postgres-
postgres BEGIN
postgres END;
postgres
postgres-
CREATE FUNCTION
postgres=
postgres=

(1 7icR)

[EFEENE, LANRMIRTENREZERN, MEREXSESE

postgres=
postgres-
postgres BEGIN
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postgres RETURN 'tdsql pg’;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

(1 7icR)

VARIADIC #={

VARIADIC EHXR2SH I HATEN, RER—THAMEANSEHITLE, VARIADIC SHUEERERE
— BB, TR

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'a_int = %',a_int;
postgres RAISE NOTICE 'a int[1] = %',a_int[1];
postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: a_int = {1}

NOTICE: a int[1] =1

fl

(1 17icH)

postgres=

NOTICE: a_int = {1,2}
NOTICE: a_ int[1] =1
fl

(1 17iCR)

postgres=
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postgres-

postgres BEGIN

postgres RAISE NOTICE ‘'a_int = %',a_int;
postgres RAISE NOTICE 'a_int[1] = %',a_int[1];
postgres RAISE NOTICE 'a xm = %',a_xm;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: a_int = {1,2}

NOTICE: a_int[1] =1

NOTICE: a_xm = tdsql_pga

fl

(1 17icR)

285|H

PL/pgsql REEISHRLAS, 2R MR RSHITER, BZFGRSY, MUASHNEXTLURETENSR.

XaZsy

postgres=
postgres-

postgres BEGIN
postgres RETURN
postgres END;
postgres

postgres-

CREATE FUNCTION
postgres=
postgres=

(1 7iCR)

BIFRHEERNS

postgres=
postgres-
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postgres DECLARE

postgres a_xm ALIAS FOR $1; --a_xmz&
postgres BEGIN

postgres RETURN a_xm;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

postgres=

postgres-

postgres DECLARE

postgres v_xm ALIAS FOR

postgres BEGIN

postgres RAISE NOTICE 'a xm = % ; v.Xxm = % ; $1 = %',a_xm,v_xm,$1;
postgres RETURN

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: a_xm = tdsqgl pg ; v.xm = tdsql_pg ; = tdsql_pg

(1 {7iCR)

SHNEAn

EEEBY (T LABIEINENT), AJMAREARSER, SEABY, R, R, HETLISIRA— 1M NERER., FERER
(BBIIATEERARIMAISERY) . EALARSSHER anyelement. anyarray, tBAJLAREMEIREBINIEARR

EA2R
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postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'a_int = % ; a_str = %',a_int,a_str;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: a_int = 1 ; a_str = tdsql_pg

f3

(1 17icR)

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE ‘a_int = % ; a_str = %',a_int,a_str;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: a_int = {1,2,3} ; a_str = {tdsql _pg,pgxz}

f3

(1 {7iER)

postgres=

postgres-

postgres(

postgres(

postgres(

ERROR: type "t per" already exists

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'id = % ; mc = %',a_row.id,a_row.mc;
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postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: ; = tdsql_pg
f3

(1 17icH)
postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'a rec = %',a_rec;
postgres RAISE NOTICE ‘'a rec[1].id = %',a_rec[1].id;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: a rec = {"(1,tdsql_pg)","(1,pgxz)"}
NOTICE: a_rec[l].id =1

f3

(1 7icR)

postgres=
#FHE "public.t"
= | BRI | {Efmid
______ B
| integer |
| text |

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'id = % ; mc = %',a_row.id,a_row.mc;
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postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: ; = tdsql_pg
f3

(1 7iCR)

postgres=
NOTICE: ; = tdsql_pg
f3

(1 17icR)

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'a rec = %',a_rec;
postgres RAISE NOTICE ‘a_rec[1].id = %',a_rec[1].id;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: a rec = {"(1,tdsql_pg)","(1,pgxz)"}
NOTICE: a_rec[l].id =1

f3

(1 7icR)

postgres=

NOTICE: a_rec = {"(1,tdsqgl_pg)","(1,tdsql_pg)"}
NOTICE: a_rec[l].id =1

NOTICE: a_rec = {"(2,pgx2z)","(2,pgxz)"}
NOTICE: a_rec[l].id = 2

f3
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(2 17iCR)

oS

postgres=
postgres-
postgres(
postgres(
postgres(
postgres(

CREATE DOMAIN
postgres=
postgres=
postgres-

postgres BEGIN
postgres RAISE NOTICE 'a_xb = %',a_xb;
postgres END;
postgres

postgres-

CREATE FUNCTION
postgres=
postgres=

NOTICE: a xb = B8
f4

(1 7iCR)

postgres=
ERROR: value for domain xb violates check constraint "xb_check"
postgres=

BB ASHERSKEREEERMAN
iy e S

postgres=

postgres-

postgres DECLARE

postgres V_rec record;

postgres BEGIN

postgres OPEN a_ref FOR SELECT * FROM t LIMIT 1;
postgres FETCH a_ref INTO v_rec;

postgres RAISE NOTICE 'v_rec = % ',v_rec;
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postgres END;

postgres

postgres-

CREATE FUNCTION
postgres=

postgres=

NOTICE: v_rec = (1,tdsql _pg)
f5

(1 17icH)
postgres=

postgres-

postgres BEGIN

postgres OPEN a_ref FOR SELECT * FROM t LIMIT 1;
postgres RETURN a_ref;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

BEGIN

postgres=

f6

a

(1 17iER)

postgres=

|

R
1| tdsql_pg

(1 17iER)

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE '%',a_arg;
postgres$# END;
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postgres

postgres-

CREATE FUNCTION
postgres=
postgres=
NOTICE: 1

(1 7icR)

postgres=
NOTICE: tdsql pg

(1 7iCR)

postgres=
NOTICE: (1,tdsql_pg)

(1 7icR)

postgres=
NOTICE: {1,2}

postgres=
NOTICE: {{1,2},{3,4},{5,6}}

(1 7icR)

ISR SHRNAANRIFERSIPASHEE, BNFEREEHE,

postgres=

postgres-
postgres BEGIN
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postgres

RAISE NOTICE '%',a_arg;
END:;

TDSQL PostgreSQLKR

postgres

postgres-

CREATE FUNCTION
postgres=

postgres=

NOTICE: {tdsql _pg,pgxz}
f any array

(1 17iEx)
postgres=

NOTICE: {{tdsql pg,pgxz},{tdsqgl pg,Tencent}}
f any_array

(1 7iCR)

Anyelement 2¥INEE/MEHE, HENGIE anyarray 28—, Bkl f_any(a_arg anyelement) 5

f_any(a_arg anyarray) £ f_any(ARRAY[1,2]) IS B MBS~ 2H—LAYEIR (ERROR:
function f_any(-+*) is not unique) &7%-

SHENME
PL/pgsql # BiESREBIFESEHISERAME.

postgres=

postgres-
postgres BEGIN
postgres RAISE NOTICE 'a_int = %',a_int;
postgres END;
postgres
postgres-

CREATE FUNCTION
postgres=
postgres=
NOTICE: a int =1
f7

WRIFRE: BRRITE (bR ) ARSEEAE 56161 #2541
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&it: MREREFE— 7() ZEHRY, N EESHTREHE, BARREEZEBINZNITII R, WA

No

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'B&%1';
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

ERROR: function f7() is not unique
SE113SELECT * FROM f7();

Ve

$27<: Could not choose a best candidate function. You might need to explicit type
casts.
postgres=

HiERR, 7() BREA2E—H, XRERA L FESIESHS .

WRIFRE: BRRITE (bR ) ARSEEAE 58162 #2541\
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REHEFH A

BIFEHATE: 2023-05-22 10:09:47
BEHETME

BREERIAR— N ERHIEXRE, E53%8 . RECORD. ELFHEMNRITER . RFRIER. FiR. BINERILL
BE—MeRE. MRAFEEREIE, WAIEAR RETURN void. REHEFERERERTLIFESE OUT.
INOUT t&=tsh7=HA.

IEEHS R 147
RIS

postgres=

postgres-

postgres BEGIN

postgres RAISE NOTICE 'FHIREIH, REFEILAIBZHZREreturnisa’;
postgres RETURN ;--iX—aIaJLAT, tBellligh
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

NOTICE: FHIRENE, REHEILIBHxRAreturniEa
f8

(1 17icR)

pACI L S

postgres=

postgres-

postgres BEGIN

postgres RETURN ‘tdsql pg’;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

WRIFRE: BRRITE (bR ) ARSEEAE 58163 #2541\
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(1 7iCR)

postgres=
postgres=
postgres-
postgres BEGIN
postgres a_xm:='tdsql_pg’;
postgres$# END;
postgres
postgres-
CREATE FUNCTION
postgres=
postgres=

(1 7iCR)

FHEATREESERER—T R, ZUMEFRIM OR REPLACE N&RTRE&EEF .

postgres=

postgres-

postgres BEGIN

postgres RETURN ARRAY['tdsql pg','pgxz'];
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

{tdsql_pg,pgxz}
(1 f7iER)

EE—E5%KE

postgres=
postgres-
postgres(
postgres(
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postgres(
CREATE TYPE
postgres=
postgres=
postgres-
postgres DECLARE
postgres V_rec public.t_rec;
postgres BEGIN
postgres v_rec.id:=1;
postgres v_rec.mc='tdsqgl_pg’;
postgres RETURN v_rec;
postgres END;
postgres
postgres-
CREATE FUNCTION
postgres=
postgres=
|

——

1| tdsql_pg
(1 17iER)

postgres=

postgres-

postgres BEGIN

postgres RETURN ARRAY[ROW(1,'tdsql pg'),ROW(1,'pgxz')]::t_rec[];
postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

{"(1,tdsql_pg)","(1,pgxz)"}
(1 17iE®)

BEIf52ER

postgres=
#FHE "public.t"
= | B3 | (Eimia
______ dhecrerrrendbecrerers
| integer |
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postgres=
postgres-
postgres DECLARE
postgres v_rec public.t%ROWTYPE;
postgres BEGIN
postgres SELECT * INTO v_rec FROM public.t LIMIT 1;
postgres RETURN v_rec;
postgres END;
postgres
postgres-
CREATE FUNCTION
postgres=
postgres=
|

e bomomme

1 | tdsql _pg
(1 17iER)

postgres=

postgres-

postgres DECLARE
postgres V_rec public.t[];
postgres BEGIN

postgres SELECT ARRAY[ROW(t.*),ROW(t.*)]::public.t[] INTO v_rec FROM public.t
LIMIT 1;

postgres RETURN v_rec;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

{"(1,tdsql_pg)","(1,tdsql_pg)"}
(1 17iER)

iE[E TABLE 28!

postgres=
DROP FUNCTION
postgres=
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postgres-

postgres BEGIN

postgres RETURN QUERY SELECT 1::integer,'tdsqgl pg'::Text;
postgres END;

postgres$# $$LANGUAGE plpgsql;

CREATE FUNCTION

postgres=

______ S

1 | tdsql _pg
(1 row)

iZ[E] RECORD 28!

postgres=

postgres-

postgres DECLARE
postgres v_rec RECORD;
postgres BEGIN

postgres v_rec:=ROW(1::integer,'tdsql pg'::text,'pgxz'::text);
postgres RETURN v_rec;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

(1,tdsql_pg,pgxz)
(1 171ex)

postgres=

R S RIS

1| tdsql_pg | pgxz
(1 17iE%)

postgres=

postgres-

postgres DECLARE
postgres v_ref refcursor;
postgres BEGIN

WRIFRE: BRRITE (bR ) ARSEEAE 58167 #2541\




postgres
postgres
postgres
postgres
postgres-

OPEN v_ref FOR SELECT * FROM public.t;
RETURN v_ref;
END;

CREATE FUNCTION

postgres=
postgres=
BEGIN

postgres=
postgres=

<unnamed portal 1>

(1 7iCR)

postgres=

m———t e

1| tdsql_pg

2 | pgxz
(2 17iEH)
postgres=

postgres=

postgres-
postgres
postgres
postgres
postgres
postgres
postgres-

BEGIN
OPEN a_ref FOR SELECT * FROM public.t;
RETURN a_ref;

END;

CREATE FUNCTION

postgres=
postgres=
BEGIN

postgres=

(1 7iCR)

postgres=

WRIFRE: BRRITE (bR ) ARSEEAE
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1| tdsql_pg

2 | pgxz
(2 f7iER)

postgres=
COMMIT

BELCRE

postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

BEGIN

RETURN NEXT 'tdsqgl pg'::text;

RETURN NEXT 'pgxz'::text;

RETURN --E=fSHIRETURNTBILANN, tBEILARINLE
END;

CREATE FUNCTION

postgres=
postgres=

(2 17iCR)

postgres=
postgres=
postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

DECLARE

--EEfTEEEE

v_rec public.t%ROWTYPE;
BEGIN

FOR v_rec IN SELECT * FROM t ORDER BY icd LOOP

RETURN NEXT v_rec;

END LOOP;

RETURN ;--E=/GRIRETURNBILANN, tBRILAARINLE
END;

CREATE FUNCTION

WRIFRE: BRRITE (bR ) ARSEEAE
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postgres=
postgres=
|
cerodberereres
1| tdsql_pg
2 | pgxz
(2 17iER)

postgres=
FHRE "public.t1"
=G| BR | (2ihid

| integer
yhm | text
| text
mm | character(32) | JE==
#5l:
“tl pkey" PRIMARY KEY, btree (id)
"t1 yhm key" UNIQUE CONSTRAINT, btree (yhm)

postgres=
postgres-
postgres DECLARE
postgres --EHBEE X MNEEERIR(E
postgres v_rec public.t_rec;
postgres BEGIN
postgres FOR v_rec IN SELECT id,yhm FROM t1 ORDER BY
postgres RETURN NEXT v_rec;
postgres END LOOP;
postgres RETURN ;--B2fSRIRETURNTILAND, BEILAARANEZ:
postgres END;
postgres
postgres-
CREATE FUNCTION
postgres=
postgres=
|

comod bemoomees

1 | tdsql_pg

2 | pgxc

3 | pgxz
(3 17iER)

postgres=
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postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

DECLARE
--a_intEEXIEEINFERH, SEMahSIIEE]
V_rec record;
v_sql text;
BEGIN
IF a_int = 2 THEN
v_sql:='SELECT id,yhm FROM t1 ORDER BY id ';
ELSE

v_sql:="'SELECT id,yhm,nc FROM t1 ORDER BY id’;

END IF;
FOR v_rec IN EXECUTE v_sqgl LOOP
RETURN NEXT v_rec;
END LOOP;
RETURN ;--SR/GAIRETURNEILADD, tBETLAFANLEZ:
END;

CREATE FUNCTION

postgres=
| yhm
cemodbemermeres

1| tdsql_pg

2 | pgxc

3 | pgxz
(3 17iER)

postgres=
| yhm |
et I +

1| tdsql_pg | tdsql_pg
2 | pgxc | pgxc
3 | pgxz | pgxz

(3 17iER)
postgres=

postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres

DECLARE
--{EAHoutiR[E]
v_rec record,;
BEGIN
FOR v_rec IN SELECT id,yhm FROM t1 LOOP
a_id:=v_rec.id;
a_yhm:=v_rec.yhm;

WRIFRE: BRRITE (bR ) ARSEEAE
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postgres
postgres
postgres
postgres
postgres
postgres-

RETURN NEXT;
END LOOP;
RETURN ;--BRfEAIRETURNEILAND, tBa]bAFINEZ
END;

CREATE FUNCTION

postgres=
postgres=

a_id | a_yhm

______ B T

1| tdsql_pg

2 | pgxc
3 | pgxz
(3 17iEH)

postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

DECLARE
--IRElfHREE
v_refl REFCURSOR;
v_ref2 REFCURSOR;
BEGIN
OPEN v_refl FOR SELECT * FROM t;
OPEN v_ref2 FOR SELECT * FROM t1;
RETURN NEXT v_refl;
RETURN NEXT v_ref2;
RETURN ;--BRIGHIRETURNBILANN, tBRILAFRINEE
END;

CREATE FUNCTION

postgres=
postgres=
BEGIN

postgres=

<unnamed
<unnamed

(2 17iCR)

postgres=

S

portal 13>
portal 14>

WRIFRE: BRRITE (bR ) ARSEEAE
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1 | tdsql _pg
2 | pgxz
(2 f7iER)

postgres=
| yhm | | mm
el LR - e LR
1| tdsql_pg |tdsqgl_ pg | 202cb962ac59075b964b07152d234b70
2 | pgxc | pgxc | 202cb962ac59075b964b07152d234b70
3| pgxz | pgxz | 202cb962ac59075b964b07152d234b70
(3 17iER)

postgres=
COMMIT

postgres=

postgres-

postgres BEGIN

postgres - I8 E PR TR

postgres OPEN a_refl FOR SELECT * FROM t;
postgres OPEN a_ref2 FOR SELECT * FROM t1;
postgres RETURN NEXT a_refl;

postgres RETURN NEXT a_ref2;

postgres RETURN ;--BR/GHIRETURNBILANN, tBRILAFRINEE
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

BEGIN

postgres=

postgres=

(2 17iCR)

postgres=

— -
1| tdsql_pg
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(2 {7iER)

postgres=
| yhm | | mm
el LR - e LR
1| tdsql_pg |tdsqgl_ pg | 202cb962ac59075b964b07152d234b70
2 | pgxc | pgxc | 202cb962ac59075b964b07152d234b70
3| pgxz | pgxz | 202cb962ac59075b964b07152d234b70
(3 17icH)

postgres=
COMMIT

BEIS&AER

postgres=

postgres-

postgres BEGIN

postgres RETURN a_arg;
postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

(1 {7iER)

postgres=

(1 7icR)

postgres=

{tdsql_pg,pgxz}
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(1 7icR)

postgres=
|
ceeod bereres
1 | tdsql _pg
(1 17ieR)

postgres=

postgres-

postgres BEGIN

postgres RETURN a_arg;
postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=

(1 {7iER)

postgres=

"(1,tdsql_pg,tdsql pg,202cb962ac59075b964b07152d234b70)"}
"(2,pgxc,pgxc,202cb962ac59075b964b07152d234b70)"}
"(3,pgxz,pgxz,202cb962ac59075b964b07152d234b70)"}

fTicR)

REIEIERBNRZREST, WA

WRIFRE: BRRITE (bR ) ARSEEAE 58175 #2541
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o | —|
TR
mITEHATE: 2022-09-02 15:31:12

TRERNME

FE—RPERIMBEEEV I ZIRIIEIBN S PELHTSE, PL/pgSQL TEALIEET SQL HiEsLE!,
AUR— MERHIEEE . S5%E RECORD. BEFREMRITEE., RFRER., HHF.

FERiERIH
TRAEIGEX

name [ CONSTANT ] type [ COLLATE collation_name ] [ NOT NULL ] [ { DEFAULT | := |
= } expression ];

WREAE DEFAULT 748, SSlEEENZRIBSIGZEENMNEE. MRRB/LHL DEFAULT 78, Wiz
TEHMIMLSA SQL =B,

CONSTANT i#IRfHILZFEFEMIRAZ EHRIRE, XEFECSIIEERISEIERFRSRE,

COLLATE &g ERTFZEEM—HIFERN (I 5 41.3.6 1) o MIRBETNOT NULL, XiZZEMWER
FEESH— IETHEIR. FIA#HAEN NOT NULL MESUHBEE— M ESEIME. FS5 (=) TR
kL& PL/SQL-F#EH =

EX— 1 EEER

postgres=

postgres-

postgres DECLARE

postgres -FrEEENFRMEMEXE, BINEELIV_ L 28 lla FL
postgres v_int integer := 1;

postgres v_text text;

postgres BEGIN

postgres v_text = 'tdsql_pg’;

postgres RAISE NOTICE 'v_int = %',v_int;
postgres RAISE NOTICE 'v_text = %',v_text;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: v_int =1

NOTICE: v_text = tdsql_pg

25
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postgres=

EX CONSTANT &

postgres=

postgres-

postgres DECLARE

postgres v_int CONSTANT integer := 1;
postgres BEGIN

postgres RAISE NOTICE 'v_int = %',v_int;
postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: v_int=1

CONSTANT FEEBREIE -

postgres=

postgres-

postgres DECLARE

postgres v_int CONSTANT integer := 1;
postgres BEGIN

postgres RAISE NOTICE 'v_int = %', v_int;
postgres v_int = 10;

postgres RAISE NOTICE 'v_int = %', v_int;
postgres END;

postgres

postgres-

ERROR: "v_int" is declared CONSTANT

EX NOT NULL =

WRIFRE: BRRITE (bR ) ARSEEAE 8177 #2541




postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

TDSQL PostgreSQLKR

DECLARE

v_int integer NOT NULL := 1;
BEGIN

RAISE NOTICE 'v_int = %', v_int;

SELECT NULL INTO v_int;

RAISE NOTICE 'v_int = %',v_int;
END;

CREATE FUNCTION

postgres=

NOTICE: v_int =1
ERROR: null value cannot be assigned to variable "v_int" declared NOT NULL
CONTEXT: PL/pgSQL function f25() line 6 at SQL statement

postgres=

EX73NOT NULL TE, Wiz NOT NULL 4%,

X COLLATE %=

2 unicode BEXEEK/,

postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

DECLARE
v_txtl TEXT COLLATE "C" :=
v_txt2 TEXT COLLATE "C" :=
BEGIN
IF v_txtl > v_txt2 THEN
RAISE NOTICE ' % -> % ',v_txtl,v_txt2;
ELSE
RAISE NOTICE ' % -> % ',v_txt2,v_txtl;
END IF;
END;

CREATE FUNCTION

postgres=

NOTICE: * -> ™=

WRIFRE: BRRITE (bR ) ARSEEAE
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postgres=

\xe4b8a5
(1 row)

postgres=

\xe4b8b0
(1 row)

BIXFRIHEHEER D

postgres=

postgres-

postgres DECLARE

postgres v_txtl TEXT COLLATE "zh CN.utf8" :=
postgres v_txt2 TEXT COLLATE "zh CN.utf8" :=
postgres BEGIN

postgres IF v_txtl > v_txt2 THEN

postgres RAISE NOTICE ' % -> % ',v_txtl,v_txt2;
postgres ELSE

postgres RAISE NOTICE ' % -> % ',v_txt2,v_txtl;
postgres END IF;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: ™= -> %

postgres=

postgres-

postgres DECLARE
postgres --XE X AIE(E

WRIFRE: BRRITE (bR ) ARSEEAE 58179 #254™
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postgres v_intl integer = 1;

postgres —(ER =FSTFplsql

postgres v_int2 integer := 1;

postgres v_txtl text;

postgres v_float float8;

postgres --(EREIWE

postgres v_relname text = (select relname FROM pg_class LIMIT 1);
postgres v_relpages integer;

postgres v_rec RECORD;

postgres BEGIN

postgres - EREAPIRE

postgres v_txtl = 'tdsql _pg’;

postgres v_float = random();

postgres -EREORENS TGN

postgres SELECT relname,relpages INTO v_relname,v_relpages FROM pg class
ORDER BY random() LIMIT 1;

postgres RAISE NOTICE 'v_relname = % , relpages = %',v_relname,v_relpages;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: v_relname = pg_ts parser, relpages = 1

WRIFRE: BRRITE (bR ) ARSEEAE 58180 #2543)
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EHlEH

IEEFATE: 2022-09-02 15:31:49

HlinEa
IF...THEN...END IF

postgres=

postgres-

postgres BEGIN

postgres IF random()>0.5 THEN
postgres RAISE NOTICE 'FEHEAF0.5";
postgres END IF;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: BEHNEXTF0.5

postgres=

IF...THEN...ELSE...END IF

postgres=

postgres-

postgres BEGIN

postgres IF random()>0.99 THEN

postgres RAISE NOTICE 'fE#1#AF0.99";
postgres ELSE

postgres RAISE NOTICE 'Kt & FakEFF0.99';
postgres END IF;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: FEHE/MNFETF0.99
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postgres=

IF...THEN...ELSIF...THEN...ELSE...END IF

postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

DECLARE
v_float8 float8 := random();
BEGIN
IF v_float8>0.99 THEN
RAISE NOTICE 'FE#l&AF0.99";
ELSIF v_float8>0.5 THEN
RAISE NOTICE 'BEHN#EAF0.50';
ELSIF v_float8>0.25 THEN
RAISE NOTICE 'BEHNEATF0.25';
ELSE

RAISE NOTICE 'BEf&/NFeZFF0.25';

END IF;
END;

CREATE FUNCTION

postgres=

NOTICE: [B##EAKF0.50

CASE i

postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres

DECLARE
v_float8 float8 := random();
BEGIN
CASE
WHEN v_float8>0.99 THEN
RAISE NOTICE '[i##l1#14F0.99";

WRIFRE: BRRITE (bR ) ARSEEAE
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postgres WHEN v_float8>0.5 THEN
postgres RAISE NOTICE '[is#l1#14F0.50";
postgres WHEN v_float8>0.25 THEN
postgres RAISE NOTICE 'FE#lE(AF0.25",
postgres ELSE

postgres RAISE NOTICE 'BE#ENFHZETF0.25";
postgres END CASE;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: BBE#l#EIAKF0.50

LOOP &5

postgres=

postgres-

postgres DECLARE

postgres v_id INTEGER := 1;
postgres BEGIN

postgres LOOP

postgres RAISE NOTICE '%',v_id;
postgres EXIT WHEN random()>0.8;
postgres v_id ;= v_id + 1;
postgres END LOOP ;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: 1

NOTICE: 2

WRIFRE: BRRITE (bR ) ARSEEAE 58183 #254m)
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A BT
EE EXIT iBHBER .

postgres=

postgres-

postgres DECLARE

postgres v_id INTEGER := 1;
postgres v_random float8 ;
postgres BEGIN

postgres LOOP

postgres RAISE NOTICE '%',v_id;
postgres v id:=v_id + 1;
postgres v_random := random();
postgres IF v_random > 0.8 THEN
postgres RETURN;

postgres END IF;

postgres END LOOP ;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE:

NOTICE:

NOTICE:

NOTICE:

NOTICE:

postgres=

{£A RETURN BHEHRE .

WHILE &%

postgres=

postgres-

postgres DECLARE

postgres v_id INTEGER := 1;

postgres v_random float8 := random() ;
postgres BEGIN

postgres WHILE v_random > 0.8 LOOP
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postgres RAISE NOTICE '%',v_id;
postgres v id ;= v_id + 1;
postgres v_random = random();
postgres END LOOP;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: 1

postgres=

postgres-

postgres BEGIN

postgres FORIiIN 1..3 LOOP
postgres RAISE NOTICE 'i = %',i;
postgres END LOOP;
postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: i=1

NOTICE: i = 2

NOTICE: i =3

postgres=

postgres-

postgres BEGIN

postgres FOR i IN REVERSE 3..1 LOOP
postgres RAISE NOTICE 'i = %',i;
postgres END LOOP;

postgres END;

postgres
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postgres-

CREATE FUNCTION
postgres=
NOTICE: i =3
NOTICE: i =
NOTICE: i =

{#FH REVERSE &R

postgres=

postgres-

postgres BEGIN

postgres FORiIN 1..8 BY 2 LOOP
postgres RAISE NOTICE 'i = %',i;
postgres END LOOP;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: i =

NOTICE: i =

NOTICE: i =

NOTICE: i

5 BY iRESH K.
FOR B EITER

postgres=
postgres-

postgres
postgres
postgres

DECLARE
v_rec RECORD;
BEGIN

postgres FOR v_rec IN SELECT * FROM public.t LOOP
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postgres RAISE NOTICE '%',v_rec;
postgres END LOOP;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: (1,tdsql _pg)

NOTICE: (2,pgxz)

FOREACH 85—~ 82

postgres=

postgres-

postgres DECLARE

postgres v_random_arr float8[]:=ARRAY[random(),random()];
postgres v_random float8;

postgres BEGIN

postgres FOREACH v_random IN ARRAY v_random_arr LOOP
postgres RAISE NOTICE '%',v_random ;

postgres END LOOP;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: 0.452758576720953

NOTICE: 0.975814974401146

postgres=

postgres-

postgres DECLARE

postgres v_random_arr float8[]
[1:=ARRAY[ARRAY[random(),random()],ARRAY[random(),random()]]:
postgres v_random float8;

postgres BEGIN
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postgres FOREACH v_random SLICE O IN ARRAY v_random_arr LOOP
postgres RAISE NOTICE '%',v_random ;
postgres END LOOP;

postgress# END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: 0.0588191924616694

NOTICE: 0.368828620761633

NOTICE: 0.813376842066646

NOTICE: 0.415377039927989

BB E expression SEIBPHAENMETTERITIEN

postgres=

postgres-

postgres DECLARE

postgres v_random_arr float8[]
[1:=ARRAY[ARRAY[random(),random()],ARRAY[random(),random()]]:
postgres v_random float8[];

postgres BEGIN

postgres FOREACH v_random SLICE 1 IN ARRAY v_random_arr LOOP
postgres RAISE NOTICE '%',v_random ;

postgres END LOOP;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: {0.578366641886532,0.78098024148494}

NOTICE: {0.783956411294639,0.450278480071574}

i@d— IE SLICE {8, FOREACH @i3#ARIFMARRE—rmZ=EN

HEEHiEq
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postgres=

postgres-

postgres DECLARE

postgres v_sql TEXT;

postgres v_mc TEXT;

postgres BEGIN

postgres v_sql := 'SELECT mc FROM t WHERE id='||a_id::TEXT,;
postgres EXECUTE v_sql INTO v_mc;
postgres RETURN v_mc;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

sSHhiTHEH SQL 89, ARfER EXECUTE &<ihiT.

hiT— P RRERNGS

postgres=

postgres-

postgres BEGIN

postgres perform f27(1);
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=
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postgres=

DROP FUNCTION

postgres=

postgres-

postgres DECLARE

postgres v_mc TEXT;

postgres BEGIN

postgres SELECT INTO v_.mc FROM t WHERE id=a_id;
postgres IF FOUND THEN

postgres RAISE NOTICE '&ifjZlic®, 7% v_mc;
postgres ELSE

postgres RAISE NOTICE '&AFZicH" ;

postgres END IF;

postgres$# END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: EifIElicR, {H/9tdsql_pg

postgres=
NOTICE: BAZCHE

postgres=

postgres-

postgres DECLARE

postgres v_mc TEXT;

postgres v_row_count BIGINT;

postgres BEGIN

postgres SELECT INTO v_mc FROM t WHERE id=a_id;
postgres GET DIAGNOSTICS v_row_count = ROW_COUNT;
postgres RAISE NOTICE '&ifZIa%iex#%1 % ',v_row_count;
postgres END;

postgres

WRIFRE: BRRITE (bR ) ARSEEAE 58190 #2543)




TDSQL PostgreSQLKR

postgres-
CREATE FUNCTION

postgres=
NOTICE: EHEifZIAicHREA 1

postgres=
NOTICE: #HEifZIRicREH 0

postgres=
CREATE TABLE
postgres=
CREATE INDEX
postgres=

postgres-

postgres BEGIN

postgres INSERT INTO t_exception VALUES(a_id,a_nc);
postgres RETURN ';

postgres EXCEPTION WHEN OTHERS THEN
postgres RETURN ‘#iiTHiE";

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

postgres=
f27
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AT

(1 row)

REEHIREXER

postgres=

postgres-

postgres DECLARE

postgres v_sqglstate text;

postgres v_context text;

postgres V_message_text text;

postgres BEGIN

postgres INSERT INTO t_exception VALUES(a_id,a_nc);

postgres RETURN *;

postgres EXCEPTION WHEN OTHERS THEN

postgres GET STACKED DIAGNOSTICS v_sqlstate = RETURNED_SQLSTATE,
postgres V_message_text = MESSAGE_TEXT,
postgres v_context = PG_EXCEPTION_CONTEXT;
postgres RAISE NOTICE ' 1;‘5'1‘&3153 %',v_sqlstate;

postgres RAISE NOTICE "HHi&(SE : %',v_message_text;

postgres RAISE NOTICE '"Z4£FFi1EG : %',v_context;

postgres RETURN '$5i2(€H3 : '||v_sqlstate || \nHIEEE : '||v_message_text|| &%
SEIEG : '||v_context;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

NOTICE: #&#iR{tH : 23505

NOTICE: H$B{SE : node:16385, error duplicate key value violates unique constraint
"t exception_id_uidx"

NOTICE: Z&REiES : SQL statement "INSERT INTO t_exception VALUES(a_id,a_nc)"
PL/pgSQL function f27(integer,text) line 7 at SQL statement

§EIRIEHT : 23505\nBEB(SE - node:16385, error duplicate key value violates unique
constraint "t_exception_id_uidx"&Z&£REiEA : SQL statement "INSERT INTO

t exception VALUES(a id,a nc)"+

PL/pgSQL function f27(integer,text) line 7 at SQL statement

(1 row)
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%A 23 R AT

mIEE#AYE: 2022-09-02 15:32:09

INSERT Sl &2 38 eR%

EREThEESCMFER (A t_trigger.nc BEEES,

postgres=
postgres-
postgres(
postgres(
postgres(
CREATE TABLE
postgres=

postgres-

postgres BEGIN

postgres IF NEW.nc = " THEN
postgres NEW.nc = 'tdsqgl pg ' || random()::text;
postgres END IF;

postgres RETURN NEW;
postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

CREATE TRIGGER
postgres=
INSERT O 1
postgres=

comod bemorrermreermeersommeoree
1 | tdsql pg 0.426093454472721
(1 row)

it={EMH BEFORE, #FgfER AFTER, BUESXM.

UPDATE Sl &Z25R %

REEFERR t_trigger.nc FE&{EH tdsql_pg.
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postgres=

postgres-

postgres BEGIN

postgres -t trigger.nc{EA tdsqgl _pg
postgres IF NEW.nc = 'tdsql pg' THEN
postgres NEW.nc = OLD.nc ;
postgres END IF;

postgres RETURN NEW;

postgres END;

postgres

postgres-

CREATE FUNCTION

postgres=

CREATE TRIGGER
postgres=
UPDATE 1
postgres=
|

comodbesmomeomoesmmormsoomesmes

1 | tdsqgl pg 0.426093454472721
(1 row)

postgres=

DELETE St 28R

IR tdsql_pg iCRAE#mIER o

postgres=

postgres-

postgres BEGIN

postgres At trigger.nc{E tdsql_pg
postgres IF OLD.nc = 'tdsql_pg' THEN
postgres RETURN NULL;

postgres --RAISE EXCEPTION 'tdsql_pgAREiamIbs;
postgres END IF;

postgres RETURN OLD;

postgres$# END;

postgres

postgres-

CREATE FUNCTION
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postgres=

CREATE TRIGGER
postgres=
INSERT O 1
postgres=

postgres=
|
N
1 | tdsql_pg_0.426093454472721

2 | tdsql_pg
(2 rows)
postgres=
DELETE 0
postgres=
|
cecndbomermcroreerarmemsemeemes
1| tdsql_pg_0.426093454472721
2 | tdsql_pg
(2 rows)

iRk A28

postgres=

DROP TRIGGER

2 BR{sE PR

PEER, RRSRENEHRAZIHERMARSR

SEE R AR R EIEF

EEHMARRBERBZSR .
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A BT

HERFERL

IEEFATE: 2023-07-20 10:49:02

RAISE NOTICE

postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

DECLARE

v_int INTEGER := 1;
BEGIN

RAISE NOTICE 'v_int = %, &£l = %',v_int,random();
END;

CREATE FUNCTION

postgres=

NOTICE: v_int = 1, fB##E = 0.236714988015592

{#/ raise notice BEIFHE—N HEE, LEURBRHER(EERAZEENRERR).
RAISE EXCEPTION

postgres=
postgres-
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres
postgres-

DECLARE

v_int INTEGER := 1;
BEGIN

RAISE EXCEPTION '#2RFEXCEPTION *;

- FHISEDFREBIT

RAISE NOTICE 'v_int = %, [##1%] = %',v_int,random();
END;

CREATE FUNCTION

postgres=

ERROR: fZREXCEPTION

RAEBSHHITXIRE, WES2ELIE(abort).
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RAISE EXCEPTION BEX ERRCODE

postgres=

postgres-

postgres DECLARE

postgres v_int INTEGER := 1;

postgres BEGIN

postgres RAISE EXCEPTION ' #2EXCEPTION ' USING ERRCODE = '23505;

postgres END;
postgres

postgres-

CREATE FUNCTION
postgres=

ERROR: f2REXCEPTION

BEPRIcR X4 ERRCODE,

2017-10-03 18:40:16.710 CST,"pgxz","postgres”,15072,"
[local]",59d33b65.3ae0,225,"idle",2017-10-03 15:25:25
CST,4/367159,0,L0G,00000,"statement: SELECT 28();",,,,,...."psql"

2017-10-03 18:40:16.710 CST,"pgxz","postgres”,15072,"
[local]",59d33b65.3ae0,226,"SELECT",2017-10-03 15:25:25
CST,4/367159,0,ERROR,23505," #£EXCEPTION “,,,,,,,,,"psql"
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o< A N
Oracle F&H1E;
RITEHATE: 2023-07-24 14:50:42

Oracle #&iBXiRBEIEIZ TDSQL PostgreSQLAR ( Oracle F#&AR ) o

Oracle GUC &¥iiE
session &N

SET enable_oracle_compatible to ON;

ECEES I EERRIA 3%

alter database postgres set enable_oracle_compatible to on;

EEF T APRUA L

alter role tbase set enable_oracle_compatible to on;

Huimaen

varchar2

postgres=
CREATE TABLE
postgres=
Table "public.t_varchar2"
Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- s L s (o S
fl1 | varchar2 | | not null | | extended | |
f2 | integer | | | | plain |

postgres=

number

postgres=
CREATE TABLE

postgres=
Table "public.t_ number"
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Column | Type | Collation | Nullable | Default
-------- e L S

| numeric | | not null |

| numeric(10,0) |

| numeric(10,2) |

postgres=

RFEEHRRE numerico
blob

postgres=
CREATE TABLE
postgres=
Table "public.t_blob"
Column | Type | Collation | Nullable | Default
-------- T T
fl1 | integer | | not null |
f2 | blob | | |

postgres=

TDSQL PostgreSQLAR B9 blob £EZIFRAKENIG,
clob

postgres=

CREATE TABLE

postgres=

Table "public.t clob"
Column | Type | Collation | Nullable | Default
———————— e st St R R

fl1 | integer | | not null |
f2 | clob | | |

postgres=

TDSQL PostgreSQLAR B9 clob ERZIFRAKENIG,
SR
SREN
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regexp_count

REGEXP_COUNT ig[E] pattern £ source_char S8 HIANREL

postgres=
regexp_count

instr

instr REREIZHNIIFHFRERFFRPIUE,

postgres=

postgres=

regexp_substr

string: FEHTIENLGIENFHFER,

pattern: #{TIERIENFRIXN. position: BIGNE, NFERFBEHENNFZHFHRENRECEE (BHAKR1)
5 FHERMNMERIMAZ0. occurrence: REE/LANSEILERA ( D EERMNFZHFESRD IR
IRFFHESURESE ) - modifier: &= ( ‘I’ ARDANSEHITRE; ‘c’ ROANSHITRE. BAR’ ¢’ ) §
MR ENRERBFHFRNSHILE,

postgres=

postgres=

regexp_replace

regexp_replace(1,2,3,4,5,6)
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BRI 10 FR 2! SRIFR 3 HEmM4 4: BAME (BWAMIFR) 5: BRI (0RXR
R) 6: FRRHKINS

postgres=
regexp_replace

tbaeee tbase
(1 row)

postgres=

nissort

HEEHERFIN o

postgres=

CREATE TABLE
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=

2| &
1| &R
3| HE

(1 rows)

B#l TDSQL PostgreSQL hRk REEZISIRHE .

nls_upper

RBFEHRIEAKE,

postgres=
nls_upper
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TDSQL PG
(1 row)

nchr

H[HE—MEFNE, BREEMNFR

postgres=

REVFHRE .

postgres=

LENGTHB
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A BT
BEIZFIRE .

postgres=
lengthb

NUMTODSINTERVAL

numtodsinterval(<x>,<c>) X2 —1"HZF. c 2—1"FFH, TP x PEf, XPREIE x ¥%5 interval
day to second EiESE,

postgres=
orcl_sysdate
_____________________ o correrrererrermemeeee
2020-08-02 21:55:35 | 2020-08-02 23:55:35
(1 row)

postgres=

postgres=
dbtimezone

08:00:00
(1 row)

postgres=

MONTHS_BETWEEN

MONTHS_BETWEEN(DATE1,DATE?2), eR&EUREIFA BEIZ @89 B {3 £L
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postgres=

months

postgres=

LAST_DAY
LAST_DAY H&iREHEE BHA N B3 I&E—XK o

postgres=
last_day

2020-05-31 00:00:00+08
(1 row)

ADD_MONTHS

ADD_MONTHS(x,y)

x ERBEH, yEAEE, BAFHEEITBRERRE y 1 BRERIEE.

postgres=
add_months

2020-09-04 16:08:11
(1 row)

postgres=
add_months

2020-07-04 16:08:15
(1 row)

postgres=
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to_clob

SR A clob 2B,

postgres=

ROWIDTOCHAR

1% rowid {9 varchar2 28!,

postgres=
Table "public.t_rowid"
Column | Type | Collation | Nullable | Default | Storage | Stats target | Description
-------- et S
fl1 | integer | | not null | | plain | |
f2 | integer | | | | plain |
Distribute By: SHARD(f1)
Location Nodes: ALL DATANODES

postgres=
rowidtochar
______________________ oo erererererere
XPK3fw==AAAAAA==AQA= | XPK3fw==AAAAAA==AQA=
(1 row)

postgres=

CHARTOROWID

CHARTOROWID(c1)

i varchar2 £8% rowid B, c1, F&FH, KEH2000F/FH, FHBYAFSE rowid 80,

postgres=

AAAFdw==FAAAAA==CCA=
(1 row)
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RTRAE
xml HEXRE
extractvalue

xml XA,

postgres=

<AAA>

<BBB>;8Ri</BBB>
<BBB>#¥#5</BBB>
<BBB>Hift1</BBB>
</AAA>

'),'/AAA/BBB[2]') FROM dual;
extractvalue

extract

extract(xmltypeBY 1),

create table xmlexample(ID varchar(100),name varchar(20),data xmltype);

insert into xmlexample(id,name,data) values('xxxxxxxxxxxxxxx','my document','<?
xml version="1.0" encoding="UTF-8" 7>
<collection xmlns="">
<record>
<leader> ~n~~450-</leader>
<datafield tag="200" ind1="1" ind2=" ">
<subfield code="a">EF K </subfield>
<subfield code="f">Hiz& </subfield>
</datafield>
<datafield tag="209" ind1=""ind2=" ">
<subfield code="a">&%Z </subfield>
<subfield code="b">1t+&Hl</subfield>
<subfield code="c">10001</subfield>
<subfield code="d">2005-07-09</subfield>
</datafield>
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<datafield tag="610" ind1="0" ind2=" ">
<subfield code="a">it+&#l</subfield>
<subfield code="a">Zig4 </subfield>
</datafield>
</record>
</collection>"::xmltype);

postgres=

XXXXXXXXXXXXXXX | my document | <subfield code="a">EK </subfield>
<subfield code="f">Hig& </subfield> <subfield code="a">£&{F%Z </subfield> <subfiel
d code="b">1+&#l</subfield><subfield code="c">10001</subfield><subfield
code="d">2005-07-09</subfield><subfield code="a">i{t+&#l </subfield><subfield co
de="a">&i8A </subfield>

(1 row)

LR

Innvi

EANFRIER A true iB[M] false; EAA false iR[E] true.

postgres=
CREATE TABLE
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
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postgres=
postgres=
INSERT O 1
postgres=

NVL2(E1, E2, E3)

905 E1 79 NULL, MSRHEE E3, & E1 %73 null, MWEE E2,

postgres=

tbasel

(1 row)

postgres=

postgres=

tbase2
(1 row)

iR R
empty_clob

#04afk CLOB FE&.

postgres=
empty clob
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postgres=
CREATE TABLE
postgres=
INSERT O 1
postgres=

Rt
listagg

listagg (filedname,',') WITHIN GROUP (ORDER BY filedname)

1TEESIERE

postgres=
postgres-
postgres(
postgres(
postgres(
CREATE TABLE
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=
postgres=
INSERT O 1
postgres=
postgres-
postgres-
postgres-
postgres-
postgres-
postgres-

deptno | listagg
________ SIS
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20 | aaa,bbb,ccc
21 | ddd,eee
(2 rows)

postgres=
fl

1
(1 row)

postgres=

postgres=
CREATE TABLE
postgres=
INSERT O 1
postgres=

rowid | f1 | f2
cossmmorooossommmosmos N
XPK3fw==AAAAAA==AQA=| 1| 1
(1 row)

postgres=

rownum

postgres=
CREATE TABLE
postgres=
INSERT O 1
postgres=
INSERT O 1
postgres=
INSERT O 1
postgres=
INSERT O 1
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postgres=
INSERT O 1
postgres=
rownum | f1 | f2

postgres=
rownum | f1 | f2

sysdate

postgres=
orcl_sysdate

2020-08-02 19:09:03

(1 row)

10.4.5, systimestamp

postgres=
orcl_systimestamp

2020-08-02 19:09:34.032923+08
(1 row)

merge into

postgres=

CREATE TABLE

postgres=

insert into testl values(2,'testl');
INSERT O 1

postgres=

INSERT O 1

postgres=
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INSERT O 1
postgres=
CREATE TABLE
postgres=
INSERT O 1
postgres=
INSERT O 1
postgres=
INSERT O 1
postgres=
INSERT O 1
postgres=
postgres-
postgres(
postgres(
postgres-
postgres-
MERGE 4
postgres=

e bomemeee
1 | testl
2 | test2
3 | test2
4 | test2
5 | test2

(5 rows)

connect by

&M level EEM1EISHIFS

postgres=
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create table scores(student varchar(10) not null, course varchar(10) not null,score int
not null);

insert into scores values('5sk=","183Z',78);

insert into scores values Gk:','lﬁfl 98 c

insert into scores values('ik=",'&%

’

— ey

(! );
(! );
(! 79);
insert into scores values('#k=",'5%ig',80);
insert into scores values('#=","{J%2",81);
insert into scores values('Z=[MY', ' SZ 65),
insert into scores values('Z=M','#15",75);

('ZFm', 'Eln ,85);

('ZF )

/', $18',95);

insert into scores values
insert into scores values

select

t.x,

(tiB+t. 2+t 9h+t.9) as total
from

(

select
*k

from
scores pivot

(
max(score) for course in (EX' as i& , '#ZF' as &, '5=iE' as b, "PIE' as ¥))

)t

student | i& | # | 4 | ¥ | total
--------- e
2 | 65|75|85|95]| 320
K= |98|79|80|81| 338
(2 rows)

limit x offset 1

WMNESE enable_oracle_compatible EE&5 on, M offset 1RXTFNE—FIZBEUCR .

postgres=

S
1 | testl
2 | test2
3 | test2
4 | test2
5 | test2
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postgres=

e Srmmrereerr
1| testl
2 | test2
3 | test2
4 | test2
5 | test2

(5 rows)

postgres=

CREATE EXTENSION
postgres=

ALTER ROLE
postgres=

hint Bl
full 2R7H

postgres=
CREATE TABLE
postgres=
CREATE INDEX
postgres=

;INSERT 0 10000

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.00..205.00 rows=1 width=8)
-> Seq Scan on hint_t1 (cost=0.00..205.00 rows=1 width=8)
Filter: (f1 = 1)
(3 rows)

postgres=
QUERY PLAN
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Remote Subquery Scan on all (dn001) (cost=0.16..4.18 rows=1 width=8)
-> Index Scan using hint_tl_f1_idx on hint_tl (cost=0.16..4.18 rows=1 width=38)
Index Cond: (f1 = 1)
(3 rows)

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.00..205.00 rows=1 width=38)
-> Seq Scan on hint_tl (cost=0.00..205.00 rows=1 width=8)
Filter: (f1 = 1)
(3 rows)

index £F1i#

postgres=

CREATE TABLE

postgres=

insert into hint_t2 select t as f1,t as f2 from generate_series(1,1000) as t;
CREATE INDEX

postgres=

INSERT 0 1000

postgres=

VACUUM

postgres=

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.15..28.65 rows=1000 width=38)
-> Index Scan using hint t2 f1 idx on hint_t2 (cost=0.15..28.65 rows=1000
width=8)
Index Cond: (f1 > 1)
(3 rows)

postgres=

QUERY PLAN
Remote Subquery Scan on all (dn001) (cost=10000000000.00..10000000020.50
rows=1000 width=8)

-> Seq Scan on hint_t2 (cost=10000000000.00..10000000020.50 rows=1000
width=28)
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Filter: (f1 > 1)
(3 rows)

no_index &1

postgres=
CREATE TABLE
postgres=

INSERT O 10000
postgres=
CREATE INDEX
postgres=
VACUUM

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.00..200.00 rows=1 width=8)
-> Seq Scan on hint_t7 (cost=0.00..200.00 rows=1 width=8)
Filter: (f1 = 1)
(3 rows)

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.16..4.18 rows=1 width=8)
-> Index Scan using hint_t7_f1_idx on hint_t7 (cost=0.16..4.18 rows=1 width=8)
Index Cond: (f1 = 1)
(3 rows)

postgres=

BI&GER

postgres=
CREATE TABLE
postgres=

create index hint_t6_fl_idx on hint_t6(f1);
vacuum ANALYZE hint_t6;INSERT 0 10000
postgres=

CREATE INDEX

postgres=
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VACUUM
postgres=

QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.16..4.18 rows=1 width=8)
-> Index Scan using hint_t6_f1 _idx on hint_t6 a (cost=0.16..4.18 rows=1 width=38)
Index Cond: (f1 = 1)
(3 rows)

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.00..200.00 rows=1 width=28)
-> Seq Scan on hint_t6 a (cost=0.00..200.00 rows=1 width=38)
Filter: (f1 = 1)
(3 rows)

sE#IE nest loop

postgres=
CREATE TABLE
postgres=

INSERT 0 10000
postgres=
VACUUM
postgres=

postgres=
CREATE TABLE
postgres=

INSERT 0 10000
postgres=
VACUUM
postgres=
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Remote Subquery Scan on all (dn001) (cost=200.01..412.52 rows=1 width=16)
-> Hash Join (cost=200.01..412.52 rows=1 width=16)
Hash Cond: (t.f1 = t1.f1)
-> Seq Scanon hint t6 t (cost=0.00..175.00 rows=10000 width=8)
-> Hash (cost=200.00..200.00 rows=1 width=8)
-> Seq Scan on hint_t7 t1 (cost=0.00..200.00 rows=1 width=8)
Filter: (f1 > 9999)
(7 rows)

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.00..1350547.50 rows=9001
width=16)
-> Nested Loop (cost=0.00..1350547.50 rows=9001 width=16)
Join Filter: (t.f1 = t1.f1)
-> Seq Scan on hint_ t7 t1 (cost=0.00..175.00 rows=10000 width=38)
-> Materialize (cost=0.00..245.00 rows=9001 width=8)
-> Seq Scan on hint t6 t (cost=0.00..200.00 rows=9001 width=8)
Filter: (f1 > 999)
(7 rows)

postgres=

BE&HIE mergejoin

postgres=
CREATE TABLE
postgres=

INSERT 0 10000
postgres=
CREATE INDEX
postgres=
VACUUM
postgres=
CREATE TABLE
postgres=
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INSERT 0 10000
postgres=
CREATE INDEX
postgres=
VACUUM
postgres=

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.32..8.37 rows=1 width=16)
-> Nested Loop (cost=0.32..8.37 rows=1 width=16)
-> Index Scan using hint t6 f1 idx on hint t6 t (cost=0.16..4.18 rows=1
width=8)
Index Cond: (f1 > 9999)
-> Index Scan using hint_t7 fl idx on hint_t7 t1 (cost=0.16..4.18 rows=1
width=8)
Index Cond: (f1 = t.f1)
(6 rows)

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.32..257.35 rows=1 width=16)
-> Merge Join (cost=0.32..257.35 rows=1 width=16)

Merge Cond: (t.f1 = t1.f1)

-> Index Scan using hint t6 fl1 idx on hint_ t6 t (cost=0.16..4.18 rows=1
width=8)

Index Cond: (f1 > 9999)

-> Index Scan using hint_t7 fl1 idx on hint_t7 t1 (cost=0.16..228.16
rows=10000 width=8)
(6 rows)

postgres=

sE#IE hashjoin

postgres=
CREATE TABLE
postgres=

INSERT 0 10000
postgres=
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CREATE INDEX
postgres=
VACUUM
postgres=
CREATE TABLE
postgres=

INSERT 0 10000
postgres=
CREATE INDEX
postgres=
VACUUM
postgres=

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=0.32..8.37 rows=1 width=16)
-> Nested Loop (cost=0.32..8.37 rows=1 width=16)
-> |Index Scan using hint_t6_fl_idx on hint_t6 t (cost=0.16..4.18 rows=1
width=8)
Index Cond: (f1 > 9999)
-> Index Scan using hint_t7_f1_idx on hint_t7 t1 (cost=0.16..4.18 rows=1

width=28)
Index Cond: (f1 = t.f1)
(6 rows)

postgres=
QUERY PLAN

Remote Subquery Scan on all (dn001) (cost=4.19..216.70 rows=1 width=16)
-> Hash Join (cost=4.19..216.70 rows=1 width=16)

Hash Cond: (t1.f1 = t.f1)

-> Seq Scan on hint_t7 t1 (cost=0.00..175.00 rows=10000 width=28)

-> Hash (cost=4.18..4.18 rows=1 width=8)

-> Index Scan using hint t6_fl idx on hint_t6 t (cost=0.16..4.18 rows=1
width=8)
Index Cond: (f1 > 9999)

(7 rows)

postgres=
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CREATE TABLE
postgres=

INSERT 0 1000000
postgres=
VACUUM
postgres=

postgres=
QUERY PLAN

Finalize Aggregate (cost=20020.01..20020.02 rows=1 width=8)
-> Remote Subquery Scan on all (dn001) (cost=20020.00..20020.01 rows=1
width=0)
-> Partial Aggregate (cost=19920.00..19920.01 rows=1 width=8)
-> Seq Scan on hint_t3 (cost=0.00..17420.00 rows=1000000 width=0)
(4 rows)

postgres=
QUERY PLAN

Parallel Finalize Aggregate (cost=13728.35..13728.36 rows=1 width=38)
-> Parallel Remote Subquery Scan on all (dn001) (cost=13728.33..13728.35
rows=1 width=0)
-> Gather (cost=13628.33..13628.34 rows=1 width=8)
Workers Planned: 2
-> Partial Aggregate (cost=12628.33..12628.34 rows=1 width=8)
-> Parallel Seq Scan on hint t3 (cost=0.00..11586.67 rows=416667

width=0)
(GRS

postgres=

dml E{EInsE
select SZIFBIBFH as 1EiH

postgres=

postgres=
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update ZF5I%=

postgres=
CREATE TABLE
postgres=
INSERT O 1
postgres=

UPDATE 1
postgres=
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FESERA
FEIEEZNE
EIEEFAYE: 2022-09-02 15:26:04

BUFHEE

CREATE [OR REPLACE] PROCEDURE [t&{%&. [/Fi#idi2 ((SHIER [(SH81] SRR
[default ERIAME] [,...]1]1) AS
[H7E]
[DECLARE
- TEEN]
BEGIN
- R
[FEREY/
-iIBaHT
END;
[#72]
LANGUAGE PLPGSQL;

[OR REPLACE] Ef&#EN4R

# OR REPLACE BYER, M FEIEREFENELR, BUFMIBFH OR REPLACE X%, NiEz
RYELFRAVSIRE, WTFFAx.

postgres=
prosrc

raise notice 'Hello tdsql _pg';+
end; +

(1 row)
postgres=
begin
raise notice 'Hello, tdsql pg';

end;

LANGUAGE PLPGSQL;
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CREATE PROCEDURE
postgres=
prosrc

raise notice 'Hello, tdsql pg';+
end; +

(1 row)
postgres=

postgres=

NOTICE: Hello, tdsql_pg
CALL

postgres=

(RS FETEENE

BuFiEdiE, SEXRAULMEE, BAAREE, FEENFHRESIENT, W EEflFmieaiaeiRs, U
MERESEIRAT, MR

postgres=
nspname | nspowner |

pg_toast

pg_temp_1

pg_toast temp 1 |

pg_catalog | 10 | {postgres=UC/postgres,=U/postgres}
public | 10 | {postgres=UC/postgres,=UC/postgres}
information_schema | 10 | {postgres=UC/postgres,=U/postgres}
(6 1TIER)

postgres=
search_path

"Suser",public

(1 17icH)
postgres=

pg_proc.pronamespace=pg_namespace.oid and pg_proc.proname='proc_1;
nspname | prosrc
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raise notice 'Hello, tdsql pg';+
| end; +

(1 row)

B Suser ERXARFE, FRLAFTE public X,

FiLESRBA RS

meliE— 1 SRHERZNEFRIESIET function xxx already exists with same argument types.

postgres=

begin
raise notice 'Hello tdsql _pg';
end:

LANGUAGE PLPGSQL;
CREATE FUNCTION

postgres=
begin
raise notice 'Hello tdsql pg';
end;
LANGUAGE PLPGSQL:

ERROR: function "proc_1" already exists with same argument types
postgres=

MREEH, VR

postgres=

begin
raise notice 'Hello tdsql pg';
end;

LANGUAGE PLPGSQL;

ERROR: cannot change routine kind
DETAIL: "proc 1" is a function.
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BRFEdE
T ESREHETE

postgres=

begin
raise notice 'Hello tdsql pg';
end;

LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=
DROP PROCEDURE
postgres=

BETESMNEHETE

postgres=

begin
raise notice '%',a_int;
end;

LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=
DROP PROCEDURE
postgres=

AR EE S HAIEEDT

postgres=
DROP PROCEDURE
postgres=

TS B IEN SR
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B2 FETERRR

postgres=

begin
raise notice 'Hello tdsqgl_pg';
end:

LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=

ALTER PROCEDURE
postgres=

ErE2RnEHETESR

postgres=

begin
raise notice '%',a_int;
end;

LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=
ALTER PROCEDURE

ENEIEER schema
BT HE2HNEMEERE schema

postgres=

begin
raise notice 'Hello tdsql_pg';
end;

LANGUAGE PLPGSQL;

CREATE PROCEDURE
postgres=
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postgres=
ALTER PROCEDURE
postgres=

ErE2BnFHEdRE schema

postgres=

begin
raise notice '%',a_int;
end;

LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=
ALTER PROCEDURE
postgres=

e EmmAR
L et

postgres=

begin
raise notice 'Hello tdsql_pg';
end:

LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=
ALTER PROCEDURE
postgres=

A SR EmR AR

postgres=
begin

raise notice '%',a_int;
end;
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LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=
ALTER PROCEDURE
postgres=

FHEEERT
FHsy

postgres=

begin
raise notice 'no_para procedure’;
end;

language plpgsql;

CREATE PROCEDURE
postgres=

NOTICE: no_para procedure
CALL

postgres=

postgres=

begin
raise notice 'a_int = %',a_int;
end;

language plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: a_int =1
CALL

postgres=

WRIFRE: BRRITE (bR ) ARSEEAE 58230 #254)




@ B TDSQL PostgreSQLER
SEFHENE

mIEE#HATE: 2023-06-09 09:46:21

SR
FEiEidiEh, SHEXLTRIS IN (BASK, ZPRHABR) .
2518
XaZsy

postgres=

BEGIN
raise notice '$1=%",
END;

LANGUAGE PLPGSQL;
CREATE PROCEDURE
postgres=

NOTICE: =tdsql_pg
CALL

postgres=

BIFRTHRERNS

postgres=

DECLARE

a_xm ALIAS FOR $1; --a_xm&3$ 189513
BEGIN

raise notice '$1=%",a_xm;
END;

LANGUAGE PLPGSQL;
CREATE PROCEDURE
postgres=

NOTICE: =tdsql_pg
CALL

postgres=

Lot o
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postgres=

BEGIN
raise notice '$1=%",a_xm;
END;

LANGUAGE PLPGSQL;
CREATE PROCEDURE
postgres=

NOTICE: =tdsql _pg
CALL

postgres=

SRS

HiEseB (FTLABIENEIE), FILAREARREE, SEER, FHER, iFn. IEFTLUSIBA—IIEREE ., FRER
(BESZRTEEHaRIREAYSREY) . IEALARBE2EE anyelement. anyarray, tiRILARSHEESBIMEARR

ey

postgres=

BEGIN
RAISE NOTICE 'a_int = % ; a_str = %',a_int,a_str;
END;

LANGUAGE PLPGSQL;

CREATE PROCEDURE

postgres=

CALL p_base para(l,'tdsql pg');
NOTICE: a_int = 1 ; a_str = tdsql_pg
CALL

postgres=

postgres=
BEGIN
RAISE NOTICE 'a_int = % ; a_str = %',a_int,a_str;

END;

LANGUAGE PLPGSQL;
CREATE PROCEDURE
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postgres=

NOTICE: a_int = {1,2,3} ; a_str = {tdsql_pg,pgxz}
CALL

postgres=

postgres=
(
integer,
text
);
CREATE TYPE
postgres=

BEGIN
RAISE NOTICE 'id = % ; mc = %',a_row.id,a_row.mc;
END;

LANGUAGE PLPGSQL;

CREATE PROCEDURE

postgres=

NOTICE: N = tdsql_pg
CALL

postgres=

postgres=

BEGIN

RAISE NOTICE 'a rec = %',a_rec;

RAISE NOTICE 'a rec[1].id = %',a_rec[1].id;
END;

LANGUAGE PLPGSQL;
CREATE PROCEDURE
postgres=

NOTICE: a_rec = {"(1,tdsql_pg)","(1,pgxz)"}
NOTICE: a rec[l].id =1

CALL

postgres=
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postgres=
CREATE TABLE
postgres=

postgres=

BEGIN
RAISE NOTICE 'id = % ; mc = %',a_row.id,a_row.mc;
END;

LANGUAGE PLPGSQL;

CREATE PROCEDURE

postgres=

NOTICE: =1; = tdsql_pg
CALL

postgres=

postgres=

BEGIN

RAISE NOTICE 'a_rec = %',a_rec;

RAISE NOTICE ‘a_rec[1].id = %',a_rec[1].id;
END;

LANGUAGE PLPGSQL;

CREATE PROCEDURE

postgres=

NOTICE: a_rec = {"(1,tdsql_pg)","(1,pgxz)"}
NOTICE: a_rec[l].id =1

CALL

postgres=

postgres=
DECLARE v_rec record;

BEGIN
OPEN a_ref FOR SELECT * FROM t LIMIT 1;
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FETCH a_ref INTO v_rec;
RAISE NOTICE 'v_rec = % ',v_rec;
END;

LANGUAGE PLPGSAQL;
CREATE PROCEDURE
postgres=

NOTICE: v_rec = (1,tdsql_pg)
CALL

postgres=

postgres=

BEGIN
RAISE NOTICE '%',a_arg;
END;

LANGUAGE PLPGSQL;
CREATE PROCEDURE

postgres=
NOTICE: 1
CALL

postgres=
NOTICE: tdsql pg
CALL

postgres=

postgres=
NOTICE: tdsql_pg

(1 17iE®)

postgres=

NOTICE: (1,tdsql pg)
CALL

postgres=

postgres=
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NOTICE: {1,2}
CALL
postgres=

postgres=

NOTICE: {{1,2},{3,4},{5,6}}
CALL

postgres=

TR SHARANRFEERFPASHEE, FNAAELE.

postgres=

BEGIN
RAISE NOTICE '%',a_arg;
END;

LANGUAGE PLPGSQL;

CREATE PROCEDURE

postgres=

ERROR: procedure f_any(text[]) is not unique

LINE 1: call f_any(ARRAY['tdsql pg','pgxz']::TEXT[]);

HINT: Could not choose a best candidate procedure. You might need to explicit
type casts.

postgres=

O FX
Anyelement S¥INESREHEH, HEXFIR anyarray 28—, Bkl f_any(a_arg
anyelement) 5 f_any(a_arg anyarray) i f_any(ARRAY[1,2]) S H MBS~ 2 H—
B4R (ERROR: function f_any(-++) is not unique) &%,

SHRAE

postgres=

BEGIN
RAISE NOTICE 'a_int = %',a_int;
END;

LANGUAGE PLPGSQL;
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CREATE PROCEDURE
postgres=

NOTICE: a_int = 2
CALL

postgres=
NOTICE: a_int = 1
CALL

postgres=

© %M
RERFE— p_default_value () XtFpyFiEdE, N EEAORTHESLE, BARRTESED
[RERITEINRE, STFER.

postgres=

BEGIN
RAISE NOTICE k&%
END:

LANGUAGE plpgsql ;

CREATE PROCEDURE

postgres=

ERROR: procedure p_default_value() is not unique
LINE 1: CALL p_default_value();

PaN

HINT: Could not choose a best candidate procedure. You might need to explicit
type casts.
postgres=

HEERR, p_default_value () F#IREFRE—H, X2EMA L FEERITEAMTS
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AR
TE(EHE
mREEFRAYE: 2022-09-02 15:26:50

TRERT A

FE— M RPERNMBEEEV I ZIRIIEIB/N S PELHTSE, PL/pgSQL TEALIZET SQL HiEsLE,
AUR— MERHIEEE . S5%E. RECORD. BEFEMRITEE., RFRER., HF.

FERiERIH
SRAEIGEX

name [ CONSTANT ] type [ COLLATE collation_name ] [ NOT NULL ] [ { DEFAULT | := |
= } expression ];

WNRELE DEFAULT 78, ESEEENZREOERLSZTENNGRE. MRRELRE DEFAULTFE, Wiz
EWNIAKLH SQL =E,

CONSTANT &IRfELEZEEEMREZ EHEIRE, X CHEERNSEHRFRERE,

COLLATE & ERATFZEEM— MHIFIN . NRIBEET NOT NULL, MizTEWENTEESH—NET
AtEiIR. FREHEEA NOT NULL MESXFTBIEE—MEZRIME. F5 (=) TLIHARAE PL/SQL-3
a8 =,

EX— 1 EEER

postgres=

DECLARE
-FrEEENFEPEMEXE, BNTELAV_FL S8bla_FL
v_int integer := 1;
v_text text;
BEGIN
v_text = 'tdsql_pg’;
RAISE NOTICE 'v_int = %",v_int;
RAISE NOTICE 'v_text = %',v_text;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: v_ int=1
NOTICE: v_text = tdsql _pg
CALL
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EX CONSTANT &=

postgres=

DECLARE

v_int CONSTANT integer := 1;
BEGIN

RAISE NOTICE 'v_int = %',v_int;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: v_int =1
CALL

CONSTANT FREBRE(E

postgres=

DECLARE

v_int CONSTANT integer := 1;
BEGIN

RAISE NOTICE 'v_int = %',v_int;
v_int = 10;
END;

LANGUAGE plpgsql;
ERROR: "v_int" is declared CONSTANT
LINE 7: v_int = 10;

FaN

postgres=

EX NOT NULL =

postgres=

DECLARE

v_int integer NOT NULL := 1;
BEGIN

RAISE NOTICE 'v_int = %',v_int;
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SELECT NULL INTO v_int;
RAISE NOTICE 'v_int = %',v_int;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE

postgres=

NOTICE: v_ int=1

ERROR: null value cannot be assigned to variable "v_int" declared NOT NULL
CONTEXT: PL/pgSQL function p_not_null_var() line 6 at SQL statement
postgres=

EXANOT NULLEE, MiZzTEEZNOT NULLEIR

EX COLLATE TH
2 unicode BXILE X,

postgres=

DECLARE

v_txtl TEXT COLLATE "C" :=

v_txt2 TEXT COLLATE "C" :=
BEGIN
IF v_txtl > v_txt2 THEN

RAISE NOTICE ' % > % ',v_txtl,v_txt2;
ELSE

RAISE NOTICE ' % > % ',v_txt2,v_txtl;
END IF;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: F* >
CALL

postgres=

postgres=
\xe4b8a5
(1 row)

postgres=
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\xe4b8b0
(1 row)

BIXFRIHEMEER D

postgres=

DECLARE
v_txtl TEXT COLLATE "zh CN.utf8" := '/,
v_txt2 TEXT COLLATE "zh CN.utf8" := ',
BEGIN
IF v_txtl > v_txt2 THEN
RAISE NOTICE ' % -> % ',v_txtl,v_txt2;
ELSE
RAISE NOTICE ' % -> % ',v_txt2,v_txtl;
END IF;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: ™= -> F
CALL

postgres=

postgres=

DECLARE
--E X BTH(E
v_intl integer = 1;
—-{EF =38 Fplsal
v_int2 integer := 1;
v_txtl text;
v_float float8;
-(EHERHE
v_relname text = (select relname FROM pg_class LIMIT 1);
v_relpages integer;
v_rec RECORD;
BEGIN
- RS RIRE
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v_txtl = 'tdsql _pg’;

v_float = random();

-EREARENS AR

SELECT relname,relpages INTO v_relname,v_relpages FROM pg class ORDER BY
random() LIMIT 1;

RAISE NOTICE 'v_relname = % , relpages = %',v_relname,v_relpages;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE

postgres=

NOTICE: v_relname = pg_toast 17220 _index, relpages = 1
CALL

postgres=

BULK COLLECT

BULK COLLECT —1"ERERERFER
=B

postgres=
CREATE TABLE
postgres=
INSERT O 1
postgres=
INSERT O 1

postgres=
AS

declare
TYPE t5list IS TABLE OF t5.f2%TYPE;
t5s t5list;
BEGIN
SELECT f2 BULK COLLECT INTO t5s FROM t5;
FOR i IN t5s.FIRST .. t5s.LAST
LOOP
raise notice '%',t5s[il;
END LOOP;
END
language plpgsql;
NOTICE: type reference t5.f2%TYPE converted to character varying
CREATE PROCEDURE
postgres=
NOTICE: tdsqgl pgl
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NOTICE: tdsql pg2
CALL

2

postgres=

CREATE TABLE

postgres=

insert into tbl_person values(2,'pgxz',1);
INSERT O 1

postgres=

INSERT O 1

postgres=

INSERT O 1

postgres=

declare
type TAPersonlist is table of tbl_person%rowtype;
vpa TAPersonlist;
rp tbl_person%rowtype;
begin
select * bulk collect into vpa from tbl_person where tdd = a_tdd;
raise notice 'count=%"', vpa.count;
for i in vpa.first..vpa.last loop
rp = vpalil;
raise notice 'loop=%", i;
raise notice 'vhame=%"', rp.name;
end loop;
raise notice 'vpa.count=%",vpa.count;
end;
language plpgsql;
CREATE PROCEDURE
postgres=
NOTICE: count=2
NOTICE: loop=1
NOTICE: vhame=tdsql_pg
NOTICE: loop=2
NOTICE: vhame=pgxz
NOTICE: vpa.count=2
CALL
postgres=

WRIFRE: BRRITE (bR ) ARSEEAE 58243 #254m




@ B TDSQL PostgreSQLER
=HlE

RIEEFATE: 2022-09-02 15:27:14

HinEa
IF...THEN...END IF

postgres=

BEGIN
IF random()>0.5 THEN
RAISE NOTICE '[iE#1#AF0.5;
END IF;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: BEHNEXTF0.5
CALL

postgres=

IF...THEN...ELSE...END IF

postgres=

BEGIN
IF random()>0.99 THEN
RAISE NOTICE 'FE##XF0.99';
ELSE
RAISE NOTICE 'lE#N#/\FakEFF0.99';
END IF;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE
postgres=

NOTICE: KEM&IFekZEF0.99
CALL

postgres=

IF...THEN...ELSIF...THEN...ELSE...END IF
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postgres=

DECLARE
v_float8 float8 := random();
BEGIN
IF v_float8>0.99 THEN
RAISE NOTICE 'FE##AF0.99';
ELSIF v_float8>0.5 THEN
RAISE NOTICE 'BE#l&1AXF0.50";
ELSIF v_float8>0.25 THEN
RAISE NOTICE 'FE#N#XTF0.25';
ELSE
RAISE NOTICE 'BEEUMFaEF0.25",
END IF;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: [E##KF0.50
CALL

CASE i&f1

postgres=

DECLARE
v_float8 float8 := random();
BEGIN
CASE
WHEN v_float8>0.99 THEN
RAISE NOTICE 'BE#l&1AXF0.99";
WHEN v_float8>0.5 THEN
RAISE NOTICE '[##l 14 F0.50";
WHEN v_float8>0.25 THEN
RAISE NOTICE '[E##AXF0.25';
ELSE
RAISE NOTICE 'BENEU/MNFeHZF0.25"
END CASE:
END;

LANGUAGE plpgsql;

CREATE PROCEDURE
postgres=
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NOTICE: FEMEVNFeHEFTF0.25
CALL
postgres=

LOOP &5

postgres=

DECLARE
v_id INTEGER := 1;
BEGIN
LOOP
RAISE NOTICE '%',v_id;
EXIT WHEN random()>0.8;
v_id :=v_id + 1;
END LOOP ;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE

postgres=
NOTICE: 1
NOTICE: 2
NOTICE: 3
CALL

postgres=

WHILE &%

postgres=

DECLARE
v_id INTEGER := 1;
v_random float8 ;
BEGIN
LOOP
RAISE NOTICE '%',v_id;
v_id ;= v_id + 1;
v_random := random();
IF v_random > 0.8 THEN
RETURN;
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END LOOP ;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: 1

CALL

postgres=

BEGIN
FORiIN 1..3 LOOP
RAISE NOTICE 'i = %',i;
END LOOP;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: i =
NOTICE: i =
NOTICE: i = 3

CALL

postgres=

BEGIN
FOR i IN REVERSE 3..1 LOOP
RAISE NOTICE 'i = %',i;
END LOOP;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: i =3
NOTICE: i =
NOTICE: i =

CALL
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postgres=

BEGIN
FORiIN 1..8 BY 2 LOOP
RAISE NOTICE 'i = %',i;
END LOOP;
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: i =
NOTICE: i =
NOTICE: i =
NOTICE: i

CALL

postgres=

£ BY REZ K,

FOR fEFERSR

postgres=

DECLARE
v_rec RECORD;
BEGIN
FOR v_rec IN SELECT relname,relkind FROM pg_class limit 2 LOOP
RAISE NOTICE '%',v_rec;
END LOOP;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE

postgres=

NOTICE: (pg_stat statements,v)
NOTICE: (pg_proc,v)

CALL

postgres=

FOREACH f8H—1" {2
.
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postgres=

DECLARE
v_random_arr float8[]:=ARRAY[random(),random()];
v_random float8;
BEGIN
FOREACH v_random IN ARRAY v_random_arr LOOP
RAISE NOTICE '%',v_random ;
END LOOP;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE
postgres=

NOTICE: 0.744417542591691
NOTICE: 0.804096563253552
CALL

postgres=

postgres=

DECLARE
v_random_arr float8[]
[1:=ARRAY[ARRAY[random(),random()],ARRAY[random(),random()]]:
v_random float8;
BEGIN
FOREACH v_random SLICE O IN ARRAY v_random_arr LOOP
RAISE NOTICE '%',v_random ;
END LOOP;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE
postgres=

NOTICE: 0.0220407997258008
NOTICE: 0.898449067492038
NOTICE: 0.190678883343935
NOTICE: 0.103653562255204
CALL

postgres=

EFEEITE expression SEIRIESENMETRHITIENR
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DECLARE
v_random_arr float8[]
[1:=ARRAY[ARRAY[random(),random()],ARRAY[random(),random()]]:
v_random float8[];
BEGIN
FOREACH v_random SLICE 1 IN ARRAY v_random_arr LOOP
RAISE NOTICE '%',v_random ;
END LOOP;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE

postgres=

NOTICE: {0.248282201588154,0.757913041394204}
NOTICE: {0.0194511725567281,0.43799454299733}
CALL

i@d— IE SLICE {8, FOREACH @iZ#AR FMARE—rE=EN

HEEHiEq
s

postgres=

DECLARE
v_sql TEXT;
v_relname TEXT;
BEGIN
v_sql := 'SELECT relname FROM pg_class limit 1';
EXECUTE v_sql INTO v_relname;
RAISE NOTICE ‘relname = %',v_relname;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE

postgres=

NOTICE: relname = pg_stat statements
CALL

postgres=

2 a]LAER immediate.
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postgres=

DECLARE
v_sql TEXT;
v_relname TEXT;

BEGIN
v_sql := 'SELECT relname FROM pg_class limit 1';
EXECUTE immediate v_sql INTO v_relname;
RAISE NOTICE ‘relname = %',v_relname;

END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: relname = sl
CALL

postgres=

HSHiTIEH SQL 89, ARER EXECUTE m<thiT.
I IRRERNGS

postgres=

BEGIN
perform md5(random()::text);
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

CALL

postgres=

postgres=

DECLARE
v_relname TEXT;

BEGIN
SELECT relname INTO v_relname FROM pg_class limit 1;
IF FOUND THEN
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RAISE NOTICE '&i8%lic®, {EA%',v_relname;
ELSE
RAISE NOTICE '&FFicR' ;
END IF;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE

postgres=

NOTICE: &EigFlic®, {B)pg stat statements
CALL

postgres=

DECLARE
v_row_count BIGINT;
BEGIN
delete from t1;
GET DIAGNOSTICS v_row_count = ROW_COUNT;
RAISE NOTICE '&ifZIa%iex#%17 % ',v_row_count;

END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: EifZIRIicFEENA 3
CALL

postgres=

postgres=

declare

maxnum integer;
begin

maxnum := V_maxnum;
foriin 1..maxnum loop

if i=3 then

goto label;
end if;
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raise notice 'i=%",i;
end loop;
<<label>>

raise notice 'goto end’;
end;

language plpgsql;
CREATE PROCEDURE
postgres=

NOTICE: i=1
NOTICE: i=2
NOTICE: goto end
CALL

postgres=

go AT HHEIEMEE T,

fHRER
SHREHRALE

postgres=

BEGIN
INSERT INTO t_exception VALUES(a_id,a_nc);
RETURN ;
EXCEPTION WHEN OTHERS THEN
RAISE NOTICE "#i1{7H$E";
END;

LANGUAGE plpgsql;
CREATE PROCEDURE
postgres=

postgres=

CALL

postgres=
NOTICE: #fTHits
CALL

PEEREXER

postgres=
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DECLARE
v_sqlstate text;
v_context text;
v_message_text text;
BEGIN
INSERT INTO t_exception VALUES(a_id,a_nc);
RETURN ;
EXCEPTION WHEN OTHERS THEN
GET STACKED DIAGNOSTICS v_sqlstate = RETURNED_SQLSTATE,
V_message_text = MESSAGE_TEXT,
v_context = PG_EXCEPTION_CONTEXT;
RAISE NOTICE '#5i={tf3 : %',v_sqlstate;
RAISE NOTICE 'H$&(EE : %',v_message_text;
RAISE NOTICE '"Z452FiE7 : %',v_context;
raise notice 5=t : % \nHERER 1 % EEFEIET : %',v_sqlstate
,V_message_text,v_context;
END;

LANGUAGE plpgsql;

CREATE PROCEDURE

postgres=

CALL

postgres=

NOTICE: #&iR{tH5 : 23505

NOTICE: H#&{E8R : node:dn001, backend pid:16204,

nodename:dn001,backend pid:16204,message:duplicate key value violates unique
constraint "t_exception_id_uidx"

NOTICE: ZEREIES : SQL statement "INSERT INTO t_exception VALUES(a_id,a_nc)"
PL/pgSQL function p_exception_error(integer,text) line 7 at SQL statement

NOTICE: $&iZ83 : 23505 \nH$B{S8 : node:dn001, backend_pid:16204,
nodename:dn001,backend_pid:16204,message:duplicate key value violates unique
constraint "t exception id uidx" ZE£REiES : SQL statement "INSERT INTO

t exception VALUES(a_id,a_nc)"

PL/pgSQL function p_exception_error(integer,text) line 7 at SQL statement

CALL

postgres=
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